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B.Com. (CORPORATE SECRETARYSHIP)DEGREE
EXAMINATION APRIL 2011

First Semester

CORPORATE COMMUNICATION

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

1. What is communication ?

uPÁÀ öuõhº¦ Gß£x ¯õx ?

2. What is a press release ?

öŒ#v öÁÎ±k GßÓõÀ GßÚ ?

3. What is show cause notice ?

Põµn® @Pm¦ AÔUøP GßÓõÀ GßÚ ?
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4. What is a ‘quotation’ ?

Âø» SÔ±mk¨ £mi¯À GßÓõÀ GßÚ ?

5. What is an offer ?

•øÚÄ GßÓõÀ GßÚ ?

6. What is a report ?

AÔUøP GßÓõÀ GßÚ ?

7. What is an agenda ?

{PÌa] {µÀ GßÓõÀ GßÚ ?

8. What do you mean by ‘minutes’ ?

 Tmh Â£µU SÔ¨¦ Gß£uß Aºzu® ¯õx ?

9. What is a circular letter ?

”ØÓÔUøP Piu® GßÓõÀ GßÚ ?
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10. What is status enquiry ?

uSv {ø» ÂŒõµøn GßÓõÀ GßÚ ?

11. Who is a secretary ?

öŒ¯»õÍº Gß£Áº ̄ õº ?

12. Who is a manager ?

@©»õÍº Gß£Áº ̄ õº ?

13. Write a note on ‘informal reports’.

•øÓŒõµõ AÔUøP SÔ¨¦ ÁøµP.

14. What is a notice ?

 AÔÂ¨¦ GßÓõÀ GßÚ ?



4 AFN-1416

15. What is ‘attitude’ ?

‘©@Úõ {ø»’ GßÓõÀ GßÚ ?

Section  B (5 × 8 = 40)

Answer any five questions.

16. Being an insurance company official, write a letter to a

policy holder demanding the premium.

Põ¨¥mk {ÖÁÚ A¾Á»º GßÓ •øÓ°À Põ¨¥k

ö£Ö|º J¸Á›h® •øÚ©® öŒ¾zuU @Põ› Piu®

GÊxP.

17. List the points to be considered by a banker before

writing to a customer.

ÁõiUøP¯º J¸Á¸US Piu® GÊx® •ß Á[Q¯º

PÁÛUP @Ási¯ SÔ¨¦PøÍ £mi¯¼kP.
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18. What is ‘Testimonials’ ? What are its contents ?

|ØŒõm] £zvµ® GßÓõÀ GßÚ ? Auß EÒÍhUP[PÒ

¯õøÁ ?

19. Explain the significance of export and import

correspondence.

HØÖ©v CÓUS©v Œõº uPÁÀ öuõhº¤ß

•UQ¯zxÁ® £ØÔ ÂÍUSP.

20. Draft a model notice to the shareholders at the time of

shareholders meeting.

£[S øÁzv¸¨@£õ¸US AÎUP¨£k® AÔÂ¨¤ß

©õv› JßøÓ ÁøµP.

21. Write a detailed reply letter to a company which has

asked for catalogue for regular purchase from your

company.

öuõhº öPõÒ•uÀ öŒ#¯ @Ási ö£õ¸Ò Â£µ

£mi¯À @PmS® J¸ {ÖÁÚzvØS £vÀ Piu®

ÁøµP.
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22. Draft a letter placing an order to a company in Chennai

to supply the food products with in 10 days as per the

terms already agreed upon.

HØPÚ@Á HØP¨£mh {£¢uøÚPÐUSm£mk 10

|õmPÐUSÒ EnÄ ö£õ¸mPøÍ ÁÇ[S©õÖ

öŒßøÚ°¾ÒÍ J¸ {ÖÁÚzvØS EzuµÄ Piu®

JßøÓ u¯õ›UP.

23. Explain about the concept of inter and intra personal

communication.

öÁÎ ©ØÖ® EÒ{ø» uPÁÀ öuõhº¦ £ØÔ¯

P¸zxøµPøÍ ÂÍUSP.

Section C (3 × 15 = 45)

Answer any three questions.

24. What are the barriers to communication ? Explain.

uPÁÀ öuõhº¤À EÒÍ uøhPÒ ̄ õøÁ ?ÂÍUSP.

25. Enumerate the characteristics of a good report.

|À» AÔUøP JßÔß SnõvŒ¯[PÒ £ØÔ ÂÍUSP.
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26. Draft a complaint letter for not receiving the ordered

goods in time from the supplier of cement.

]ö©sm Â{@¯õPìu›hª¸¢x ÁÇ[P¨£mh

EzuµÂß£i E›¯ Põ»zvÀ ÁÇ[P¨hõux SÔzx

¦Põº Piu® ÁøµP.

27. Prepare a status report of prospective customer to

whom the company proposes to send goods in the near

future.

GvºPõ»zvÀ ö£õ¸mPÒ AÝ¨£ EÒÍ Á¸[Põ»

ÁõiUøP¯õÍ›ß uSv {ø» AÔUøP JßøÓ

u¯õ›UP.

28. Describe different forms of business letters.

ÁoPU Piu[PÎß £À@ÁÖ £i©[PÒ £ØÔ

ÂÁõvUP.

***
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B.Com. (Corporate Secretary Ship) DEGREE
EXAMINATION, APRIL 2011

Second Semester

Corporate Secretaryship

BASIC FINANCIAL ACCOUNTING—II

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Part A (15 × 1 = 15)

Answer all questions.

1. Non -Trading Institutions prepare :

(a) Profit and Loss Account.

(b) Manufacturing Account.

(c) Income and Expenditure Account.

ÁoP @|õUP©ØÓ {ÖÁÚ[PÒ ——— u¯õ›US®.

(A) C»õ£ |mh PnUS.

(B) u¯õ›¨¦ PnUS.

(C) ÁµÄ öŒ»Ä PnUS.

AFN-1417 BCS231



2 AFN-1417

2. Subscription received in advances is ————.

(a) An Income.

(b) An asset.

(c) Liability.

•ß Tmi@¯ ö£Ó¨£mh Œ¢uõ Gß£x ?

(A) Á¸Áõ#.

(B) öŒõzx.

(C) ö£õÖ¨¦.

3. Del-credere commission is allowed to the consignee to

bear :

(a) Normal Loss.

(b) Abnormal Loss.

(c) Loss on account of bad debts.
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¤ønU PÈÄ Gß£x AÝ¨¥k ö£Ö|¸US ————

HØ£uØPõP AÝ©vUP¨£kQÓx ?

(A) C¯À£õÚ |mh®.

(B) AŒõuõµn |mh®.

(C) ÁµõUPhÚõÀ HØ£k® |mh® ö£õÖ¨¦.

4. Consignment Account is a :

(a) Real Account.

(b) Nominal Account.

(c) Personal Account.

AÝ¨¥k PnUS Gß£x ———— ?

(A) öµõUP PnUS.

(B) ö£¯µÍÄ PnUS.

(C) BÒŒõº PnUS.
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5. Joint Venture Account is a ————.

(a) Nominal Account.

(b) Personal Account.

(c) Real Account

CønÂøÚ PnUS Gß£x ———— ?

(A) ö£¯µÍÄ PnUS.

(B) BÒŒõº PnUS.

(C) öµõUP PnUS.

6. Joint Bank Account is opened :

(a) When no separate books for the venture are

maintained.

(b) When separate books for the joint venture is

maintained.

(c) Under no circumstances.
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Cøn Á[Q PnUS Gß£x ————

xÁ[P¨£kQÓx ?

(A) öuõÈ¾US uÛ ÁøP¯õÚ HkPÒ

£µõ©›UP¨£hõu@£õx.

(B) öuõÈ¾US uÛ ÁøP¯õÚ HkPÒ £µõ©›UP¨

£k®@£õx.

(C) G¢u ‹Ì{ø»°¾® xÁ[P¨£kÁvÀø».

7. State the two types of packages or containers.

öPõÒP»ßPÎß C¸ ÁøPPøÍU TÖ.

8. Voyage Account is a nominal Account (True / False)

PhØ£¯n PnUS Gß£x J¸ ö£¯µÍÄ PnUS.

(Œ› / uÁÖ)

9. What is Farm Accounting ?

£søn PnUQ¯À GßÓõÀ GßÚ ?



6 AFN-1417

10. Investment Account is ———— Account.

•u½mk PnUS Gß£x ———— PnUS.

11. Sale or Return Ledger is not a part of the main ledger

(True / False)

ÂØ£øÚ AÀ»x v¸®£¨ ö£ÖuÀ PnUS Gß£x

•UQ¯ @£@µmiß £Sv¯õPõx. (Œ› / uÁÖ).

12. All the educational institutions usually follow

———— as their accounting year.

AøÚzx PÀÂ {ÖÁÚ[PÐ® ÁÇUP©õP ————

u[PÐøh¯ PnUQ¯À BshõP ¤ß£ØÖ®.

13. What type of Accounts the hospital has to prepare ?

©¸zxÁ©øÚPÒ GßöÚßÚ ÁøP PnUSPøÍ

u¯õ›UP @Ásk® .
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14. Closing balance of investment is valued at cost or

market price whichever is less (True / False)

•u½miß CÖv C¸¨¦, AhUPÂø» AÀ»x Œ¢øu

Âø»°À Gx SøÓ@Áõ AvÀ ©v¨¤h¨£kQÓx.

(Œ› / uÁÖ).

15. Normal Loss is natural and unavoidable (True / False).

Œõuõµn |èh® Gß£x C¯ØøP¯õÚ ©ØÖ® uÂºUP

•i¯õux. (Œ› / uÁÖ).

Part  B (5 × 8 = 40)

Answer any five questions.

16. From the following particulars taken from the Cash

Book of a Club, prepare a Receipts and Payment

Accounts.

Particulars Rs. Particulars Rs.

Opening Balance : Payments :

Cash in Hand 100 Investment
Cash in Bank 500 Purchased 1,000
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Particulars Rs. Particulars Rs.

Opening Balance : Payments :

Rent paid 400

Postage and
Stationery 70

Sundry Expenses 30

Closing Cash Balance 20

Receipts :

Subscriptions 3,300

Donations 260

J¸ ©Ú ©QÌ ©ßÓzvß öµõUP Hmi¼¸¢x

GkUP¨£mh ¤ßÁ¸® ÂÁµ[PÎ¼¸¢x, ö£ÖuÀ

öŒ¾zuÀ PnUQøÚ u¯õ›UPÄ®.

xÁUP C¸¨¦ ¹. öŒ¾zuÀPÒ ¹.

øP°À öµõUP® 100 •u½k Áõ[Q¯x 1,000

Á[Q°À öµõUP® 500 ÁõhøP öŒ¾zv¯x 400

ö£ØÓx : u£õÀ ©ØÖ® GÊx

Œ¢uõ 3,300 ö£õ¸Ò 70
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|ßöPõøhPÒ 260 ]À»øµ öŒ»ÄPÒ 30

CÖv öµõUPC¸¨¦ 20

17. Arun consigned 10,000 kgs. of ground nut oil to Balu of

Bangalore at Rs. 15 per kg. Expenses incurred by Arun

being Rs. 7,500 /- for freight and Rs. 2,500 for insurance.

During transit 500 kgs. of oil were destroyed due to

accident and the insurance company accepted the loss

to the extent of Rs. 7,000. Balu received the balance of

consignment and sold 7,000 kgs. of oil at Rs. 20 per kg.

100 kgs. of oil were lost due to leakage. Calculate the

abnormal loss and the value of the closing stock lying

with the consignee.

A¸s Gß£Áº, ö£[PÑ›À EÒÍ £õ¾ Gß£Á¸US

10,000 Q.Q. Phø» Gsønø¯, Q@»õ JßÔØS

¹. 15/-& GÚ AÝ¨¥k öŒ#uõº. A¸s öŒ#u

öŒ»ÄPÒ : T¼ ¹. 7,500/-& DmkÖv ¹. 2,500/-&.

AÝ¨¦øP°À Â£zx Põµn©õP 500 Q.Q. Gsøn
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@Œu©øh¢ux. DmkÖv {Ö©® ¹. 7,000/&US

|èhzøu Œ›PmkÁuØS HØÖUöPõshx.

AÝ¨¥miÀ «ua ŒµUøP £õ¾ ö£ØÖUöPõsk Aøu

Q@»õ ¹. 20/-& Ãu® 7,000 Q.Q. Gsønø¯ ÂØ£øÚ

öŒ#uõº. 100 Q.Q. Gsøn P]Âß Põµn©õP CÇ¨¦

HØ£mhx. AŒõuõµn |mh® ©ØÖ® AÝ¨¥k

ö£Ö|›h•ÒÍ CÖv ŒµUQß ©v¨ø£ PnUQkP.

18. Rajiv and Shyam entered  into a Joint Venture to import

silk. On 1st January, 1998, they opened a Joint Bank

Account with the Syndicate Bank, Rajiv contributing

Rs. 20,000 and Shyam Rs. 10,000. They agreed to share

profits in the ratio of the capitals introduced by them.

On 15th February, 1998, they remitted to a

manufacturer in Japan for Rs. 25,000 for the goods

received and incurred an expense of Rs. 800 for freight,

insurance, etc. The goods were sold for Rs. 33,000 for

which the selling expenses were as follows :



11 AFN-1417

Godown Rent Rs. 200, Commission payable to Shyam

on the gross amount of sales 10 % and Miscellaneous

expenses Rs. 300.

Give necessary ledger accounts showing the final

distribution of cash among the co-venturers.

µõãÆ ©ØÖ® Œõ® C¸Á¸® £mk CÓUS©v öŒ#ÁuØS

J¸ CønÂøÚ°À  CønQÓõºPÒ. 1-&1&98 AßÖ

]si@Pm Á[Q°À Tmk Á[Q PnUQøÚ xÁ[Q

µõãÆ ¹. 20,000/&•®, Œõ® ¹. 10,000/•®

£[PÎUQÓõºPÒ. C»õ£zvøÚ AÁºPÎß

‰»uÚzvØS uS¢uõØ@£õÀ £[Qmk öPõÒÁuØS

Ehß£mhõºPÒ. 15&2&98 AßÖ ŒµUS  ö£ØÓuØS

á¨£õÛÀ EÒÍ u¯õ›¨£õÍ¸US

¹. 25,000/& öŒ¾zvÚº. @©¾® T¼, DmkÖv ©ØÖ®

£» GÚ ¹. 800/& öŒ»Ä öŒ#uÚº. ¹. 33,000/&US

ŒµUSPÒ ÂØ£øÚ öŒ#¯¨£mk, AuØS RÌPõq®

ÂØ£øÚ öŒ»ÂøÚ @©ØöPõshÚº.
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Qh[S ÁõhøP ¹. 200/& , ŒõªØS ö©õzu

ÂØ£øÚ°À 10 % PÈÄ ©ØÖ® Cuµ öŒ»ÄPÒ

¹. 300/&

CønÂøÚ¯õÍºQøh°À  CÖv öµõUP¨£mkÁõhõ

öŒ#uuøuU Põmk® @uøÁ¯õÚ @£@µmk

PnUSPøÍz u¸P.

19. Write short note on :

(a) Containers Stock Account.

(b) Containers Suspense Account.

(c) Customers Control Account.

]Ö SÔ¨¦ GÊxP.

(A) öPõÒP»ßPÒ C¸¨¦ PnUS.

(B) öPõÒP»ßPÒ AÚõ©zx PnUS.

(C) ÁõiUøP¯õÍºPÒ Pmk£õmk PnUS.
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20. Explain the features of Farm Accounting ?

£søn PnUQ¯¼ß ]Ó¨¦PøÍ ÂÍUSP.

21. Write short note on :

(a) Dividend.

(b) Brokerage.

(c) Bonus Share.

(d) Right Share.

]Ö SÔ¨¦ GÊxP :

(A) »õ£ DÄ.

(B) uµS.

(C) Œ¾øP £[S

(D) E›ø©¨ £[S.
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22. The following are the particulars of a Garage :

Particulars Purchases Sales & Opening Closing Wages

(Rs.) Charges (Rs.) (Rs.) (Rs.) (Rs.)

Spares 10,000 25,000 8,000 6,000 2,000

Tyres & Tubes 8,000 10,000 2,000 2,000 —

Petrol and Diesel 15,000 25,000 4,000 3,000 3,000

Hiring — 18,000 — — 3,000

Servicing and

Repairing — 10,000 — — 2,000

Garaging — 8,000 — — —

In addition Rs. 5,000 was received as commission for

sale of cars. Rs. 2,500 for licenses was paid for cars used

for hire. Rs. 2,500 worth of diesel and petrol was

consumed by the Hiring Section whereas the proprietor
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used petrol for Rs. 500 and the Repair Section also used

Rs. 500 worth of petrol and oil. The Repairs Section

carried out repair work of its hired cars, which was worth

Rs. 1,600. Spares worth Rs. 2,500 were used by the

Repairs Section. Rs. 2,000 depreciation is to be provided

on hired cars. The expenses amount to Rs. 7,000.

Prepare the Garage Account.

J¸ £o©øn°ß ÂÁµ[PÒ R@Ç

öPõkUP¨£mkÒÍx.

£o©øn SÔ¨¦PÒ

SÔ¨¦PÒ öPõÒ•uÀ ÂØ£øÚ xÁUP® CÖv T¼

¹. Pmhn[PÒ ¹. ¹. ¹.

¹.

Ev›£õP[PÒ 10,000 25,000 8,000 6,000 2,000

h¯ºPÒ ©ØÖ®

i³¦PÒ 8,000 10,000 2,000 2,000 —

ö£m@µõÀ ©ØÖ®

jŒÀ 15,000 25,000 4,000 3,000 3,000
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SÔ¨¦PÒ öPõÒ•uÀ ÂØ£øÚ xÁUP® CÖv T¼

¹. Pmhn[PÒ ¹. ¹. ¹.

¹.

ÁõhøP — 18,000 — — 3,000

@ŒøÁ ©ØÖ®

£Êx }UP¨£mhx — 10,000 — — 2,000

£o©øÚ — 8,000 — — —

PõºPÒ ÂØ£øÚ öŒ#uø©UPõP ¹. 5,000 PÈÄ

ö£Ó¨£mhx. ÁõhøPUS PõºPÒ £¯ß£kzv¯uØPõP

E›©zvØS ¹. 2,500/& öŒ¾zu¨£mhx. ¹. 2,500/&

©v¨¦ EÒÍ ö£m@µõÀ ©ØÖ® jŒø» ÁõhøP ¤›Ä

E£@¯õP¨£kzv¯x, CvÀ E›ø©¯õÍº ¹. 500/&

©v¨¦ÒÍ ö£m@µõ¾®, £Êx }US® ¤›Ä ¹. 500/&

©v¨¦ÒÍ ö£m@µõÀ ©ØÖ® Gsøn

£¯ß£kzv°¸UQßÓÚº. £Êx }US® ¤›ÂÚº

u[PÐøh¯ ÁõhøPUPõÚ PõºPøÍ ¹. 1,600/&

©v¨¤ØS £Êx }UQÚº. ¹. 2,500/&©v¨¦ÒÍ

Ev›£õP[PøÍ £Êx }US® ¤›ÂÚº

£¯ß£kzv°¸UQßÓÚº. ÁõhøP PõºPÐUS
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¹. 2,000/&US @u#©õÚ® PÈUP. ¹. 7,000/& öŒ»Ä

öŒ#¯¨£mhx.

£o©øÚ PnUS u¯õ›UPÄ®.

23. M/s. Joy & Co., sends goods on a sale or return basis to

a large number of customers. During May, 1998, the

following customers received the goods : Mr. Abel

Rs. 1,000 ; Mr. Jose Rs. 800 ; Mr. Gery Rs. 1,100 ;

Mr. Reny Rs. 700 ; Mr. Sheel Rs. 600.

Goods are returnable within a period of 3 weeks. Gery

returned the goods and Abel and Sheel accepted them ;

for the other the period of 3 weeks has not yet expired.

Enter the transactions in the Sale of Return Day Book.

áõ#  Aß @Põ GßÓ {ÖÁÚ® AvP GsoUøP°»õÚ

ÁõiUøP¯õÍºPÐUS ÂØ£øÚ AÀ»x v¸¨¦

•øÓ°À ŒµUSPøÍ AÝ¨¤¯x. @©, 1998À RÌPsh

ÁõiUøP¯õÍºPÒ ŒµUSPøÍ ö£ØÓÚº.

v¸. A@£À—¹. 1,000. v¸. @áõì—¹ 800/&.

v¸. öP›—¹. 1,100, v¸. öµÛ—¹. 700, v¸. çÀ—

¹&600/&
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ŒµUSPøÍ ‰ßÖ Áõµ[PÐUSÒ v¸®£ J¨£øhUP

@Ásk®. öP› ŒµUSPøÍ v¸¨¤ AÝ¨¤Úõº. A@£À

©ØÖ® çÀ ŒµUSPøÍ HØÖUöPõshÚº.

©ØÓÁºPÐUS ‰ßÖ ÁõµPõ» AÁPõŒ® •i¯ÂÀø».

ÂØ£øÚ AÀ»x v¸¨¦•øÓ |õÒ HmiÀ £vÄPøÍ

£v¯Ä®.

Part C (3 × 15 = 45)

Answer any three questions.

24. The following particulars relate to the Ayodhya Club

for the year ended March 31, 1998 ;

Receipts and Payments A/c for the year ended March

31, 1998 :

Receipts Rs. Payments Rs.

To Balance b/d 600 By Salaries 1,245
Subscription :

Arrears 96-97 24 By Stationery 240

Arrears 97-98 1,266

Arrears 98-99 48

——— 1,338

To Profit from canteen 900 By Rates & Taxes 360

To Miscellaneous 45 By Telephone 60
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Receipts Rs. Payments Rs.

To Sale of old papers 112 By Investments 750

To Dividends 485 By Advertisement 105

By Postage 100

By Sundries 350

By Balance c/d 270
———— ————

3,480 3,480
———— ————

You are required to prepare an Income and

Expenditure Account and the Balance Sheet after

making the following adjustments :

(a) There are 450 members, each paying an annual

subscription of Rs. 3.

(b) Rs. 27 subscriptions were in arrears for 1996-97,

on 1st April, 1997.

(c) Stock of stationery on March 31, 1997, was Rs. 30

; on March 31, 1998, Rs. 54.

(d) Cost of Buildings as on April 1, 1997 - Rs. 6,000.

Depreciate buildings at 5 % p.a.
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31&3&1998&B® BsiØPõÚ A@¯õzv¯õ ©Ú©QÌ

©ßÓ® öuõhº¦øh¯ SÔ¨¦PÒ R@Ç uµ¨£mkÒÍx.

31.03.1998 Ehß •iÄÖ® BsiØPõÚ ö£ÖuÀ &

öŒ¾zuÀ PnUS.

ö£ÖuÀ ¹. öŒ¾zuÀ ¹.

C¸¨¦ R/öPõ 600 Œ®£Í® 1,245

Œ¢uõ : GÊxö£õ¸Ò 240

{¾øÁ 96-97 24 ÁõhøPPÒ ©ØÖ®

|h¨¦   97-98 Á›PÒ 360

Bsk 1,266 öuõø»@£] Pmhn® 60

•ß Tmi •u½kPÒ 750

ö£ØÓx  98-99 48 ÂÍ®£µ[PÒ 105

1,338 u£õÀ öŒ»ÄPÒ 100

EnÁPv¼¸¢x C»õ£® 900 ]À»øµ öŒ»ÄPÒ 350

£Ø£» ÁøP°À 45 C¸¨¦ R/C 270

£øÇ¯ öŒ#vzuõÒ ÂØÓx 112

»õ£ DÄ 485

———— ————
3,480 3,480

———— ————
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RÌPõq® Œ›Pmh¾US ¤ÓS. ÁµÄ öŒ»Ä

PnUøP²®, C¸¨¦ {ø» SÔ¨ø£²® u¯õº öŒ#P :

(a) ©ßÓzvÀ 450 EÖ¨¤ÚºPÒ ¹. 3/& Ãu® Bsk

Œ¢uõÁõP öŒ¾zxQßÓÚº.

(b) 1&4&97 AßÓ 1996&1997&® BsiØPõÚ Œ¢uõ

¹. 27/& {¾øÁ°À EÒÍx.

(c) GÊxö£õ¸Ò C¸¨¦ : 31---- -3-97 : ¹. 30/-&

31---- -3-98 : ¹. 54/-&

(d) 1&4&97 AßÓ Pmihzvß AhUPÂø»

¹. 6,000/& @u#©õÚ® BsiØS 5 % PÈUP.

25. Ramesh Brothers consigned 100 bikes, each costing

Rs. 4,000 to Mahesh Brother at Cochin. Ramesh

Brothers spent Rs. 5,000 towards freight and insurance.

During transit five bikes were badly damaged and the

insurance company accepted the claim of Rs. 18,000

only.
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Mahesh Brothers took delivery of the remaining bikes

and spent Rs. 1,900 towards direct expenses and

Rs. 800 towards indirect expenses. They are entitled to

5 % commission on sales. Eight bikes were sold at

Rs. 4,500 each.

Show the important ledger accounts in the books of both

the parties.

µ@©è Œ@PõuºPÒ, öPõa]ÛÀ EÒÍ ©@Pè

Œ@PõuµºPÐUS 100 ø£USPøÍ JßÖ ¹. 4,000/& Ãu®

AÝ¨¥k öŒ#uÚº. µ@©è Œ@PõuµºPÒ T¼ ©ØÖ®

DmkÖv¯õP ¹. 5,000/& öŒ»Ä öŒ#uÚº.

@£õUSÁµzvß @£õx 5 ø£USPÒ @©õŒ©õP

@Œu©øh¢ux. DmkÖv {ÖÁÚ® CÇ¨¦ @Põµ¾UP

¹. 18,000/& ©mk@© J¨¦UöPõshx. ©@Pè

Œ@PõuµºPÒ «v ø£USPøÍ ö£ØÖ, @|µi öŒ»ÁõP

¹. 1,900/&S®, ©øÓ•P öŒ»ÁõP ¹. 800/&® öŒ»Ä

öŒ#uÚº. ÂØ£øÚ «x 5 % PÈÄ ö£Ó E›ø©²sk.

8 ø£USPøÍ JßÖ ¹. 4,500/& Ãu® ÂØ£øÚ

öŒ#uÚº.  C¸Á›ß HkPÎ¾® •UQ¯ @£@µmk

PnUSPøÍ PõmkP.
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26. Prabir and Mihir doing business separately as building

contractor undertaken jointly to build a building for a

newly started public company for a contract price of Rs.

10,00,000 payable as to Rs. 8,00,000 by instalment in

cash and Rs. 2,00,000 fully paid shares of the new

company. A Bank Account is opened in their joint name,

Prabir paying Rs. 2,50,000 and Mihir

Rs. 1,50,000. They are to share profit or loss in the

proportion of 2 ; 1 respectively. Their transactions were

as follows :

Particulars Rs.

Paid Wages 3,00,000

Bought materials 7,00,000

Material supplied by Prabir from his stock 50,000

Materials supplied by Mihir from his stock 40,000

Architects fee paid by Prabir 20,000

The contract was completed and the price duly received.

The joint venture was closed by Prabir taking up all

the equity shares of the company at an agreed valuation

of Rs. 1,60,000 and Mihir taking up the stock materials
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at an agree valuation of Rs. 30,000. Prepare the joint

venture account showing the profit or loss and the

accounts of Prabir and Mihir showing the final

distribution of cash.

Pmih J¨£¢uuõµº öuõÈÀ öŒ#x Á¢u ¤µ¥º ©ØÖ®

ªîº J¸ ¦vuõP öuõh[P¨ö£ØÓ ö£õx

{ÖÁÚzvØPõP ¹. 10,00,000 ©v¨¤À J¸ Pmih®

Pmh C¸Á¸® Cøn¯õP Dk£mhÚº. AvÀ

¹. 8,00,000 /& öµõUP©õP uÁøn•øÓ°¾®, «u®

¹. 2,00,000/-zøu ¦v¯ {ÖÁÚzvÀ •ÊÁx®

öŒ¾zu¨£mh Œ©{ø» £[PõP öŒ¾zu@Ásk®

C¸Á¸øh¯ ö£¯›¾® J¸ Tmk Á[Q PnUS

xÁUP¨£mhx. ¤µ¥º ¹. 2,50,000/&•®, ªîº

¹. 1,50,000/& •® öŒ¾zvÚº. AÁºPÒ •øÓ@¯ 2 : 1

GßÓ ÂQuzvÀ C»õ£ |mhzøu £[QmkU öPõÒÍ

@Ásk®. AÁºPÎß |iÁiUøPPÍõÁÚ :

¹.

T¼ öŒ¾zv¯x 3,00,000

ö£õ¸mPÒ öPõÒ•uÀ 7,00,000
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¹.

¤µ¥º uÚx C¸¨¤¼¸¢x AÎzu

ö£õ¸mPÒ 50,000

ªîº uÚx C¸¨¤¼¸¢x AÎzu

 ö£õ¸mPÒ 40,000

¤µ¥º Pmih ÁÀ¾|¸US öŒ¾zv¯x 20,000

J¨£¢u® •iUP¨£mk, AuØPõÚ Âø»²® Œ›¯õP¨

ö£Ó¨£mhx.

CønÂøÚ •iUP¨£mk, J¨¦UöPõsh ©v¨¦¨£i

{ÖÁÚzvß £[SPÒ AøÚzøu²® ¤µ¥º

¹. 1,60,000/&US®, ªîº C¸¨¦¨ ö£õ¸mPøÍ

¹. 30,000/&US GkzxUöPõshÚº.

C»õ£ |mh[PøÍ Põmk® CønÂøÚ PnUS

©ØÖ® CÖv¯õP öµõUP® £mkÁõhõ öŒ#uøuU

Põmk® ¤µ¥º ©ØÖ® ªî›ß PnUSPøÍ²®

u¯õºöŒ#P.

27. On 1-1-2002 6 % Debentures of Rs. 100 each in

Y Limited. were held as investments by X Limited at a

cost of Rs. 18,200. Interest is payable on 31st December.
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On 1-4-2002 Rs. 4,000 of such debentures were

purchased by X Limited. @ Rs. 98 and on 1-9-2002

Rs. 6,000 Debentures were sold at Rs. 96 ex-interest.

on 1-12-2002 Rs. 8,000 Debentures were sold @ Rs. 99

cum-interest. On 31-12-2002 X Limited. sold Rs. 10,000

Debentures @ Rs. 95 ex-interest.

Prepare Investment Account for 6 % Debentures of Y

Limited in the Books of X Limited Ignore Income Tax.

1-&1&-2002&AßÖ X ¼m {ÖÁÚ®, Y &¼m {ÖÁÚzv»

JÆöÁõßÖ® ¹. 100/& ©v¨¤»õÚ 6 % 200 Phß

£zvµ[PøÍ •u½hõP ¹. 18,200/&US øÁzv¸¢ux.

31 iŒ®£›À Ámi öŒ¾zu @Ásk®.

1-&4&2002 AßÖ X ¼m {ÖÁÚ® ¹. 98/& Ãu®

©v¨¤»õÚ Phß£zvµ[PøÍ ¹. 4,000/&US

öPõÒ•uÀ öŒ#ux. @©¾® 1&9&2002 AßÖ ¹. 6,000/&

©v¨¦ Phß £zvµ[PøÍ ¹. 96/& Ãu® Âk

Ámi²hß ÂØÓx. 1&12&2002 AßÖ ¹. 8,000 ©v¨¦

Phß £zvµ[PøÍ ¹. 99/& Ãu® Tmk Ámi²hß

ÂØÓx 31&12&2002 AßÖ X-¼m {ÖÁÚ® ¹. 10,000
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©v¨¦ Phß£zvµ[PøÍ ¹. 95/& Ãu® ÂkÁmi²hß

ÂØÓx.

X-¼m {ÖÁÚzvß HmiÀ Y &¼m {ÖÁÚzvß

Phß£zvµ[PÐUPõÚ •u½mkU PnUøP u¯õº

öŒ#P. Á¸©õÚ Á›ø¯ ÂmkÂhÄ®.

28. Mr. Baghat occupies a room in a hotel a Haridwar at

9 a.m. on 5th May, 2001 on European Plan @ Rs. 270

for a stay of every 24 hours or a part thereof. Calculate

the amount payable by Mr. Baghat in each on the

following circumstances assuming that service charge

@ 10 % is also payable :

(a) If he checks out at 6 p.m. on 5th May, 2001.

(b) If he checks out at 7 a.m. on 6th May, 2001.

(c) If he checks out at 3 p.m. on 6th May, 2001.

(d) If he checks out at 9 a.m. on 7th May, 2001.

£Pz Gß£Áº í›zÁõ›À EÒÍ EnÄ Âkv JßÔÀ

5&5&2001 AßÓ Põø» 9.00 ©oUS AøÓ JßøÓ
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I@µõ¨¤¯ vmhzvß RÌ JÆöÁõ¸ 24 ©o

@|µzvØS® Auß £SvUS® ¹. 270/& Ãu® ÁõhøPUS

Gkzuõº. R@Ç öPõkUP¨£mkÒÍ ‹Ì{ø»PÎÀ £Pz

GÆÁÍÄ £n® / ÁõhøP öŒ¾zu @Ásk® GÚU

PnUQhÄ®. 10 % @ŒøÁU Pmhn® öŒ¾zu

@Ásk® GÚU P¸u @Ásk®.

(A) 5&5&2001&Aß@Ó ©õø» 6.00 ©oUS Põ¼

öŒ#uõÀ.

(B) 6&5&2001&AßÖ Põø» 7.00 ©oUS Põ¼

öŒ#uõÀ.

(C) 6&5&2001&AßÖ ©õø» 3.00 ©oUS Põ¼

öŒ#uõÀ.

(D) 7&5&2001&AßÖ Põø» 9.00 ©oUS Põ¼

öŒ#uõÀ.

***
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B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION APRIL 2011

Second Semester

GENERAL LAW

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

1. What is original jurisdiction ?

‰» Áµ®ö£Àø» GßÓõÀ GßÚ ?

2. What is doctrine of interpretation ?

ö£õ¸Ò AÔuÀ @Põm£õk GßÓõÀ GßÚ ?

3. What is ‘transfer’ ?

‘©õØÖ’ GßÓõÀ GßÚ ?

AFN-1418 BCS232
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4. What is persuasive source ?

ysk® ‰»[PÒ GßÓõÀ GßÚ ?

5. What do you mean by ‘Lex mercatoria’ ?

‘ö»Uì ö©ºP@hõ›¯õ’ Gß£uß Aºzu® ̄ õx ?

6. What is personal law ?

uÛ |£º Œmh® GßÓõÀ GßÚ ?

7. What is sub-lease ?

EÒ SzuøP GßÓõÀ GßÚ ?

8. What is redemption ?

 «m¦ GßÓõÀ GßÚ ?

9. What is mortgage money ?

Ah©õÚ £n® GßÓõÀ GßÚ ?
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10. What is premium ?

•øÚ©® GßÓõÀ GßÚ ?

11. The period of limitation for suits relating to contracts

is ————.

J¨£¢u ÁÇUS öuõhº£õÚ Põ» Áøµ¯Ö ————.

12. Quasi Contract is a ———— law.

SøÓ¯ÍÄ J¨£¢u® ———— Œmh®.

13. Obiter dictum means ————.

‘K¤mhº iUh®’ Gß£uß ö£õ¸Ò ————.
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14. Directive Principles of State Policy lay down ————

principles.

©õ{» @Põm£õmkU öPõÒøP———— @Põm£õmøh

AÔÄÖzxQÓx.

15. The Transfer of Property Act lays down law relating to

transfer of ———— property

———— ©õØÖ öuõhº£õÚ Œmh ÂvPøÍ öuõhº¢x

öŒõzx ©õØÖaŒmh® Áøµ¯ÖzxÒÍx.

Section  B (5 × 8 = 40)

Answer any five questions.

16. State the rule of reasonable construction.

{¯õ¯ HØ£õmk Âvø¯ SÔ¨¤kP.
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17. How does Directive Principles of State Policy differ from

Fundamental Rights ?

©õ{» @Põm£õmkU öPõÒøP Ai¨£øh E›ø©PÎÀ

C¸¢x GÆÁõÖ @ÁÖ£kQÓx ?

18. Enumerate the Fundamental Rights in the

Constitution of India.

C¢v¯ Aµ]¯À Aø©¨¤À TÓ¨£mkÒÍ Ai¨£øh

E›ø©PøÍ ÂÍUSP.

19. What are the objects of Limitation Act ?

Áøµ¯Ö Œmhzvß @|õUP[PÒ ̄ õøÁ ?

20. Explain the computation period under Limitation Act.

Áøµ¯Ö ŒmhzvÀ TÓ¨£mkÒÍ PnUQk® Põ»®

£ØÔ ÂÍUSP.
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21. Write a note on dissolution of societies.

Œ[P Pø»¨¦ £ØÔ SÔ¨¦ GÊxP.

22. What are the powers of the President of India ?

C¢v¯ Si¯µ” uø»Á›ß AvPõµ[PÒ ̄ õøÁ ?

23. What are the essentials of gift ?

öPõøh {PÌÂß CßÔ¯ø©¯õz ußø©PÒ ̄ õøÁ ?

Section C (3 × 15 = 45)

Answer any three questions.

24. Explain the constitutional provisions relating to

Equality before law.

Aµ]¯»ø©¨¤À TÓ¨£mkÒÍ Œmhzvß •ß Œ©®

GßÓ @Põm£õmøh ÂÍUSP.
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25. Enumerate the characteristics of gift.

öPõøh°ß SnõvŒ¯[PÒ £ØÔ ÂÍUSP.

26. State and explain the bar of limitation.

Áøµ¯Ö ŒmhzvÀ EÒÍ uøhPÒ £ØÔ SÔ¨¤mk

ÂÍUSP.

27. Explain the procedure for formation and registration

of societies.

Œ[P[PøÍ HØ£kzxÁx ©ØÖ® £vÄ öŒ#uÀ £ØÔ¯

|øh•øÓ ÂÁ›UP.

28. Explain the essentials of valid transfer.

öŒÀuS ©õØÔß CßÔ¯ø©¯õz ußø©PÒ £ØÔ

ÂÍUSP.

***
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***
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Third Semester

Corporate Secretaryship

ADVANCED FINANCIAL ACCOUNTING—I

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

Fill in the blanks with correct answer :

1. ———— can be found by preparing a statement of

affairs at the beginning of the year.

Bsk xÁUPzvÀ |iÁiUøP AÔUøP u¯õ›¨£uß

‰»® ————øP Psk¤iUP»õ®.

2. ———— means a branch which does not maintain its

own set of books.

G¢u J¸ QøÍ uÚUöPÚ HkPøÍ £µõ©›UP

ÂÀø»@¯õ A¢u QøÍø¯ ———— GßQ@Óõ®.

AFN-1419 BCS331
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3. Expenses which incurred for particular department are

called ————.

SÔ¨¤mh xøÓPÐUPõP öŒ#¯¨£k® öŒ»ÄPøÍ

———— GßQ@Óõ®.

4. ———— Price is the total amount payable by the buyer,

in agreed instalments for the goods Purchased.

ŒµUøP öPõÒ•uÀ öŒ#uuØPõP uÁøn

Ehß£iUøP¨£i öPõÒ•uÀ öŒ#£ÁµõÀ

öŒ¾zu¨£k® ö©õzu Âø»ø¯ ———— GßQ@Óõ®.

5. The seller of the goods on hire purchase basis is

————.

uÁøn öPõÒ•uÀ Ai¨£øh°À ŒµUøP ÂØ£Áøµ

———— GßQ@Óõ®,

State True or False :

6. Under single entry system, trail balance cannot be

prepared for any period.

JØøÓ £vÄ •øÓ°ß RÌ G¢u Põ»zvØPõÚ

C¸¨£õ#Ä® u¯õ›UP •i¯õx.
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7. To identify areas of weakness for cost control the

department accounts are prepared.

AhUP Pmk¨£õmiß SøÓPøÍ PshÔ¯ xøÓÁõ›

PnUSPÒ u¯õ›UP¨£kQÓx,

8. Cash price is the retail price at asset which can be

purchased immediately for cash.

 öµõUP {ø» Gß£x öŒõzøu EhÚi¯õP öPõÒ•uÀ

öŒ#¯ öŒ¾zu¨£k® ]À»øµ Âø»¯õS®.

9. Under Hire Purchase system, the property in goods

posses to the purchaser immediately on signing the

contract.

ÁõhøP öPõÒ•uÀ •øÓ°ß öPõÒ•uÀ öŒ#£ÁµõÀ

J¨£¢uzvÀ øPö¯õ¨£ªmhÄhß ŒµUQß E›ø©

©õØÓ® öŒ#¯¨£kQÓx.

10. Excess of  minimum rent over actual royalty paid to

the landlord is known as fixed rent.

Esø©¯õP SzuøPø¯Âh AvP©õP öŒ¾zu¨£k®

SøÓ¢u £mŒ ÁõhøP {»UQÇõºUS öŒ¾zxÁøu

————GßQ@Óõ®.
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Choose the correct answer from the alternatives given

below :

11. Withdrawals by the proprietor would :

(a) Reduce both assets and owner equity.

(b) Reduce assets and increase liabilities.

(c) Reduce Owner equity and increase liabilities.

(d) Reduce the assets only.

E›ø©¯õÍµõÀ Gk¨¦ öŒ#²® @£õx.

(A) E›ø©¯õÍº £[S ©ØÖ® öŒõzxPÒ SøÓ²®.

(B) öŒõzx SøÓ²® ©ØÖ® ö£õÖ¨¦ AvP›US®.

(C) E›ø©¯õÍº £[S SøÓ²® ö£õÖ¨¦

AvP›US®.

(D) öŒõzxPÒ ©mk® SøÓ²®.

12. Purchase of machinery for cash :

(a) Increase total assets.

(b) Keeps total assets unchanged.

(c) Decreases total assets.

(d) Increase total liabilities.
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öµõUPzvØS C¯¢vµ® öPõÒ•uÀ öŒ#uõÀ :

(A) ö©õzu öŒõzx AvP›US®.

(B) ö©õzu öŒõzvÀ ©õØÓ® CÀø».

(C) ö©õzu öŒõzx SøÓ²®.

(D) ö©õzu ö£õÖ¨¦ AvP›US®.

13. Who is secured creditor ?

(a) Bills payable.

(b) Bank Overdraft.

(c) Trade Creditors.

(d) Loan on assets.

¤øn¯ø©¢u PhÜ¢@uõº Gß£Áº ̄ õº ?

(A) öŒ¾zxÁuØS›¯ ©õØÖa^mk.

(B) Á[Q @©ÀÁøµ¨£ØÖ.
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(C) Â¯õ£õµ PhÜ¢@uõºPÒ.

(D) öŒõzx «uõÚ Phß.

14. ———— is the amount payable by the buyer

Periodically.

(a) Instalment.

(b) Down payment.

(c) Interest.

(d) Expenses.

öPõÒ•uÀ öŒ#£ÁµõÀ SÔ¨¤mh Põ»zvØS J¸

•øÓ öŒ¾zu¨£k® öuõøP ———— GÚ¨£k®.

(A) uÁøn.

(B) •ußø© öuõøP.

(C) Ámi.

(D) öŒ»ÄPÒ.

15. The guaranteed minimum amount payable by the

lessee irrespective of the actual output is ————.
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(a) Short workings.

(b) Fixed Rent.

(c) Royalty.

(d) Maximum Rent.

SzuøPuõµº Esø©¯õÚ öÁÎ±møh P¸zvÀ

öPõÒÍõ©À öŒ¾zu¨£k® EzvµÁõu SøÓ¢u £mŒ

öuõøPUS ———— GßQ@Óõ®.

(A) SøÓöÁk¨¦.

(B) {ø» ÁõhøP.

(C) SzuøP.

(D) EmŒ ÁõhøP.

Section  B (5 × 8 = 40)

Answer any five questions.

16. Mr. Kumar keep his book by single entry. He started

business on 1st January 2009  with capital of Rs.

1,00,000. Position as on 31-12-2009 was as under.
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Rs. Rs.

Cash in hand 2,500 Sundry Creditors 22,000

Bank Balance 4,500 Bills payable 3,000

Furniture 10,500 Other liabilities 2,500

Machinery 60,000

S. Debtors 40,000

Stock 50,000

Other Assets 5,000

Find out Profit or Loss made by Mr. Kumar during

2009.

v¸. S©õº uÚx HkPøÍ JØøÓ £vÄ •øÓ°À

øÁzv¸¢uõº. AÁº áÚÁ› 1, 2009 AßÖ 1,00,000

•u¾hß öuõÈÀ öuõh[QÚõº. 31&-12&-2009 AßÖ

öuõÈÀ{ø» RÌ EÒÍÁõÖ.
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¹. ¹,

øPÁŒ öµõUP® 2,500 £Ø£» PhÜ¢@uõº 22,000

Á[Q C¸¨¦ 4,500 öŒ¾zxuØS›¯

AøÓP»ß 10,500 ©õØÖ^mk 3,000

C¯¢vµ® 60,000 ©ØÓ ö£õÖ¨¦PÒ 2,500

£Ø£» PhÚõÎPÒ 40,000

ŒµUQ¸¨¦ 50,000

©ØÓ öŒõzxPÒ 5,000

|h¨¦ Bsk 2009&À v¸. S©õ›ß C»õ£®

AÀ»x |mhzøu Psk¤i.

17. Vivek Company opened a branch at Erode. From the

following particulars Prepare Erode Branch A/c.

Goods Sent to branch Rs. 14, 750

Cash sent to Branch : Rs.

For Rent 2,000

For Salary 3,000

For other expenses 1,250
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———— 6,250

Cash Received from Branch 28,000

Closing stock 2,500

Petty Cash in hand 50

Â@ÁU {ÖÁÚ® D@µõmiÀ J¸ QøÍø¯ xÁ[Q¯x.

¤ßÁ¸® Â£µ[PÎ¼¸¢x D@µõk QøÍ PnUøP

u¯õ›UPÄ®.

QøÍUS ŒµUS AÝ¨¤¯x ¹, 14,750

QøÍUS  öµõUP® AÝ¨¤¯x

¹.

ÁõhøPUPõP 2,000

Fv¯zvØPõP 3,000

©ØÓ öŒ»ÂØPõP 1,250

———— 6,250

QøÍ°¼¸¢x öµõUP® ö£ØÓx 28,000

CÖv ŒµUQ¸¨¦ 2,500

øP ÁŒ ]À»øµ öµõUP® 50
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18. A fire occurred in the premises of  X  Limited on 10.10.91.

All stocks were destroyed except to the extent at

Rs. 6,200. From the following particulars, find out the

loss of stock suffered by the company.

Rs.

Stock on 1-1-90 40,000

Purchase during 1990 1,45,000

Sale during 1990 2,00,000

Stock on 31-12-90 25,000

Purchase during 1991 upto the data of fire

Rs. 1,52,200

Sales during 1991 upto date of fire Rs. 1,89,000.

‘X’ {Ö©zvß ÁÍõPzvÀ 10&10&1991 AßÖ w Â£zx

HØ£mhx. ¹. 6,200 ©v¨¦ÒÍ ŒµUS uÂÓ ©ØÓ

AøÚzx ŒµUSPÐ® AÈ¢xÂmhx. ¤ßÁ¸®

Â£µ[PÎÀ C¸¢x £õvUP¨£mh ŒµUQ¸¨¤À

HØ£mh |mhzøu PnUQkP.
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¹.

ŒµUQ¸¨¦ 1-&1&1990 40,000

|h¨¦ Bsk 1990, öPõÒ•uÀ 1,45,000

|h¨¦ Bsk 1990&ß ÂØ£øÚ 2,00,000

ŒµUQ¸¨¦ (31&12&90) 25,000

|h¨¦ Bsk 1991&À w HØ£mh @uv Áøµ öPõÒ•uÀ

¹. 1,52,200,

|h¨¦ Bsk 1991&À w HØ£mh @uvÁøµ ÂØ£øÚ

¹. 1,89,000.

19. Ramu took a lease of mine for a period of 20 years.

Royalty payable is Rs. 2 per tonne. Maximum Rent is

Rs. 8,200. Power to recoup short workings during the

first 5 years of lease. The annual outputs were as

follows :

1990 – 2,000 tonnes.

1991 – 3,600 tonnes

1992 – 9,200 tonnes

1993 – 15,200 tonnes

1994 – 25,400 tonnes.

Give journal entry in the books of Ramu.
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Cµõ• J¸ ”µ[Pzøu 20 Á¸h Põ»zvØS SzuøPUS

Gkzuõº J¸ hßÝUS SzuøP¯õP ¹. 2 öŒ¾zu

@Ásk®. SøÓ¢u £mŒ ÁõhøP ¹. 8,200. •uÀ

I¢uõsiØS SøÓö¯k¨ø£ Œ› öŒ#²® AvPõµ®

Esk. ¤ßÁ¸ÁÚ BskPÎß öÁÎ±k BS®.

1990 – 2,000 hßPÒ.

1991 – 3,600 hßPÒ.

1992 – 9,200 hßPÒ.

1993 – 15,200 hßPÒ.

1994 – 25,400 hßPÒ.

Cµõ•Âß HmiÀ SÔ¨@£mk £vÄPÒ u¸P.

20. On 1-1-2006, Mr. Sakthi Purchased machinery on hire

Purchase System. The payment is to be made Rs. 4,000

down (on signing of the contract) and Rs. 4,000  annually

for three years. The Cash Price of the machinery is Rs.

14,900 and the rate of interest is 5 %.

Calculate the interest in each year’s instalment.
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v¸. ŒUv Gß£Áº 1-&1&2006 AßÖ ÁõhøP öPõÒ•uÀ

•øÓ°À J¸ C¯¢vµzøu öPõÒ•uÀ öŒ#uõº.

¹. 4,000 •uØöuõøP¯õPÄ® (J¨£¢uzvÀ

øPö¯õ¨£ªk®@£õx) ©ØÖ® ¹. 4,000 JÆöÁõ¸

Bsk CÖv°¾® ‰ßÖ Á¸hzvØS öŒ¾zu

@Ásk®. C¢u C¯¢vµzvß öµõUP Âø» ¹. 14,900

©ØÖ® Ámi ÂQu® 5% BS®.

JÆöÁõ¸ uÁøn°À EÒÍ Ámiø¯ PnUQkP.

21. What is single entry system ? Discuss the limitations

Single entry system.

JØøÓ £vÄ •øÓ GßÓõÀ GßÚ ? JØøÓ £vÄ

•øÓ°ß SøÓ£õkPøÍ ÂÁõv.

22. A fire occurred in the premises of Mr. Ravi on 15th

August 1995. A large part of the stock was destroyed

and Rs. 7,500 was realised for the salvage. For the

period from 1st January 1995 to 15th August 1995, the

following information is available.

(a) Purchase amounted to Rs. 42,500.
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(b) Sales amounted to Rs. 45,000.

(c) Stock at cost (1-1-1995) Rs. 20,000.

(d) Goods Costing Rs. 2,500 were taken for

personal use.

(e) Previous rate of gross Profit is 33½ % on sales.

(f) Insurance Policy Rs. 25,000 (average clause).

Prepare Statement of claim to be made on the

insurance Company.

v¸. µÂ°ß ÁÍõPzvÀ 15 BPìm 1995 AßÖ w

Â£zx HØ£mhx. ö£¸®£õ»õÚ ŒµUS AÈ¢ux ©ØÖ®

¹. 7,500 ©v¨¦ÒÍ ŒµUS Põ¨£õØÓ¨£mhx.

¤ßÁ¸ÁÚ 1&1&1995 •uÀ 15&8&1995 ÁøµUPõÚ

uPÁÀPÒ BS®.

(A) öPõÒ•uÀ ¹. 42,500.

(B) ÂØ£øÚ ¹. 45,000.

(C) AhUPzvÀ ŒµUQ¸¨¦ (1&1&1995) ¹. 20,000.

(D) ¹. 2,500 AhUP ©v¨¦ÒÍ ŒµUS uÛ¨£mh

£¯ÝUPõP Gkzux.
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(E) ÂØ£øÚ «uõÚ •¢øu¯ C»õ£ ÂQu®

= 33 1
3  %.

(F) Põ¨¥mk vmh® ¹. 25,000 (ŒµõŒ› ÁS¨¦).

Põ¨¥mk {Ö©zvØS AÎUP @Ási¯ @PõµÀ

AÔUøP u¯õº öŒ#P.

23. Write short note on :

(i) Minimum Rent

(ii) Short workings.

]Ö SÔ¨¦ GÊxP :

(i) SøÓ¢u£mŒ ÁõhøP.

(ii) SøÓö¯k¨¦.

Section C (3 × 15 = 45)

Answer any three questions.

24. Prakash keeps his books by the ‘Single entry method’.

His position on 31-12-1987 and 31-12-1998 was as

follows :—
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Particulars 1987 1988

Rs. Rs.

Cash in hand 200 300

Cash  at Bank 3,000 2,000

Stock in trade 20,000 19,000

Sundry debtors 8,500 14,000

Furniture 1,800 1,500

Machinery 15,000 27,000

Sundry Creditors 22,000 29,000

During the year Prakash introduced Rs. 5,000 as

further capital and withdraw Rs. 750 per month.

Findout Profit or loss as on 31-12-1988.

JØøÓ £vÄ •øÓ°À ¤µPõì HkPøÍ øÁzv¸¢uõº.

AÁ›ß 31-&12&87 ©ØÖ® 31&12&88&ß {ø»ø© ¤ß

Á¸©õÖ :
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Â£µ® 1987 1988

¹. ¹.

øPÁŒ öµõUP® 200 300

Á[Q°À öµõUP® 3,000 2,000

Â¯õ£õµzvÀ EÒÍ ŒµUS 20,000 19,000

£Ø£» PhÚõÎPÒ 8,500 14,000

AøÓP»ß 1,800 1,500

C¯¢vµ® 15,000 27,000

£Ø£» PhÜ¢@uõºPÒ 22,000 29,000

|h¨¦ BsiÀ ¤µPõì AÔ•P¨£kzv¯ TkuÀ

•uÀ ¹. 5,000 ©ØÖ® ©õu® ¹. 750 Gk¨¦

@©ØöPõshõº 31&12&88UPõÚ C»õ£ |mhzøu

PnUQkP.
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25. The following information relates to Madurai branch.

Rs. Rs.

Stock on 1-1-1994 11,200

Branch debtors on 1-1-94 6,300

Goods sent to Branch 51,000

Cash sent to Branch for :

Rs.

Rent 1,500

Salaries 3,000

Petty Cash 500

——— 5,000

Sales at branch

Cash 25,000

Credit 39,000 64,000

———

Cash received from Debtors 41,200

Stock on 31-12-1994 13,600

Prepare Branch account for the year 1994.
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¤ßÁ¸® Â£µ[PÒ ©xøµ QøÍ öuõhº£õÚx.

¹. ¹.

ŒµUQ¸¨¦ 1&1&94 11,200

1&1&94 AßÖ QøÍ PhÚõÎPÒ 6,300

QøÍUS ŒµUS AÝ¨¤¯x 51,000

QøÍUS ŒµUS AÝ¨¤¯x  :

ÁõhøP 1,500

Fv¯® 3,000

]À»øµ öµõUP® 500 5,000

————

QøÍ°À ÂØ£øÚ :

öµõUP 25,000

Phß 39,000 64,000

————

PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP® 41,200

31&12&94 AßÓ ŒµUQ¸¨¦ 13,600

1994&® BsiØPõÚ QøÍ PnUøP u¯õ›UPÄ®.
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26. The following purchases were made by a business house

having three departments.

Department A – 1,000 units

Department B – 2,000 units At a total cost of

Department C – 2,400 units Rs. 1,00,000

Stocks on 1st January were :

Department A – 120 units

Department B – 80 units

Department C – 152 Units

Sales were :

Department A – 1,020 units at Rs. 20 each

Department B – 1,920 units at Rs. 22.50 each.

Department C – 2,496 Units at Rs. 25 each.

The rate of gross profit is same in each case. Prepare

Departmental trading account.
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‰ßÖ xøÓPøÍ öPõsh J¸ ÁoP ÁÍõPzv»

öŒ#¯¨£mh öPõÒ•uÀ ¤ßÁ¸©õÖ.

xøÓ  A – 1,000 A»SPÒ

xøÓ  B – 2,000 A»SPÒ

xøÓ C – 2,400 A»SPÒ

áÚÁ› 1 AßÖ ŒµUQ¸¨¦ :

xøÓ A – 120 A»SPÒ

xøÓ B – 80 A»SPÒ

xøÓ C – 152 A»SPÒ

ÂØ£øÚ :

xøÓ A – 1,020 A»SPÒ @ ¹. 20 [JÆöÁõßÖ®]

xøÓ B – 1,920 A»SPÒ @ ¹. 22.50 [JÆöÁõßÖ®]

xøÓ C – 2,496 A»SPÒ ¹. 25 [JÆöÁõßÖ®]

ö©õzu C»õ£ ÂQu® JÆöÁõ¸ xøÓUS® ©õÓõux.

xøÓÁõ› Â¯õ£õµ PnUøP u¯õ›UPÄ®.

ö©õzu AhUP®

¹. 1,00,000.
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27. What is insolvent ? What are the difference between

Balance Sheet and statement of affairs ?

ö|õi¨¦ GßÓõÀ GßÚ ? C¸¨¦ {ø» SÔ¨¤ØS®

|iÁiUøP AÔUøPUS® Cøh@¯ EÒÍ @ÁÖ£õkPÒ

¯õx ?

28. Mr. P. Purchased a bus for Rs. 1,60,000 from Mr. S. on

1-1-2003 payment to be made Rs. 40,000 down and

Rs. 46,000 at the end of  first year, Rs. 44,000 at the

end of the second year and Rs. 42,000 at the end of third

year. Interest was charged at 5 % Mr. K. depreciates

the bus at 10 % per annum on written down value

method.

Mr. K. after having paid down payment and first

instalment at the end of the first year, could not pay

second instalment. The seller took Possession of the bus,

and after spending Rs. 4,000 on repairs of the asset,

Sold it away for Rs. 91,500. Give journal entries and

ledger accounts in the books of both the parties.
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v¸. P. Gß£Áº 1&1&2003 AßÖ ¹. 40,000 •ußø©

öuõøP öŒ¾zv ¹. 1,60,000&US J¸ @£¸¢øu

öPõÒ•uÀ öŒ#uõº. •uÀ Bsk CÖv°À

¹. 46,000&® Cµshõ® Bsk CÖv°À ¹. 44,000&•®

‰ßÓõ® Bsk CÖv°À ¹. 42,000&® öŒ¾zu

@Ásk®. Ámi 5% @ŒºUP @Ásk®. v¸ P.

BsiØUS 10 % @uØ©õÚ® SøÓ¢x öŒÀ©v¨¦

•øÓ°À PnUQkQÓõº.

v¸ P. •ußø© öuõøP²® •uÀ Bsk CÖv°À

•uÀ uÁøn²® öŒ¾zv¯ ¤ßÚº AÁµõÀ Cµshõ®

uÁøn öŒ¾zu C¯»ÂÀø». ÂØ£øÚ¯õÍº

@£¸¢øu v¸®£ Gkzx AuØS

¹. 4,000 £Êx£õº¨¦ öŒ»Ä öŒ#x ¤ßÚº

¹. 91,500&US ÂØ£øÚ öŒ#uõº.

SÔ¨@£mk £vÄ ©ØÖ® @£@µmk £vÄPøÍ C¸Áº

HkPÎ¾® u¸P.

***
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Third Semester

Corporate Secretaryship

BUSINESS STATISTICS AND MATHEMATICS

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

1. What is Statistics ?

¦ÒÎ°¯À GßÓõÀ GßÚ ?

2. Give an example for secondary data ?

Cµshõ® uµ ¦ÒÎ ÂÁµzvØPõÚ J¸ GkzxUPõmk

GÊxP.

3. Define Mode.

•Pk — Áøµ¯Ö.

AFN-1420  BCS332
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4. What is Variance ?

©õÖ£õk GßÓõÀ GßÚ?

5. State any two benefits of Correlation.

JmkÓÂß H@uÝ® Cµsk |ßø©PøÍ SÔ¨¤kP.

6. What is skewness ?

@PõmhU öPÊ Gß£uß ö£õ¸Ò ̄ õx ?

7. What are index numbers ?

SÔ±möhsPÒ GßÓõÀ GßÚ?

8. From the following variables, find Mean.

3, 7, 12, 15, 25, 37, 48, 52, 69.
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 RÌÁ¸® ¦ÒÎ ÂÁµ[PÐUS ŒµõŒ›ø¯ PõsP :

3, 7, 12, 15, 25, 37, 48, 52, 69.

9. Define “Annuity”.

Bskz öuõøP — Áøµ¯Ö.

10. State the formulae to find out combined mean.

ö©õzu ŒµõŒ›ø¯ PnUQh EuÄ® ‹zvµzøu GÊxP.

11. What is the formula to find out Mean Deviation ?

ŒµõŒµ Â»UPzøu PnUQh EuÄ® ‹zvµzøu GÊxP.

12. Define Probability ?

{PÌuPÄ — Áøµ¯Ö ?
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13. Define Depreciation ?

@u#©õÚ® — Áøµ¯Ö ?

14. State the formulae to find out Laspire’s method of index.

@»è¨¯›ß SÔ±möhsön PnUQh EuÄ®

‹zvµzøu GÊxP.

15. What is Moving Average ?

|P¸® ŒµõŒ› GßÓõÀ GßÚ ?

Section B (5 × 8 = 40)

Answer any  five questions.

16. Find out Harmonic Mean :–

Family : 1 2 3 4 5 6 7 8 9 10

Incomes : 85 70 10 75 500 8 42 250 40 36
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CøŒ ŒµõŒ›ø¯ PõsP :--–

Sk®£® : 1 2 3 4 5 6 7 8 9 10

Á¸©õÚ® : 85 70 10 75 500 8 42 250 40 36

17. Calculate Mean Deviation from mean :–

Height (cm) : 158 159 160 161 162 163 164 165 166

No.of Persons : 15 20 32 35 33 22 20 10 8

Tmk ŒµõŒ›°ß ÁÈ¯õP ŒµõŒ› ¼»UP® PshÔP :–

E¯µ® (öŒ.«.) : 158 159 160 161 162 163 164 165 166

|£ºPÎß

GsoUøP : 15 20 32 35 33 22 20 10 8
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18. What is meant by Time Series ? What are its uses ?

Põ»® Œõº öuõhº Á›øŒ GßÓõÀ GßÚ ? Auß

£¯ßPÒ ̄ õøÁ ?

19. Calculate Standard Deviation :

Class : 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70

Frequency : 8 12 17 14 9 7 4

vmhÂ»UPzøu PõsP :–

ÁS¨¦ : 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70

Aø»öÁs : 8 12 17 14 9 7 4

20. Calculate coefficient of correlation :–

X : 12 9 8 10 11 13 7

Y : 14 8 6 9 11 12 13
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JmkÓÄU öPÊøÁ PnUQkP :–

X : 12 9 8 10 11 13 7

Y : 14 8 6 9 11 12 13

21. Calculate Mean Deviation from the following data :–

Marks : 10 15 20 30 40 50

Frequency : 8 12 15 10 3 2

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x ŒµõŒ› Â»UPzøu PõsP :–

©v¨ö£sPÒ : 10 15 20 30 40 50

Aø»öÁs : 8 12 15 10 3 2
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22. For a distribution the mean is 10, standard deviation

is 4, r1is + 1 and 2 is 4. Obtain the first four moments

about the origin.

J¸ öuõh¸UPõÚ ŒµõŒ› 10, uµ Â»UP® 4, r1 = + 1

2 = 4, OÂØS •uÀ |õßS ö©õö©ßøé PõsP

23. Construct the cost of living index numbers from the

following data :–

Group : Food Fuel Clothing House Rent Miscellaneous

Weight : 47 7 8 13 14

Group Index

Number : 247 293 289 100 236



9 AFN-1420

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x ÁõÌUøP uµ

SÔ±möhsøn PõsP:–

£Sv : EnÄ G›ö£õ¸Ò Eøh Ãmk Cuµ öŒ»ÄPÒ

ÁõhøP

Gøh : 47 7 8 13 14

£Sv SÔ±m

öhs : 247 293 289 100 236

Section C (3 × 15 = 45)

Answer any three questions.

24. From the following details find quartile deviation and

its coefficient :–

Marks : 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60

Frequency : 3 9 15 30 18 5
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RÌÁ¸® ¦ÒÎ ÂÁµ[PøÍ öPõsk, Põ»©õÚ®

©ØÖ® Auß öPÊøÁU PõsP :–

©v¨ö£s : 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60

Aø»öÁs : 3 9 15 30 18 5

25. Calculate Mean and Mode of the following data :–

x : 15 20 25 30 35 40 45 50

f : 4 12 30 60 80 90 95 97

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x ŒµõŒ› ©ØÖ® •Pøh

PõsP :–

x : 15 20 25 30 35 40 45 50

f : 4 12 30 60 80 90 95 97
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26. Compute the Bowley’s measure of skewness for

following data :

Commission No. of  Salesman

100–120 4

120–140 10

140–160 16

160–180 29

180–200 52

200–220 80

220–240 42

240–260 23

260–280 17

280–300 7
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RÌPsh ¦ÒÎ ÂÁµ[PøÍ öPõsk ö£Í¼°ß

•øÓ @Põmh AÍøÁ PnUQkP :–

PÈÄ ÂØ£øÚ¯õÍº

GsoUøP

100 – 120 4

120 – 140 10

140 – 160 16

160 – 180 29

180 – 200 52

200 – 220 80

220 – 240 42

240 – 260 23

260 – 280 17

280 – 300 7
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27. Calculate the coefficient of rank correlation of

10 students of  in two subjects :

Statistics : 3 5 8 4 7 10 2 1 6 9

Economics : 6 4 9 8 1 2 3 10 5 7

Á›øŒ JmkÓÄU öPÊøÁ PõsP :–

¦ÒÎ°¯À : 3 5 8 4 7 10 2 1 6 9

ö£õ¸Î¯À : 6 4 9 8 1 2 3 10 5 7

28. Fit a straight line for the following data by least square:

x : 1 3 5 7  9 11 13 15

y : 3 11 20 28 35 45 53 60

RÌÁ¸® ÂÁµ[PÐUS SøÓ¢u ÁºUP •øÓ°ß RÌ

@|º@Põk JßøÓ ö£õ¸zxP :–

x : 1 3 5 7  9 11 13 15

y : 3 11 20 28 35 45 53 60

***
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Third Semester

Corporate Secretaryship

COMPANY LAW AND SECRETARIAL PRACTICE–I

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

Fill in the blanks with correct answer :

1. One who works for the formation of a company is known

as ————.

{Ö© @uõØÖÂ¨£uØPõÚ @Áø»PøÍ öŒ#£Áº

———— GÚ¨£kÁõº.

2. Certificate to commencement of business must be

obtained only by ———— companies.

öuõÈÀ öuõhUPa ŒõßÔuÌ ———— {Ö©[PÍõÀ

ö£Ó¨£h @Ási¯x AÁ]¯®.

AFN-1421    BCS333
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3. A private company can have maximum ————

members.

J¸ uÛ {Ö©® AvP£mŒ©õP ————

EÖ¨¤ÚºPøÍ öPõsi¸US®.

4. A company comes into existence only by the issue of

————.

———— ö£ØÓ ¤ßÚ@µ J¸ {Ö©® öŒ¯À£õmiØS

Á¸®.

5. Memorandum of a company limited by guarantee

having a share capital must be in accordance with

Table————.

EzvµÁõuzvß£i Áøµ¯ÖUP¨£mh £[S •uø»U

öPõsh {Ö©zvß Aø©¨¦ •øÓ@¯k AmhÁøn

———— ß £i C¸UP @Ásk®.
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6. Memorandum of association is the ———— of the

company.

Aø©¨¦ •øÓ@¯k Gß£x {Ö©zvß ————

BS®.

7. Articles of association can be altered by passing a

 ———— resolution.

Œ[P |øh•øÓ@¯møh ———— wº©õÚ

{øÓ@ÁØÓzvß ‰»® v¸zv  Aø©UP»õ®.

8. In a limited company the liability of a member is limited

to ———— value of the shares.

 J¸ Áøµ¯Ö {Ö©zvÀ EÖ¨¤Ú›Ýøh¯ ö£õÖ¨¦

£[Qß ———— ©v¨¤ß£i Áøµ¯øÓ

öŒ#¯¨£mkÒÍx.
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9. A director can be director in other companies which

should not be more than ————.

J¸ {Ö©zvß C¯USÚº ©ØÖ® {Ö©zv¾®

C¯US|µõP •i²®, Cuß AvP£mŒ GsoUøP

————.

10. A qualified company secretary is mandatory in a public

limited company with capital of ———.

———•u¾hß öPõsh J¸ ö£õx {Ö©zvÀ

uSv¯õÚ {Ö© öŒ¯»õÍº Gß£x Pmhõ¯©õS®.

State whether the following statements are True or False :

11. A Company Law Board is a quasi judicial body.

{Ö© Œmh Áõ›¯® J¸ SøÓ¯ÍÄ Œmh•øÓ Aø©¨¦

BS®.
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12. Certificate of incorporation is a conclusive evidence for

the legal personality of the company.

 Tmk¸ÁõUPa ŒõßÔuÌ Gß£x J¸ •Êø©¯õÚ

ŒõßÓõP {Ö© Œmh EÖ¨¦ÂØS EÒÍx.

13. The first secretary is appointed by the promoters at the

pre incorporation stage.

{Ö© E¸ÁõUP {ø»°À •uÀ öŒ¯»õÍøµ

@uõØÖÂ¨£õÍº {¯©Ú® öŒ#QÓõº.

14. Articles of association can be amended by the board of

directors.

 C¯US|º AøÁ¯õÀ Œ[P |øh•øÓ@¯miøÚ

v¸zu® öŒ#¯ •i²®.

15. All the shareholders are member in a company.

 AøÚzx £[S|ºPÐ® {Ö©zvß EÖ¨¤ÚºP@Í.

mailto:�P@�.
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Section  B (5 × 8 = 40)

Answer any five questions.

16. What are the important features of a company ?

Explain.

J¸ {Ö©zvß •UQ¯ ]Ó¨¤¯À¦PÒ ¯õøÁ ?

ÂÍUSP.

17. Distinguish between Private company and Public

company.

uÛ{Ö©® ©ØÖ® ö£õx {Ó©® BQ¯ÁØÔØQøh@¯

EÒÍ @ÁØÖø©PÒ ̄ õøÁ ?

18. What is meant by corporate veil ? State circumstance

under which corporate veil can be pierced.

{Ö©zvøµ GßÓõÀ GßÚ ? G¢öu¢u ‹Ì{ø»PÎÀ

{Ö©zvøµ Â»UQUöPõÒÍ£h»õ®.
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19. What is memorandum of association ? What are its

contents ?

Aø©¨¦ •øÓ@¯k GßÓõÀ GßÚ ? Auß TÖPÒ

¯õøÁ ?

20. What are the consequences of misstatement in

prospectus ?

uPÁ»ÔUøP°À uÁÓõÚ uPÁÀPøÍ öPõsi¸¨£uß

ÂøÍÄPÒ ̄ õøÁ ?

21. What are preference shares ? State its kinds.

•ßÝ›ø©¨ £[SPÒ ¯õøÁ ? Auß ÁøPPøÍ

SÔ¨¤kP.

22. Explain the statutory position of a company secretary.

J¸ {Ö© öŒ¯»õÍ›ß Œmh¨£i¯õÚ {ø»PøÍ

ÂÁ›.
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23. What are the secretarial duties relating to incorporation

of a Public Limited Company ?

J¸ ö£õx {Ö© E¸ÁõUP® öuõhº£õÚ {Ö©

öŒ¯»õÍ›ß Phø©PÒ ̄ õøÁ ?

Section C (3 × 15 = 45)

Answer any three questions.

24. Enumerate the powers that are exercised by the

Company Law Board.

{Ö© Œmh Áõ›¯zvß AvPõµ öŒ¯À£õkPøÍ ÂÁ›.

25. What are the secretarial duties regarding allotment of

shares ? Explain.

£[S JxURk öuõhº£õÚ öŒ¯»õÍ›ß Phø©PÒ

¯õøÁ ? ÂÍUSP.
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26. Enumerate the qualifications and disqualifications of

a company secretary.

J¸ {Ö© öŒ¯»õÍ›ß uSvPÒ ©ØÖ®

uSv°ßø©PøÍ ÂÁ›.

27. Describe the statutory duties of company secretary

under the Companies Act ?

{Ö© Œmhzvß RÌ {Ö© öŒ¯»õÍ›ß Œmh•øÓ

Phø©PøÍ ÂÁ›.

28. While the directors are the brain of a company, the

secretary is its eyes, ears and hands—Explain.

“{Ö© C¯US|ºPÒ {Ö©zvß ‰øÍ¯õP öŒ¯À£k®

@£õx, öŒ¯»õÍºPÒ Auß PsPÍõPÄ®, PõxPÍõPÄ®,

øPPÍõPÄ® öŒ¯À£kQÓõº”—ÂÍUSP.

***
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Fourth Semester

Corporate Secretaryship

ADVANCED FINANCIAL ACCOUNTING—II

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

State True or False :

1. Current Accounts are maintained in case of

Fluctuating capital system.

©õÖ£k® ‰»uÚ Aø©¨¤ß@£õx |h¨¦ PnUS

{ºÁõQUP¨£kQÓx.

2. In case the newly admitted partner pays cash for his

share of goodwill, it will be credited to the old partners

in their sacrificing ratio.

AFN-1422   BCS431
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¦vuõP @ŒºUP¨£mh TmhõÎ uß £[QØUPõÚ

|Øö£¯¸US £n® öŒ¾zx®@£õx, A¨£n® £øÇ¯

TmhõÎPÎß v¯õP ÂQuzvÀ ÁµÄ

øÁUP¨£kQÓx.

3. A dormant partner has to give public notice of his

retirement.

TmhõÎ uÚx K#øÁ ö£õx AÔÂUøP¯õP

öPõkUP¨£h @Ásk®.

4. Dissolution of a firm automatically results in dissolution

of a partnership.

Tmhõsø© Pø»¨¤ß •iøÁ TmhõÎPÎß

Pø»¨£õPÄ® öPõÒÍ»õ®.

5. Partner’s wife loan is treated at par with other

Liabilities of the Partnership firm.

Tmhõsø©°À TmhõÎ°ß ©øÚÂ°hª¸¢x

ö£ØÓ PhÚõÚx Cuµ ö£õÖ¨¦PøÍ¨ @£õ»@Á Œ©©õP

P¸u¨£k®.
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 Fill in the blanks :

6. A Banking partnership firm can have not more than

————.

Á[Q Œõº¢u Tmhõsø© ———— |£ºPÐUS @©À

öPõsi¸UP Thõx.

7. An ordinary partnership firm can have ————.

J¸ Œõuõµn Tmhõsø© ———— |£ºPÐUS @©À

öPõsi¸UP Thõx.

8. In the event of death of a partner, the accumulated

profits and losses are shared by the partners ————

ratio.

 J¸ TmhõÎ°ß CÓ¨¤ØS ¤ß SÂ¢xÒÍ C»õ£®

©ØÖ® |mhzøu TmhõÎPÒ ———— ÂQuzvÀ

£[QmkUöPõÒQßÓÚº.
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9. In the event of dissolution of a partnership firm, the

provision for doubtful debts is transferred to ————.

Tmhõsø© Pø»UP¨£k® ‹Ì{ø»°À I¯UPhß

JxUPõÚx ———— ©õØÓ¨£kQÓx.

10. In the event of dissolution of firm, the partners assets

are first used for payment of the ————.

Tmhõsø© Pø»¨¤ß@£õx TmhõÎPÎß

öŒõzxUPøÍ •u¼À ———— £¯ß£kzu¨£kQÓx.

Short questions :

11. What is Goodwill ?

|Øö£¯º GßÓõÀ GßÚ ?

12. How is to compute gaining Ratio ?

Buõ¯ ÂQuzøu GÆÁõÖ PnUQkÁõ# ?
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13. What is ‘Revaluation Account’ ?

©Ö©v¨¥mk PnUS GßÓõÀ GßÚ?

14. What is retirement of a Partner ?

Kº TmhõÎ°ß K#Ä Gß£x ̄ õx ?

15. Write a note on dissolution of a firm.

Tmhõsø© Pø»¨¦ £ØÔ SÔ¨¦ ÁøµP.

Section  B (5 × 8 = 40)

Answer any five questions.

16. Aju, Biju and Giju started business on 1st January 2009

with capitals of Rs. 2,00,000, 1,50,000 and 1,00,000

respectively. The profits for the year 2009 amounted to

Rs.3,20,000 and the partners drawings had been Aju

Rs. 75,000, Biju Rs. 25,000 and Giju Rs. 15,000. The

profit sharing ratio of Aju, Biju and Giju was 4 : 3 :2.

Calculate interest on capital at 5%.
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Aáü, ¤áü, ©ØÖ® âáü 1.1.2009 AßÖ •øÓ@¯

¹.2,00,000, ¹. 1,50,000 ©ØÖ® ¹. 1,00,000

‰»uÚzxhß Â¯õ£õµzøu öuõh[QÚº. öuõÈÀ

öuõh[Q¯ Bsiß C»õ£©õÚx ¹. 3,20,000 ©ØÖ®

TmhõÎPÎß Gk¨¦ Aáü ¹. 75,000, ¤áü ¹. 25,000

©ØÖ® âáü ¹. 15,000 BS®. Aáü,¤áü ©ØÖ®

âáüÂß C»õ£ £QºÄ ÂQu® 4:3:2 •uÀ «x

Ámiø¯ 5% zvÀ PnUQkP.

17. Vanitha and Savitha are partners sharing profit and

losses in the ratio of 5 : 3. They decided to admit

Sangeetha. Vanitha surrenders 3
8 th shares of her

profit and Savitha 28 th  share of her profit in favour of

 Sangeetha. Calculate the new profit sharing ratio of

all partners.

ÁÛuõ ©ØÖ® ŒÂuõ TmhõÎPÒ C»õ£ |mhzøu 5:3

GßÓ ÂQuzvÀ £[QmkU öPõÒQßÓÚº. CÁºPÒ

Œ[RuõøÁ Tmhõsø©°À @ŒºzxUöPõÒÍ

•iöÁkzuÚº. ÁÛuõ uÚx C»õ£ £QºÂÀ 3
8

£Svø¯²®, ŒÂuõ uÚx C»õ£ £QºÂÀ 2
8
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£Svø¯²® Œ[RuõÂØUPõP öPõkzuÚº. ¦v¯ C»õ£

£QºÄ ÂQuzøu AøÚzx TmhõÎPÐUS®

PnUQkP.

18. Ragul, Priya and Lakshmi are partners sharing profits

in the ratio of 5 : 4 : 3. Lakshmi retires and surrenders

1
12th  to Ragul and the remaining in favour of Priya.

Calculate the gaining ratio.

µõSÀ, ¤›¯õ ©ØÖ® »èª TmhõÎPÒ, C»õ£zøu

5 : 4 : 3 GßÓ ÂQuzvÀ £[QmkU öPõÒQßÓÚº.

»èª K#Ä ö£ØÖ uÚx £[QÀ 1
12 ø¯ µõS¾US®

«u•ÒÍ £[øP ¤›¯õÂØUS® öPõkzxÒÍõº. Buõ¯

ÂQuzøu PnUQkP.

19. What are the adjustments to be made when a partner

is retired or died ?

Kº TmhõÎ°ß CÓ¨¦ AÀ»x K#Âß@£õx

@©ØöPõÒÍ¨£h @Ási¯ Œ›UPmhÀPÒ ̄ õx ?
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20. A, B and C are in partnership sharing profits and losses

in the proportion of 4 : 3 : 2. Their Balance Sheet on

December 31, 2009 stood as follows :

Liabilities Rs. Assets Rs.

Capital Accounts : Land and Buildings 5,500

A 4,000 Stock in trade 2,000

B 2,000 Debtors 1,000

C 500 6,500 Cash in hand 1,500

Creditors 3,500

——— ———
10,000 10,000

——— ———

They agree to dissolve partnership as from 31st

December 2009. A agrees to take over the stock at a

valuation of Rs. 1,500 and the debtors at a valuation of

Rs. 700. The land and building are sold at auction for

Rs. 2,700. Close the books of the firm.
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Tmhõsø©°À A, B ©ØÖ® C TmhõÎPÒ C»õ£

|mhzøu 4 : 3 : 2 GßÓ ÂQuzvÀ £[QmkU

öPõÒQßÓÚº. CÁºPÎß C¸¨¦ {ø» SÔ¨£õÚx

iŒ®£º 31, 2009 US ¤ßÁ¸©õÖ.

ö£õÖ¨¦PÒ : ¹. öŒõzxUPÒ : ¹.

‰»uÚ PnUSPÒ : {»® ©ØÖ® Pmih® 5,500

A 4,000 ÁºzuPzvÀ EÒÍ ŒµUS 2,000

B 2,000 PhÚõÍºPÒ 1,000

C 500 6,500 öµõUP C¸¨¦ 1,500

PhÜ¢@uõº 3,500

———— ————

10,000 10,000

———— ————

CÁºPÒ 31.12.2009 •uÀ Tmhõsø©ø¯ Pø»UP

J¨¦UöPõshÚº. A Tmhõsø©°ß ŒµUQ¸¨ø£

¹.1,500 GßÓ ©v¨¤¾® , PhÚõÍºPøÍ ¹. 700 GßÓ

©v¨¤¾® GkzxUöPõÒÍ Jm¦UöPõshõº {»®

©ØÖ® Pmih® ¹. 2,700 US H»zvÀ Âh¨£mhx.

Tmhõsø© HkPøÍ {øÓÄ öŒ#P.
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21. What do you mean by partnership Deed ? What are its

contents ?

Tmhõsø© BÁn® £ØÔ } AÔÁx ¯õx ? Auß

EÒÍhUP® ̄ õøÁ ?

22. Prasad, Prakash and Praveen are partners sharing

profits and losses in the ratio of 2 : 1 : 1. Praveen retires

and it is decided to raise his share of goodwill alone

without raising a goodwill account. The goodwill of the

firm is valued at Rs. 12,000. The new ratio of continuing

partner is 2 : 1.

Pass necessary Journal entry.

TmhõÎP»õÚ ¤µŒõz, ¤µPõè ©ØÖ® ¤µÃß C»õ£

|mhzøu 2:1:1 GßÓ ÂQuzvÀ

£[QmkUöPõÒQßÓÚº. ¤µÃß K#¦ö£ØÖ |Øö£¯º

PnUøP E¯ºzuõ©À CÁº £[SUPõÚ |Øö£¯øµ

©mk® E#ºzvUöPõÒÍ •iÄ öŒ#uõº.

Tmhõsø©°ß |Øö£¯º ¹. 12,000 GÚ

©v¨¤h¨£mhx. öuõh¸® TmhõÎPÎß ¦v¯

ÂQu® 2 : 1 BS®. @uøÁ¯õÚ SÔ¨@£mk¨ £vÄPÒ

u¸P.
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23. What are the methods of dissolution?

Tmhõsø© Pø»¨¤ß £À@ÁÖ •øÓPÒ ̄ õøÁ ?

Section  C (3 × 15 = 45)

Answer any three questions.

24. Ajay and Vijay entered into partnership on 1st January

2009 and contributed capitals of Rs. 1,50,000 and

Rs. 1,00,000 respectively. They share profits or losses

in the ratio of 1 : 1. Vijay is to be allowed a salary of Rs.

25,000 per year. Interest on capital is to be allowed at 6

% per annum. During the year Ajay withdrew

Rs. 20,000 and Vijay Rs. 25,000 interest on the same

being Rs. 350 and Rs. 500 respectively. Profit during

the year before the above mentioned transactions was

Rs. 70,000. Prepare Profit and Loss Appropriation

Account to show the distribution of profits among the

partners and also prepare capital accounts of partners

when their capitals are fluctuating.
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Aá# ©ØÖ® Âá# 1.1.2009 AßÖ Tmhõsø©ø¯

öuõh[Q ‰»uÚ©õP •øÓ@¯ ¹. 1,50,000 ©ØÖ®

¹. 1,00,000 zøu ÁÇ[QÚº. CÁºPÒ C»õ£ |mhzøu

1:1 GßÓ ÂQuzvÀ £[QmkUöPõÒQßÓÚº.BskUS

Œ®£Í©õP ¹. 25,000 Âá#US AÝ©vUP¨£mhx •uÀ

«uõÚ Ámi BskUS 6 % AÝ©vUP¨£mhx. |h¨¦

BsiÀ Aá°ß Gk¨¦ ¹. 20,000 ©ØÖ® Âá#

¹. 25,000 CuØUPõÚ Ámi •øÓ@¯ ¹. 350 ©ØÖ®

¹. 500 BS®. @©ØSÔ¨¤mh |hÁiUøPPÐUS

•ß£õP |h¨¦ Bsiß C»õ£® ¹. 70,000. C»õ£ |mh

Œ›UPmhÀ PnUøP u¯õº öŒ#x AvÀ

TmhõÎPÐUPõÚ C»õ£ ÁÇ[PÒPøÍ Põs¤zx,

TmhõÎPÎß •uÀ ©õÖ£k® £mŒzvÀ

TmhõÎPÎß ‰»uÚ PnUSPøÍ u¯õº öŒ#P.

25. Explain the various methods of treating goodwill at the

time of retirement or death of a partner ?

J¸ TmhõÎ CÓUS® @£õ@uõ AÀ»x K#Äö£Ö®

@£õ@uõ |Øö£¯º øP¯õÍ¨£k® £À@ÁÖ •øÓPøÍ

ÂÁ›.
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26. Balu and Vembu are partners sharing profits and losses

in the ratio of  3 : 2. Their balance sheet as at 31st March

2009 was as follows :

Liabilities Rs. Assets Rs.

Sundry Creditors 4,50,000 Cash at Bank 3,75,000

Bills payable 1,50,000 Sundry Debtors 1,35,000

Capital Accounts : Stock in trade 3,00,000

Balu 4,50,000 Furniture 90,000

Vembu 1,50,000 Buildings 3,00,000

————— —————

12,00,000 12,00,000

————— —————

They decided to admit Murugan into partnership on

the following terms :

(a) Furniture is to be depreciated by 10%.

(b) Stock is to be valued at Rs. 2,70,000.

(c) Buildings are to be appreciated by Rs. 75,000.

(d) Provision for doubtful debts is to be created on

sundry debtors at 10%.
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(e) Goodwill of Rs. 4,50,000 is to be raised.

(f) Murugan shall bring Rs. 1,50,000 for 1/4 th share

of profits.

You are required to pass journal entries and show

Revaluation Account, Capital Accounts of Partners and

Balance Sheet of the New firm after the admission of

Murugan.

£õ¾ ©ØÖ® @Á®¦ TmhõÎPÒ C»õ£ |mhzøu 3:2

GßÓ ÂQuzvÀ £[QmkUöPõÒQßÓÚº. CÁºPÍx

C¸¨¦ {ø» SÔ¨¦ 31.3.2009 ® |õøÍ¯x

¤ßÁ¸©õÖ:

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

£Ø£» PhÜ¢@uõº 4,50,000 Á[Q öµõUP® 3,75,000

öŒ¾zuØS›¯ ©õ.Rmk 1,50,000 £Ø£» PhÚõÍº 1,35,000

‰»uÚ PnUSPÒ : ÁºzuP ŒµUQ¸¨¦ 3,00,000

£õ¾ 4,50,000 AøÓP»ß 90,000

@Á®¦ 1,50,000 Pmih® 3,00,000

————— —————
12,00,000 12,00,000

————— —————
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¤ßÁ¸® ÂvP¾USm£mk •¸PøÚ

Tmhõsø©°À @ŒºzxUöPõÒÍ •iÄ öŒ#uÚº :

(a) AøÓP»ß «x 10% @u#©õÚ® AÎ¨£x.

(b) ŒµUQ¸¨ø£ ¹. 2,70,000 GÚ ©v¨¤kÁx.

(c) Pmihzvß ©v¨¤À ¹. 75,000 zøu E¯ºzxÁx.

(d) £Ø£» PhÚõÍº «x 10% I¯UPhß JxUøP

E¸ÁõUSÁx.

(e) |Øö£¯º ¹. 4,50,000 E¸ÁõUSÁx.

(f) •¸PÛß 1/4 £[S C»õ£ £QºÄUS ¹. 1,50,000

‰»uÚ® öPõskÁ¸Áx.

SÔ¨@£mk £vÄPÒ u¢x, ©Ö©v¨¥mk PnUS,

TmhõÎPÎß ‰»uÚ PnUS ©ØÖ® ¦v¯

TmhõÎ°ß @ŒºUøPUS¨ ¤¢øu¯ C¸¨¦ {ø»

SÔ¨ø£ u¯õº öŒ#²®£i } @PmkUöPõÒÍ¨£kQÓõ#.

27. Explain the Accounting treatment in case of insolvency

of a partner.

J¸ TmhõÎ ö|õi¨¦ {ø»ø¯ Aøh²®

‹Ì{ø»°À øP¯õÍ¨£k® PnURmk •øÓPøÍ

ÂÁ›.
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28. X, Y and Z are partners sharing profit and losses as

3 : 2 : 1. They decided to dissolve their partnership and

the balance sheet as at that date was as follows :

Liabilities : Rs. Assets : Rs.

Capitals : Buildings 26,000

X 30,000 Furniture 8,000

Y 20,000 Debtors 40,000

‘X’ s Loan 15,000 Stock 17,000

Creditors 35,000 Cash 4,000

‘Z’ s capital 5,000

———— ————
1,00,000 1,00,000

———— ————

The assets other than cash realised Rs. 80,000 and

expenses of winding up amount to Rs. 10,000 . X and Y

are solvent but Z is unable to bring anything close the

books of the firm. Follow the rule in Garner vs. Murray

case.
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X, Y ©ØÖ® Z C»õ£ |mhzøu 3:2:1 GßÓ ÂQuzvÀ

£[QmkUöPõÒÐ® TmhõÎPÒ. CÁºPÒ u[PÍx

Tmhõsø©ø¯ Pø»UP •iÄ öŒ#uÚº, AßøÓ¯

vÚzvß C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ :

ö£õÖ¨¦PÒ : ¹. öŒõzxUPÒ : ¹.

‰»uÚ® : Pmih® 26,000

X 30,000 AøÓP»ß 8,000

Y 20,000 PhÚõÍº 40,000

‘X’ ß Phß 15,000 ŒµUQ¸¨¦ 17,000

PhÜ¢@uõº 35,000 öµõUP® 4,000

‘Z’ ß •uÀ 5,000

———— ————

1,00,000 1,00,000

———— ————

öµõUP® AÀ»õu Cuµ öŒõzxUPÒ £n©õUP¨£mhx

¹. 80,000 ©ØÖ® Pø»¨¦UPõÚ öŒ»Ä ¹. 10,000 BS®.

X  ©ØÖ® Y öPõkUS® ‹Ì{ø»°¾® ‘Z’ GxÄ®

öPõkUP •i¯õu ‹Ì{ø»°¾® EÒÍõº. PõºÚº Gvº

•@µ Âvø¯ £¯ß£kzv Tmhõsø©°ß HkPøÍ

{øÓÄ öŒ#P.

***
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B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2011

Fourth Semester

COMPUTER APPLICATIONS IN CORPORATE
OFFICES

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 60 Marks

                                Part A                  (10 × 1 = 10)

Answer all questions.

1. High Speed, and Largest storage space computer

system among the following is

(a) Micro computer.

(b) Mini computer.

(c) Mainframe computer.

(d) Super computer.

AFN-1423   BCS432



2 AFN-1423

2. The internal DOS command is

(a) FORMAT.

(b) DISKCOPY.

(c) COPY.

(d) UNDELETE.

3. The shortcut key for Copy Command is

(a) CTRL + C.

(b) CTRL + V.

(c) CTRL + X.

(d) CTRL + S.

4. Custom animation is related to

(a) MS Word.

(b) MS Power Point.

(c) Excel.

(d) MS Access.
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5. The shortcut key for selecting entire Row in Excel.

(a) CTRL + ENTER.

(b) CTRL + SPACE BAR.

(c) CTRL + ALT.

(d) SHIFT + SPACE BAR.

6. The Autosum icon  appear in the

(a) Standard Tool Bar.

(b) Format Tool Bar.

(c) Clipboard.

(d) Chart Tool Bar.

7. The MS-Access is a

(a) RDBMS.

(b) DBMS.

(c) Worksheet.

(d) Web Designer.
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8. The default field size of number data type is

(a) 8 byte.

(b) 4 byte.

(c) 16 byte.

(d) 1 byte.

9. A Network that exists within a single building or even

a group of adjacent building called.

(a) LAN.

(b) MAN.

(c) WAN.

(d) SAN.

10. The SDLC stands for

(a) System Design life cycle.

(b) System Development life cycle.

(c) System Design Limited Corporation.

(d) System Development limited corporation.
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Part  B (5 × 4 = 20)

Answer any five questions.

11. Distinguish between Data and information.

12. Explain the Application software.

13. How is to create a document in word 2000 ?

14. Define ‘Spread Sheet’.

15. Explain the usage of Formula Bar in Excel.

16. How is to create a Table in MS ACCESS ?

17. Explain the features of E mail.

18. Explain the applications of E–Commerce.
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Part C (3 × 10 = 30)

Answer any three questions.

19. Explain any Five Internal Commands with example.

20. Explain the applications of MS Word in offices.

21. Explain the procedure for creating chart in MS Excel

with example.

22. Explain various data types in MS ACCESS.

23. What are the features of Networking ?

24. Explain the stages of SDLC.

***
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B.com. (CORPORATE SECRETARYSHIP)
DEGREE  EXAMINATION, APRIL 2011

Fourth  Semester

COMPANY LAW AND SECRETARIAL
PRACTICE—II

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

1. A person cannot hold off ice as a director

simultaneously in more than

(a) 5 companies

(b) 10 companies

(c) 20 companies

(d) 50 companies

AFN-1424    BCS433
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J¸ |£º, C¯US|µõP  ———  {ÖÁÚ[PÐUS @©À

J@µ •øÓ°À £o¯õØÓ •i¯õx.

(A) 5 {Ö©[PÒ.

(B) 10 {Ö©[PÒ.

(C) 20 {Ö©[PÒ.

(D) 50 {Ö©[PÒ.

2. The remuneration of a Managing Director cannot

exceed.

(a) 1 percent of the net profit

(b) 5 percent of the net profit

(c) 10 percent of the net profit

(d) Rs.50,000

@©»õsø© C¯USÚ›ß Fv¯® ————  @©À

@£õPUThõx
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(A) 1 ŒuÃu® {Pµ »õ£zvÀ

(B) 5 ŒuÃu® {Pµ »õ£zvÀ

(C) 10 ŒuÃu® {Pµ »õ£zvÀ

(D) ¹. 50,000.

3. The central government has power to call

(a) An annual general meeting

(b) A statutory meeting

(c) An extraordinary meeting

(d) None of these

©zv¯ Aµ”US ————  |hzu AvPõµ® C¸UQÓx.

(A) Bsk ö£õxU Tmh®.

(B) Œmh•øÓU Tmh®.

(C) ]Ó¨¦¨ ö£õxUPmh®.

(D) @©ØTÔ¯ GxÄ® CÀø».



4 AFN-1424

4. Voluntary winding up means winding up by

(a) Members

(b) Creditors

(c) Government

(d) Debtors

uß Â¸¨£ Pø»¨¦ Gß£x Pø»¨¦ CÁºPÒ ‰»®

|øhö£Ö®

(A) EÖ¨¤ÚºPÒ

(B) PhÜ¢@uõº.

(C) AµŒõ[P®.

(D) PhÚõÎPÒ.

5. An annual General Meeting can be called by giving

a notice of

(a) 14 days

(b) 21days
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(c) 7 days

(d) 3 days

J¸ Bsk ö£õxUTmhzvØS •ß Tmh AÔÂ¨¦

öPõkUP¨£h@Ásk®.

(A)  14 |õmPÒ.

(B) 21 |õmPÒ.

(C) 7 |õmPÒ.

(D) 3 |õmPÒ.

6. Dividend paid in between two meeting is called

(a) Statutory dividend

(b) Final dividend

(c) Dividend interest

(d) Interim dividend
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Cµsk Tmh[PÐUS Cøh°À ÁÇ[P¨£k®

£[Põuõ¯®

(A)  Œmh•øÓ £[Põuõ¯®.

(B) CÖv £[Põuõ¯®.

(C) £[Põuõ¯ Ámi.

(D) CøhUPõ» £[Põuõ¯®.

7. Only ————— can be appointed as liquidators

(a) Individuals

(b) shareholders

(c) directors

(d) Auditors

———— ©mk@© Pø»¨£õÍºPÍõP {¯©n® öŒ#¯

•i²®

(A)  uÛ |£ºPøÍ

(B) £[SuõµºPøÍ
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(C) C¯USÚºPøÍ

(D) uoUøP¯õÍºPøÍ

 8. The minutes book of a Company must be kept

at ——————,

J¸ {Ö©zvß {PÌÄU SÔ¨¦ ¦zuP® —————

A¾Á»PzvÀ C¸UP @Ásk®.

9. Amalgamation and reconstruction is dealt U/S

 of the Companies ACT 1956.

Cøn¨¦ ©ØÖ® ©Ö^µø©¨¦ Gß£x {Ö©aŒmh®

1956&® ¤›Ä Gs ———— À ÂÁõvUP¨£kQÓx.
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10. ———— is necessary to conduct the proceedings at a

meeting.

———— Gß£Áº TmhzvÀ |hÁiUøP Gk¨£uØS

@uøÁ¨£kQÓõº.

11. Every public company must have at least————

directors.

JÆöÁõ¸ ö£õx {Ö©•® SøÓ¢u £mŒ®  ————

C¯US|ºPøÍ öPõsi¸UP@Ásk®.

State ‘‘True’’ or ‘‘False’’

Œ›¯õ (or) uÁÓõ TÖP.

12. Directors must be appointed by a Company in

General Meeting.

J¸ {Ö©® C¯US|øµ Bsk ö£õxU TmhzvÀ uõß

{¯©Ú® öŒ#¯¨£h@Ásk®.
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13. Directors are agents of the company.

C¯US|ºPÒ J¸ {Ö©zvÀ •PÁºPÍõP

P¸u¨£kQÓõºPÒ.

14. A Managing Director can be appointed for a period

of five years at a time.

Kº @©»õsø© C¯US|º I¢x Bsk Põ»zvØS

J¸ •øÓ {¯ªUP¨£kQÓõº.

15. Two or more companies combine into one company is

called Amalgamation.

 Cµsk AÀ»x AuØS @©Ø£mh {Ö©[PÒ JßÓõP

@Œºzx J¸ {Ö©©õP ©õÖÁuØS Cøn¨¦

AøÇUP¨£kQÓx.
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Section  B (5 × 8 = 40)

Answer any five questions.

16. What are the liabilities of a director ?

C¯US|›ß ö£õÖ¨¦PÒ ̄ õøÁ ?

17. What are the restrictions imposed on the payment of

managerial remuneration ?

@©»õsø©°Ú›ß Fv¯® öŒ¾zxÁuØS

ÂvUP¨£mh uøhPÒ ¯õøÁ ?

18. What are the duties of secretary in Extraordinary

General Meeting ?

]Ó¨¦¨ ö£õxUTmhzvÀ öŒ¯»›ß Phø©PÒ

¯õøÁ ?
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19. State the powers of court regarding to prevent the

oppression  and mismanagement.

AhUS •øÓø¯²®, uÁÓõÚ @©»õsø©ø¯²®

uk¨£x öuõhº£õP }v©ßÓzvß AvPõµ[PøÍ

TÖP.

20. What are the procedure for winding up ?

Pø»¨¤ØPõÚ |øh•øÓPÒ ̄ õøÁ ?

21. What are the secretarial  duties regarding

amalgamation of companies ?

{Ö©[PÎß Cøn¨¦ öuõhº£õP öŒ¯»›ß

Phø©PÒ ̄ õøÁ ?
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22. Write short notes on  :

1. Quorum,

  2. Proxy

]Ö SÔ¨¦ ÁøµP.

1. SøÓöÁs.

2. ©õØÓõÒ

23. When is the office of a director deemed to be

vacated ?

G¨ö£õÊx C¯US|º £uÂ Põ¼¯õÁuõP

P¸u¨£kQÓx.

Section C (3 × 15 = 45)

Answer any three questions.

24. Explain the rights and duties of Director.

C¯US|›ß E›ø©PÒ ©ØÖ® Phø©PøÍ ÂÍUSP.
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25. Discuss the provisions relating to appointment of

managing director.

@©»õsø© C¯US|º {¯©Ú® öuõhº£õP EÒÍ

ŒµzxUPøÍ ÂÁõv.

26. What is Statutory Meeting ? What business is

conducted at this meeting  ?

Œmh•øÓU Tmh® GßÓõÀ GßÚ ? CUTmhzvÀ

ÂÁõvUP¨£k® ÂÁµ[PÒ ̄ õøÁ ?

27 Explain the provisions relating to creditors voluntary

winding up.

Phß ÁÇ[Q@¯õ›ß uß Â¸¨£U Pø»¨¦

öuõhº£õÚ ŒµzxUPøÍ ÂÍUSP.

28. Explain the powers of inspectors in the investigation.

¦»Úõ#ÂÀ B#ÁõÍºPÎß AvPõµ[PøÍ ÂÍUSP.

***
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Fifth Semester

Corporate Secretaryship

CORPORATE ACCOUNTING—I

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all the questions.

Fill in the blanks :

1. Forfeiture of shares is made by ————.

———<BÀ £[S JÖ¨¤Ç¨¦ öŒ#¯¨£kQÓx.

2. Convertible debentures could be converted into

———.

©õØÓzuUP Phß £zvµ[PÒ ———— BP

©õØÓ¨£h»õ®.

AFN-1425    BCS531
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3. ———— is a statement of assets and liabilities on a

given date.

———— Gß£x J¸ SÔ¨¤mh |õÎÀ EÒÍ

öŒõzxUPÒ ©ØÖ® ö£õÖ¨¦PÎß £mi¯À BS®.

4. The excess of purchase consideration over the net asset

in called ————.

öPõÒ•uÀ ©Ö £¯ß, {Pµ öŒõzxUPøÍ Âh AvP©õP

C¸¨¤ß Ax ———— GÚ¨£k®.

5. Liabilities not taken over by the new firm of the time of

amalgamation will be transferred to ————.

JßÔøn¨¤ß @£õx, ¦v¯ {Ö©zuõÀ HØÖU

öPõÒÍ¨£hõu ö£õÖ¨¦UPÒ ———— PnUQØS

©õØÓ® öŒ#¯¨£k®.
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State whether the following statement one true or false.

6. Calls in arrears in a income.

AøÇ¨¦UPÎß {¾øÁ, J¸ Á¸©õÚ©õS®.

7. Profit on redemption of debentures is taken to Profit

and Loss account.

Phß £zvµ[PÎß «m¤ß C»õ£zøu, C»õ£ |mhU

PnUQØS Akzxa öŒÀ» @Ásk®.

8. Certified annual accounts are submitted to the

Chartered Accountant.

ŒõßÓÎUP¨£mh Bsk CÖvU PnUSPÒ £mh¯

PnUPõÎh® Œ©º¨¤UP¨£kQÓx.
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9. Any balance in the general reserve of the amalgamating

firms is transfered to revaluation account.

JßÔønUP¨£k® {Ö©[PÎß ö£õxUPõ¨¤¾ÒÍ

öuõøP, ©Ý©v¨¥mk PnUQØS ©õØÓ¨£k®.

10. The consent of the public in necessary for company

reconstruction.

{Ö© ̂ µø©¨¦ öŒ#¯ ö£õx©UPÎß J¨¦uÀ @uøÁ.

Choose the correct answer :

11. Profit on cancellation of own debentures is transfered

to ———— account.

(a) Profit and Loss account.

(b) Balance sheet.

(c) Dividend equalisation account.

(d) Capital reserve.
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öŒõ¢u Phß £zvµ[PøÍ µzx öŒ#ÁvÀ QøhUS®

C»õ£® PnUQØS ©õØÓ¨£kQÓx.

(A) C»õ£ |mh® PnUS.

(B) C¸¨¦ {ø»U SÔ¨¦.

(C) £[Põuõ¯ Œ©ß£õmk PnUS.

(D) ‰»uÚU Põ¨¦.

12. Redeemable preference shares can be redeemed out of

(a) Sale of investments.

(b) Divisible profits.

(c) Proceeds of fresh issue and shares.

(d) Both (b) and (c).

RÌUPõq® GÁØÔ¼¸¢x «ÒuS •ßÝ›ø©

£[SPøÍ «mP •i²®.

(A) •u½kPÎß ÂØ£uß ‰»®.

(B) £[Põuõ¯® ÁÇ[PU Ti¯ C»õ£zv¼¸¢x.

(C) ¦v¯uõP öÁÎ°mh £[Sz öuõøP°¼¸¢x.

(D) (B) ©ØÖ® (C).
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13. (Intrinsic value method + Yield method) /2 is

(a) Market value.

(b) Fair value.

(c) Net asset method.

(d) None of these.

(AP©v¨¦ •øÓ + ÂøÍÄ•øÓ) /2 Gß£x

(A) Œ¢øu ©v¨¦.

(B) {¯õ¯ Âø».

(C) {Pµ öŒõzx•øÓ.

(D) CøÁ GxÄªÀø».

14. Good will is a —————.

(a) Current asset.

(b) Tangible asset.

(c) Intangible asset.

(d) Current liability.
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|ß©v¨¦ Gß£x

(A) |h¨¦a öŒõzx.

(B) PsqUS¨ ¦»ÚõS® öŒõzx.

(C) PsqUS¨ ¦»ÚõPõa öŒõzx.

(D) |h¨¦ ö£õÖ¨¦.

15. When there are two or more liquidations and one

formation it is known as ————.

(a) Amalgamation.

(b) Absorption.

(c) Internal reconstruction.

(d) External reconstruction.

Cµsk AÀ»x AuØS @©Ø£mh {Ö©[PÒ

Pø»UP¨£mk J¸ {Ö©® @uõØÖÂUP¨£mhõÀ Ax

———— BS®.

(A) Cøn¨¦.

(B) Dº¨¦.

(C) EÒ^µø©¨¦.

(D) öÁÎa^µø©¨¦.
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Section  B (5 × 8 = 40)

Answer any five questions.

16. X Ltd issued 50,000 shares if Rs. 10 each at par payable

as follows Rs. 3 on application Rs. 4 on allotment and

Rs. 3 on first and final call. The company received

application for 40,000 shares and all of them were

accepted. All sum were received except the call money

on 500 shares. Give journal entries.

X ¼ªöh® {Ö©® 50,000 £[SPÒ JÆöÁõßÖ®

¹. 10 Ãu® öÁÎ°mhx. RÌUPshÁõÖ

£[SzöuõøP öŒ¾zu¨£h @Ásk®. £[S

Âsn¨£zvß @£õx ¹. 3 JxURmiß @£õx ¹. 4

•u»õÁx ©ØÖ® CÖv AøÇ¨¤ß @£õx ¹. 3. {Ö©®

40,000 £[SPÐUPõÚ Âsn¨£[PøÍ ö£ØÖ

AÁØøÓ HØÖU öPõshx. 500 £[SPÐUPõÚ

AøÇ¨¦¨ £nzøu uÂµ ö£Ó @Ási¯ GÀ»õ

£n•® ö£Ó¨£mhx SÔ¨@£õmk¨ £vÄ u¸P.
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17. The following in the Balance Sheet of a limited company

as on 31.12.07.

Rs. Rs.

Share capital

1000, 6% redeemable Fixed assets 3,10,000

Pref. Shares of Cash at bank 1,40,000

Rs. 100 each

fully paid 1,00,000

20,000 equity share

of Rs. 10 each 2,00,000

Profit and loss account 1,20,000

Sundry creditors 30,000

———— ————
4,50,000 4,50,000

———— ————

The company resolved to redeem the preference shares

of a premium of 2% out of profits. Pass the necessary

journal entries.



10 AFN-1425

J¸ ¼ªöhm {Ö©zvß 31.12.07 @uv°mh C¸¨¦

{ø»USÔ¨¦ R@Ç öPõkUP¨£mkÒÍx.

¹. ¹.

£[S •uÀ

1000, 6% «¨¦ {ø»aöŒõzxUPÒ 3,10,000

•ßÝ›ø© Á[Q°À öµõUP® 1,40,000

£[SPÒ u»õ ¹. 100

öŒ¾zu¨£mhx 1,00,000

20,000 Œõuõµn £[SPÒ

u»õ ¹. 10 Ãu® 2,00,000

C»õ£ |mh P/S 1,20,000

£À@ÁÖ PhßuõµºPÒ 30,000

———— ————
4,50,000 4,50,000

———— ————

{Ö©©õÚx, •ßÝ›ø©¨ £[SPøÍ uÚx

C»õ£zv¼¸¢x EŒu Ãu® •øÚ©zxhß «m¦

öŒ#QÓx. @uøÁ¯õÚ SÔ¨@£mk £vÄPøÍz u¸P.
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18. The debenture redemption fund of Nokia Industries Ltd

stood of Rs.16,000 represented by Rs. 20,000 (Nominal

value of investment). The debentures stood in the books

of Rs. 50,000 and the company sold Rs. 12,000 (nominal

value of investment) at Rs. 84 for the purpose of

redeeming Rs. 10,000 debentures of a premium of 1 %

you are required to show the ledger accounts (ignore

interest and brokerage)

@|õU¯õ Cshìi›ì ¼ªöhmiß Phß £zvµ[PÎß

«m¦ Põ¨¦ ¹. 16,000 C¸¨¦ ¹. 20,000 (•u½miß

•P©v¨¦) •u½hõP EÒÍÚ. Phß  £zvµ[PÒ

¦zuPzvÀ ¹. 50,000 BP EÒÍx A¢u {Ö©®

¹. 12,000 UPõÚ (•u½miß •P©v¨¦)

Phß£zvµ[PøÍ ¹. 84 Ãu® ÂØÖ, ¹. 10,000 UPõÚ

Phß£zvµ[PøÍ 1% •øÚ©zvÀ «m¦ öŒ#ux.

@©@» öŒõßÚ |hÁiUøPPÐUS @uøÁ¯õÚ

@£@µmkU PnUøP u¯õ›UPÄ® (Ámi ©ØÖ® uµøP

uÂºUPÄ®)
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19. A Ltd was in corporated on 1.7.2007 by taking over a

running concern from 1.1.2007. The sales for the period

from 1.1.2007 to 1.7.2007 was Rs. 5,40,000 and from

1.7.2007 to 31.12.2007 Rs. 6,00,000. The gross profit for

the year 2007 was Rs. 2,40,000. The expenses debited

to profit and loss account included.

(a) Director fees Rs. 1,500.

(b) Bad debts Rs. 3600.

(c) Advertisement Rs. 12,000 (Rs. 1,000 per month).

(d) Salaries and general expenses Rs. 64,000.

(e) Preliminary expenses written off  Rs. 5,000.

(f) Donation to political party Rs. 5,000 (by the

Company)

Ascertain profit prior to incorporation.
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A ¼ªhm {Ö©® 1.7.2007 AßÖ £vÄ öŒ#¯¨£mk

@ÁÖ J¸ öuõÈÀ {ÖÁÚzøu 1.1.2007 À C¸¢x

HØÖU öPõshx.1.1.2007 •uÀ 1.7.2007 Áøµ EÒÍ

ÂØ£øÚ ¹. 5,40,000, 1.7.2007 •uÀ 31.12.2007 Áøµ

EÒÍ ÂØ£øÚ ¹. 6,00,000. 2007 B® Bsiß ö©õzu

C»õ£® ¹. 2,40,000.

C»õ£ |mh PnUQÀ £ØÖ øÁUP¨£mh öŒ»ÄPÒ

¤ßÁ¸©õÖ.

(a) C¯US|º Pmhn® ¹. 1,500.

(b) ÁµõUPhß ¹. 3600.

(c) ÂÍ®£µ® ¹. 12,000 (©õu® ¹. 1000)

(d) Œ®£Í® ©ØÖ® ö£õxa öŒ»Ä ¹. 64,000.

(e) xÁUPa öŒ»Ä }UP¨£mhx ¹. 5,000.

(f) Aµ]¯À Pm]US |ßöPõøh AÎzux ¹. 5,000

{Ö© Tmk¸ÁõUPzvØS •ß Dmi¯

C»õ£zøuU PnUQkP.
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20. From the following balances, prepare Balance sheet of

a company in the prescribed format.

Rs. Rs.

Goodwill 1,50,000 Investments 2,00,000

Share capital 5,00,000 Reserves 1,10,000

Share premium 1,50,000 Preliminary

Unsecured loan 6,50,000 expenses 10,000

Debentures 2,50,000 Profit and Loss

Stock 80,000 account (Cr) 25,000

Bank 30,000 Other fixed assets 4,70,000

Debtors 60,000

Sundry creditors 35,000
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RÌUPsh C¸¨¦PøÍU öPõsk J¸ {Ö©zvß

C¸¨¦ {ø» SÔ¨¤øÚ E›¯ ÁiÁzvÀ u¯õ›UPÄ®.

¹. ¹.

|ß©v¨¦ 1,50,000 •u½kPÒ 2,00,000

£[S •uÀ 5,00,000 Põ¨¦ 1,10,000

£[S •øÚ©® 1,50,000 öuõhUP öŒ»Ä 10,000

¤øn¯©ØÓ Phß 6,50,000 C»õ£ |mh P/S

Phß£zvµ® 2,50,000 (ÁµÄ) 25,000

ŒµUQ¸¨¦ 80,000 ¤Ó{ø»a

öŒõzxPÒ 4,70,000

PhÚõÍºPÒ 60,000

Á[Q 30,000

PhÜ¢@uõºPÒ 35,000



16 AFN-1425

21. From the information given below, calculate the value

of equity share.

2000, 9% preference shares of Rs. 100 each 50,000

equity shares of Rs. 10 each Rs. 8 per share paid up.

Expected profit before tax Rs. 2,18,000 transfer to

general reserve – 20% of net profit.

Rate of tax 50% of net profit.

Normal rate of return – 15%.

 RÌUPõq® ÂÁµ[PÎß Ai¨£øh°À J¸ Œõuõµn

£[Qß ©v¨ø£U PõsP.

2000, 9 % •ßÝ›ø© £[SPÒ ¹. 100 Ãu® 50,000

Œõuõµn £[SPÒ £[S JßÖUS ¹. 10 Ãu® ¹. 8

öŒ¾zu¨£mhx.

Á› öŒ¾zx® •ß Gvº@|õUS® C»õ£® ¹. 2,18,000

ö£õxU Põ¨¤ØS ©õØÓ® — {Pµ C»õ£zvÀ 20 %.

Á› ÂQu® {Pµ C»õ£zvÀ 50 %.

Œõuõµn Á¸©õÚ ÂQu®—15 %.
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22. Balance Sheets as an 31.3.2008 are given below.

Liabilities H.Ltd S.Ltd Assets H.Ltd S.Ltd

Rs. Rs. Rs. Rs.

Shares of Sundry assets 5,60,000 2,60,000

Rs. 10 each 5,00,000 2,00,000 60% shares in

Reserve 80,000 10,000 S.Ltd 1,20,000 —

Profit &Loss 30,000 15000

Creditors 70,000 35000

———— ———— ———— ————
6,80,000 2,60,000 6,80,000 2,60,000

———— ———— ———— ———

Prepare the Consolidated Balance Sheet.
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31.3.2008. @uv°mh C¸¨¦ {ø»USÔ¨¦PÒ

¤ßÁ¸©õÖ.

ö£õÖ¨¦PÒ H S. öŒõzxPÒ H S

{Ö©® {Ö©® {Ö©® {Ö©®

¹. ¹. ¹. Í¹.

£[SPÒ £Ø£» öŒõzxPÒ 5,60,000 2,60,000

¹. 10 Ãu® 5,00,000 2,00,000 {Ö©zvß 60%

Põ¨¦ 80,000 10,000 £[SPÒ 1,20,000 —

C»õ£ |mh P/S30,000 15000

PhÜ¢@uõº 70,000 35000

———— ———— ———— ————
6,80,000 2,60,000 6,80,000 2,60,000

———— ———— ———— ———

J¸[ QønUP¨£mh C¸¨¦ {ø»U SÔ¨¤øÚ

u¯õ›UPÄ®.
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23. The following scheme of reconstruction has been

approved by Y Ltd.

The Shareholders to receive in liew of their present

holding of 50,000 shares of Rs. 10 each, the following.

(i) Fully paid ordinary shares equal to 2/5 of their

holdings.

(ii) 5 % preference shares to the extent of 1/5 of the

above ordinary shares.

(iii) Rs. 60,000 6% Debentures.

(iv) The goodwill which stood at Rs. 3,00,000 was

written down to Rs.1,50,000.

(v) Plant and buildings were written down by Rs.

20,000 and Rs. 30,000 respectively.

Pass necessary journal entries.



20 AFN-1425

Y ¼ªöhm {Ö©zvÀ RÌUPsh £i ©Ö ^µø©¨¦z

vmh® J¨¦U öPõÒÍ¨£mhx.

JÆöÁõßÖ® ¹. 10 ©v¨¦øh¯ 50,000 £[SPøÍ

øÁzxÒÍ £[SuõµºPÒ, £[SPÐUS¨ £v»õP

RÌPshÁØøÓ¨ ö£ÖQÓõºPÒ.

(i) uõ[PÒ øÁzv¸¨£vÀ 5 À E£[SUS •ÊÁx®

öŒ¾zu¨£mh Œõuõµn £[SPÒ.

(ii) @©ØPsh ¦v¯ Œõuõµn £[SPÎÀ 5 À 1 £[S

AÍÄUP 5 % •ßÝ›ø©¨ £[SPÒ.

(iii) ¹. 60,000 US 6% Phß £zvµ[PÒ.

(iv) ¹. 3,00,000 BP EÒÍ |ß©v¨¦ ¹. 1,50,000 UP

SøÓUP¨£kQÓx.

(v) C¯¢vµ®, Pmih® BQ¯øÁ •øÓ@¯ ¹. 20,000

¹. 30,000 BP SøÓUP¨£kQßÓÚ •uØ

SÔ¨@£mk¨ £vÄPøÍz u¸P.
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Section C (3 × 15 = 45)

Answer any three questions.

24. A company issued  5000 shares at 10% discount payable

as follows.

Rs.

On application 20

On allotment 20

On first cell 30

On final cell 20

But the company forfeited all the shares for non

payment of the final cell money and reissued at Rs. 6

per share. Give journal entries.
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 J¸ {Ö©® 5000 £[SPøÍ 10% uÒÐ£i°À

öÁÎ°mk AuØPõÚ ©v¨ø£ RÌÁ¸©õÖ @Põ›¯x.

¹.

Âsn¨£zvÀ @£›À 20

JxURmiß @£›À 20

•uÀ AøÇ¨¤ß @£›À 30

CÖv AøÇ¨¤ß @£›À 20

BÚõÀ {Ö©®, CÖv AøÇ¨¦¨ £nzøu öŒ¾zuõu

vß Põµn©õP Aø©zx £[SPøÍ²® £Ô•uÀ öŒ#x

¤ß ¹. 60 US ©Ö£i²® ÂkÂUP¨£mhÚ •uÀ

SÔ¨@£mk¨ £vÄPøÍz u¸P.

25. Swiss Ltd issued 40,000 equity shares of Rs. 10 each at

par. The entire issue was underwritten as follows.

A – 2400 shares (firm underwriting 3200 shares)

B – 10000 shares (firm underwriting 400 shares)

C – 6000 shares (firm underwriting 1200 shares)
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The total applications including firm underwriting

were for Rs. 28400. The marked applications were as

under.

A – 7200 shares.

B – 9000 shares.

C – 3200 shares.

The underwriting contract provides that credit for

unmarked applications be given to the underwriters in

proportions to the shares underwritten. Determine the

liability of each underwriter and the amount of

commission payable to them assuming it is the

maximum allowed by law.

”Âì ¼ªöhm 40000 @|ºø©¨ £[SPøÍ ¹. 10 Ãu®

öÁÎ°mhx C¢u öÁÎ±k •Êø©¯õP

RÌUPshÁõÖ J¨¦Öv öŒ#¯¨£mhx.

A – 2400 £[SPÒ (EÖv J¨¦Öv 3200 £[SPÒ)

B – 10000 £[SPÒ (EÖv J¨¦Öv 4000 £[SPÒ)

C – 6000 £[SPÒ (EÖv J¨¦Öv 1200 £[SPÒ)



24 AFN-1425

EÖv H¨¦Öv @Œºzu ö©õzu Âsn¨£[PÒ

¹.28,400US ö£Ó¨£mhÚ. SÔUP¨£mh

Âsn¨£[PÒ RÌUPshÁõÖ EÒÍÚ.

A – 7200 £[SPÒ

B – 9000 £[SPÒ

C – 3200 £[SPÒ

J¨¦Öv J¨£¢uzvÀ SÔ¨¤mkÒÍ£i, SÔUP¨£hõu

Âsn¨£[PÐUS ÁµÄ J¨¦Öv¯õÍºPÐUS ÁµÄ

J¨¦Óv öŒ#¯¨£mh £[SPÎß ÂQuzvÀ

öPõkUP¨£kQÓx. J¨¦Öv¯õÍºPÎß ö£õÖ¨ø£²®

Œmh¨£i AvP©õÚ öPõkUPU Ti¯ uµSz

öuõøPø¯²® wº©õÛUPÄ®.

26. S Ltd issued Rs. 1,50,000, 10% debentures in which

interest is payable half yearly on 31st March and 30th

September. The company has powers to purchase its

debenture in the open market for cancellation

there of.
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The following purchased were made during the year

ended 31st December 2007 and the cancellation were

made on the following 31st march 2008.

March 1st Rs. 25000 nominal purchased for Rs. 24,725

(ex-interest).

September 1st Rs. 20000 nominal purchased for

Rs. 20, 125 (cum-interest).

Draw up the

(a) Debenture account.

(b) Own debentures investment account and

(c) Debenture interest account (ignore taxation)

Make calculation to the nearest rupee.
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S ¼ªöhm {Ö©® ¹. 1,50,000 ©v¨¦ÒÍ 10% Phß

£zvµ[PøÍ öÁÎ±k öŒ#QÓx Cuß Ámi¯õÚx 31

©õºa ©ØÓ® 30 öŒ¨h®£›À öPõkUP¨£h @Ásk®.

C¢u {Ö©©õÚx C¢u Phß £zvµ[PøÍ vÓ¢u

Œ¢øu°À Áõ[Q }UP® öŒ#¯ E›©® ö£ØÖÒÍx.

31.12.2007 •i¢u Á¸hzvÀ RÌUPsh öPõÒ•uÀPÒ

öŒ#¯¨£mk }UP[PÒ Akzx Á¸® 31.3.2008 ©õºa]À

öŒ#¨£mhÚ.

©õºa 1® @uv ¹. 25,000 ö£¯µÍÄ ©v¨¦ ¹. 24,725 US

Ámi }[P»õP öPõÒ•uÀ öŒ#¯¨£mhx öŒ¨£h®£º

1 ® @uv ¹. 20,000 ö£¯µÍÄ ©v¨¦ ¹. 20,125 US

Ámi°hß öPõÒ•uÀ öŒ#¯¨£mhx ÁøµP.

(A) Phß £zvµ PnUS.

(B) öŒõ¢u Phß £zvµ[PÒ •u¼mk PnUS.

(C) Phß £zvµ[PÒ Ámi PnUS Á›PøÍ uÂºzx,

PnURkPøÍ ¹£õ#US öŒ#¯Ä®.
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27. Ascertain the value of goodwill of Zen Ltd carrying on

business from the following.

Balance Sheet as on 30.6.2008

Rs. Rs.

25000 shares of Rs. 100 Goodwill at cost 2,50,000

fully paid 25,00,000 Land at cost 11,00,000

Bank OD 4,80,000 Plant and Machinery

Creditors 8,05,000 Less depreciation 10,00,000

Provision for taxation 4,25,000 Stock in trade 15,00,000

Profit & Loss Book debts less

appropriation account 6,00,000 provision for bad debts 9,60,000

————— —————

48,10,000 48,10,000

————— —————
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The company started operation in 2003 with a paid up

capital as fore stated of Rs. 25,00,000 profit earned

before providing for taxation have been as follows.

2004 – Rs. 6,00,000, 2005 – Rs. 7,50,000

2006 – Rs. 8,50,000, 2007 – Rs. 9,50,000

2008 – Rs. 8,50,000.

Income tax @ 50 % has been payable on there profits.

Dividends have been distributed from the profits of the

first three years @ 10 % and from those of the next two

years @ 15 % of the paid-up capital.

RÌUPshÁØÔ¼¸¢x öPß ¼ªöhm {Ö©zvß

|Øö£¯›ß ©v¨ø£U Psk¤i. 30.6.2008 ß C¸¨¦

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.
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¹. ¹.

25000 £[SPÒ |Øö£¯º

 ¹.100 Ãu® (AhUPÂø») 2,50,000

•ÊÁx® {»® (AhUPÂø») 11,00,000

öŒ¾zu¨£mhx 25,00,000 @u#©õÚzvØS ¤ÓS

Á[Q@©À Áøµ£ØÖ 4,80,000 C¯¢vµ©v¨¦ 10,00,000

PhÜ@uõº 8,05,000 ŒµUQ¸¨¦ 15,00,000

Á›UPõÚ JxUS 4,25,000 PhÚõÎPÒ

»õ£ |mh PÈ ÁµõUPhß JxUS 9,60,000

£PºÄ P/S 6,00,000

————— —————

48,10,000 48,10,000

————— —————
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C¢u {Ö©® 2003 À ¹. 25,00,000 ‰»uÚzxhß

öuõh[P¨£mhx. Á›US •¢øu¯ C»õ£®

2004 –  ¹. 6,00,000, 2005 –  ¹. 7,50,000

2006 –  ¹. 8,50,000, 2007 –  ¹. 9,50,000

2008 –  ¹. 8,50,000.

Á¸©õÚ Á› 50% C|z C»õ£zv¼¸¢x öPõkUP

@Ásk®. •uÀ ‰ßÖ Á¸h C»õ£zv¼¸¢x 10%

£[Puõ¯® Akzu 2 Á¸h[PÐUS öŒ¾zv¯ •u¼À

15% £[Põuõ¯® £Qº¢uÎUP¨£kQÓx.

28. X Ltd gives the balance sheet as on 31.12.2007.

Rs. Rs.

Capital

12000 shares of Buildings 90,000

Rs. 10 each 1,20,000 Machinery 50,000

Creditors 30,000 Stock 17,000

Bank overdraft 28,000 Debtors 20,000

Profit & Loss

amount 1,000

———— ————

1,78,000 1,78,000

———— ————
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Y Ltd took over these assets for Rs. 1,50,000 payable

Rs. 60,000 in cash and the balance 12,000 shares of

Rs. 10 each paid up Rs. 7.50 each close the books of

X Ltd and pass journal entries and prepare Balance

Sheet.

 X {Ö©zvß 31.12.2007 @uv°mh C¸¨¦{ø»U

SÔ¨¦ ¤ßÁ¸©õÖ.

 ¹.  ¹.

£[S •uÀ

12000 £[SPÒ Pmih® 90,000

 JßÖ   ¹.10 Ãu® 1,20,000 C¯¢vµ® 50,000

PhÜ¢@uõº 30,000 ŒµUS 17,000

Á[Q@©À Áøµ£ØÖ 28,000 PhÚõÎPÒ 20,000

»õ£ |mh

PnUS 1,000

———— ————

1,78,000 1,78,000

———— ————
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Y  {Ö©® C¢u öŒõzxUPøÍ ¹. 1,50,000 Âø»°À

Áõ[Q, Âø»ø¯ ¹. 60,000 öµõUP©õPÄ® «vø¯

12,000 £[PPÒ JßÖ ¹. 10, öŒ¾zv¯ AÍÄ ¹. 7.50

BPÄ® öPõkzux X {Ö©zøu ‰i, {Ö©zøu

HkPÎÀ öŒ#¯¨£k® £vÄPøÍ²®, ©ØÖ®

C¸¨¦{ø»U SÔ¨ø£²® u¯õ›UP.

***
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B.Com. (CORPORATE SECRETARSHIP) DEGREE
EXAMINATION, APRIL 2011

Fifth Semester

COST ACCOUNTING

(Non CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (15 × 1 = 15)

Answer all questions.

1. Standard Costing is one of the techniques of ———.

vmh AhUP Âø»°¯À Gß£x £» •øÓPÎÀ

JßÓõÚ —————.

2. Works Cost is a Total of ————.

öuõÈÀ AhUPÂø» Gß£x ö©õzuzvÀ ————.

AFN- 1426 BCS532
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3. Stones ledger is maintained in the ————.

£sh[PÒ @£@µk Gß£x ————

£µõ©›UP¨£kQÓx.

4. LIFO method is used when the prices are ————.

Pøh]°À Á¢u ö£õ¸Ò •u¼À öÁÎ@¯Ö®

•øÓø¯ E£@¯õP¨£kzx® @£õx, Âø» Gß£x

—————.

5.  Two types of idle time are ————.

 Cµsk ÁøP¯õÚ ÃnõS® @|µ® Gß£x ————.

6. ABC analysis means ————.

ABC £S¨£õ#Ä Gß£x ————.

7. Basis of apportionment of stores service expenses is

————.

£sh[PÒ £ozxøÓ öŒ»ÄPøÍ ————

•øÓ°À £QºÄ öŒ#¯¨£kQÓx.
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8. ———— expenses are excluded from cost.

———— öŒ»ÄPÒ AhUPÂø»°À öÁÎ¯hUP®

BQÓx.

9. Carriage Inward is treated as ————.

EÒ HØÖU T¼ ———— GÚU P¸u¨£kQÓx.

10. Wage sheet is prepared by ———— department.

T¼zuõÒ u¯õ›¨@£õº ———— xøÓ¯õS®.

11. Transport Companies follow ———— Costing.

@£õUSÁµzx {Ö©[PÒ ————— AhUP•øÓø¯

¤ß£ØÖQßÓÚ.
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12. Salary given to works manager is ————.

öuõÈØTh @©»õÍºUS uµ¨£k® Œ®£Í® Gß£x

—————

13. Overheads are also known as ———— expenses.

@©¼Úa öŒ»ÄPÒ ————— öŒ»ÄPÒ GÚÄ®

AøÇUP¨£kQßÓÚ.

14. In case of normal loss the cost per unit of usual

production will increase (True/ False)

C¯À¦ |mh® {PÊ® @£õx, EØ£zv°À J¸

A»QØPõÚ AhUPÂø» E¯¸® (Œ› / uÁÖ)

15. Time keeping is not necessary in the case of piece

worker (True/ False).

@Áø» Ãu •øÓ |£¸US @|µzøu øP¯õÍ

@Ási¯x AÁ]¯ªÀø» (Œ› / uÁÖ).
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Section  B (5 × 8 = 40)

Answer any five questions.

16. State the objectives of Cost Accounting

AhUPÂø»U PnUQ¯¼ß @|õUP[PøÍ TÖP.

17. What are the difference between Bin Card and Stores

Ledger ?

ŒµUQ¸¨¦ AmøhUS®, £sh[PÒ @£@µmiØS®

EÒÍ @ÁÖ£õkPÒ ̄ õøÁ ?

18. What is Labour turnover ? How is it calculated ?

 öuõÈ»õÎ@¯õmh® GßÓõÀ GßÚ ? Ax GÆÁõÖ

PnUQh¨£kQÓx ?
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19. Find EOQ

Annual consumption 3,000 units.

Cost of material per unit—Rs. 10

Cost of placing one order—Rs. 30

Annual carrying cost of one unit—Re. 1

]UPÚ Bøn AÍøÁU Psk¤i.

Bsk £¯ß£õk 3,000 A»SPÒ

Kº A»Qß AhUPÂø» ¹. 10

Kº AÝ¨£õøÚ CkÁuØS®, ö£ÖÁuØS® BS®

öŒ»Ä ¹. 30

Kº A»S @ŒP›zx øÁ¨£uØPõÚ Á¸h öŒ»Ä ¹.1.

20. From the following calculate Cost per km of the

vehicle :

Value of the vehicle Rs. 15,000

Road licence fee per year Rs. 500

Insurance charges per year Rs. 100
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Garate rent per  year Rs. 600

Cost of petrol per litre Re. 0.80

Kilometer per litre 8.

Proportionate charges for tyre and maintenance per

Km Re. 0.20

Estimated life 1, 50,000 Kms.

Estimated annual Kms 6,000.

Ignore interest on capital.

R@Ç öPõkUP¨£mhÁØÔ¼¸¢x ÁõPÚzøu J¸

Q@»õ «mhº C¯USÁuØPõÚ AhUPÂø»ø¯

PnUQkP.

ÁõPÚzvß ©v¨¦ ¹. 15,000

Œõø» E›©U Pmhn® J¸ BsiØS ¹.500, Põ¨¥k

Pmhn® J¸ BsiØS ¹.100
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ÁõPÚU öPõmhøP ÁõhøP J¸ BsiØS ¹.600,

Kmk|º T¼ ©õuzvØS ¹. 200,

ö£m@µõÀ Âø» ¼mhº JßÖUS ¹.0.80.

J¸ ¼mh¸US Kk® yµ® 8 Q@»õ «mhº,

h¯º ©ØÖ® £µõ©›¨¦UPõÚ ÂQu Pmhn® Q@»õ

«mhº JßÖUS ¹. 0.20

©v¨¤h¨£mh B²mPõ»® 1,50,000 Q@»õ «mhº

BsiØS ©v¨¤h¨£mh Q@»õ «mhº  6,000

•uÀ «x Ámiø¯ ¦ÓUPoUPÄ®.

21. How will you reconcile the following :

(a) Under valuation of opening stock in Cost

Accounts.

(b) Over valuation of opening of stock in Cost

Accounts.
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RÌUPshÁØøÓ GÆÁõÖ } Œ›UPmkÁõ#

(A) AhUP Âø» PnU@PmiÀ ŒµUQ¸¨¦ SøÓÁõP

©v¨¤h¨£mhx.

(B) AhUP Âø» PnU@PmiÀ ŒµUQ¸¨¦ Tku»õP

©v¨¤h¨£mhx.

 22. Explain the absorption of overhead.

@©ØöŒ»ÄPÒ DºUP¨£kuÀ £ØÔ ÂÁ›.

 23. What are the features of process costing ?

£i•øÓ AhUPÂø»°ß C¯À¦PÒ ̄ õøÁ ?
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Section  C (3 × 15 = 45)

Answer any three questions.

 24. From the following information prepare a Cost Sheet.

Rs.

Stock 1-1-2010

Raw material 30,500

Finished goods 20,400

Stock on 31. 01. 2010

Raw materials 48,500

Finished goods 10,000

Work- in- progress (1-1-2010) 8,000

Work-in progress (31-1-2010) 9,000

Sales 95,000

Direct wages 20,400

Office expenses 5,400
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Selling expenses 3,800

Distribution expenses 2,500

Factory expenses 10,500

Purchase of raw materials 25,000

¤ßÁ¸® uPÁÀPÎ¼¸¢x J¸ AhUPÂø»¨

£mi¯À u¯õº öŒ#P.

¹.

 ŒµUQ¸¨¦ 1-1-2010

PaŒõ¨ ö£õ¸mPÒ 30,500

•i¢u ö£õ¸mPÒ 20,400

ŒµUQ¸¨¦  31. 01. 2010

PaŒõ¨ ö£õ¸mPÒ 48,500

•i¢u ö£õ¸mPÒ 10,000

{øÓö£Óõ £o (1-1-2010) 8,000

{øÓö£Óõ £o (31-1-2010) 9,000
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¹.

ÂØ£øÚ 95,000

@|µi EøÇ¨¦U T¼ 20,400

A¾Á»Pa öŒ»Ä 5,400

ÂØ£øÚa öŒ»Ä 3,800

Â{@¯õPa öŒ»Ä 2,500

öuõÈØŒõø»a öŒ»ÄPÒ 10,500

PaŒõ¨ ö£õ¸Ò öPõÒ•uÀ 25,000

 25. From the following particulars prepare Contract

Account.

Rs.

Materials charged out to site ... 31,540

Labour ... 75,300

Foreman’s Salaries ... 11,700
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A Machine Costing Rs. 25,000 has been on site for 73

days. Its working life is estimated at five years and its

final Scrap value at Rs. 1,000 ; a supervisor who is paid

Rs. 18,000 p.a had spend approximately six months on

this contract. All other expenses and administration

amount to Rs. 17,000. Materials in store at site at the

end of the year cost Rs. 2,500. The contract price is Rs.

3,00,000. At the end of the year 
rd2

3  of the contract

was completed for which amount, the architect’s

certificate had been issued and Rs. 1,60,000 has so far

been received on account.

R@Ç öPõkUP¨£mkÒÍ Â£µ[PÎ¼¸¢x J¨£¢u

PnUøP u¯õ›UPÄ®. Pmk©õÚ ChzvØS

AÝ¨£¨£mhøÁ

¹.

‰»¨ ö£õ¸mPÒ ... 31,540

T¼ ... 75,300

@©ìv› Œ®£Í® ... 11,700
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¹. 25,000 ©v¨¦øh¯ C¯¢vµ® 73 |õmPÒ Pmk©õÚ

ChzvÀ øÁUP¨£mi¸¢uÚ. Auß ©v¨¤h¨£mh

EøÇUS® Põ»® 5 Á¸h® ©ØÖ® Auß CÖv •ÔÄ

xqUS ¹. 1,000. @©Ø£õºøÁ¯õÍ¸US BskUS

¹.18,000 ÁÇ[P¨£kQÓx. CvÀ AÁº C¢u

J¨£¢uzvØPõP @uõµõ¯©õP BÖ ©õu®

öŒ»ÂmkÒÍõº. Cuµ öŒ»ÄPÒ ©ØÖ® {ºÁõPzvØPõP

öŒ»Ä öŒ#¯¨£mh öuõøP ¹. 17,000. Bsk

CÖv°À Pmk©õÚ ChzvÀ EÒÍ £shPzvÀ EÒÍ

‰»¨ö£õ¸Îß ©v¨¦ ¹ 2,500. J¨£¢u öuõøP

¹. 3,00,000. Bsiß CÖv°À J¨£¢uzvß 2
3  £[S

@Áø» {øÓÁøh¢uuØS Pmk©õÚ Pø» {¦n›ß

ŒõßÔuÌ ÁÇ[P¨£mk AvÀ ¹. 1,60,000 Cx Áøµ

ö£Ó¨£mkÒÍx.

 26. Nisha Travels is running a fleet at six buses between

two towns 75 kms apart. Seating capacity of each bus is

40 passengers. The following particulars are available

for the month of June :
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Rs.

Wages of drivers and conductors 7,200

Salaries of office staff 3,000

Taxation and Insurance 4,800

Interest 6,000

Diesel and oil 20,640

Repairs and maintenance 2,400

Depreciation 7,800

————

                                                  Total 51,840

————

Actual passengers carried were 80 percent of seating

capacity. All the buses ran on all the days of the month.

Each bus made one round trip per day. Find out the

cost per passenger k.m.
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{åõ iµõÁÀì 75 Q.«. yµ® EÒÍ C¸ |Pµ[PÐUS

BÖ @£¸¢xPøÍ C¯UQ Á¸QÓx. J¸ @£¸¢vÀ 40

C¸UøPPÒ EÒÍÚ. ¤ßÁ¸® ÂÁµ[PÒ áüß

©õuzvØS E›¯øÁ.

¹.

Kmk|º ©ØÖ® |hzxÚº T¼ 7,200

A¾Á»P £o¯õÍº Œ®£Í® 3,000

Põ¨¥k ©ØÖ® Á› 4,800

Ámi 6,000

jŒÀ ©ØÖ® Gsön# 20,640

£Êx£õºzuÀ ©ØÖ® £µõ©›¨¦ 2,400

@u#©õÚ® 7,800

————

                                                  ö©õzu® 51,840

————

80% C¸UøP AÍÄUS ©mk@© ¤µ¯õoPÒ ¤µ¯õn®

öŒ#uÚº. AøÚzx @£¸¢xPÐ® ©õuzvß GÀ»õ
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|õmPÐ® C¯[QÚ. J¸ |õÐUS J¸ @£¸¢x •Ê

£¯n® öŒ#ux.

J¸ ¤µ¯õn Q.«UPõÚ AhUPÂø»ø¯ PõsP.

27. From the following particulars, prepare Stores Ledger

Account under FIFO and LIFO method.

02.01.2010 Purchased 200 units at Rs. 200

04.01.2010 Issued 150 units

06.01.2010 Purchased 200 units at Rs. 220

10.01.2010 Issued 100 units

17.01.2010 Purchased 200 units at Rs.210

24.01.2010 Issued 220 units

25.01.2010 Purchased 150 units at Rs.230

26.01.2010 Issued 190 Units.

28.01.2010 Issued 30 units
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¤ßÁ¸® Â£µ[PÎ¼¸¢x •.Á. •.öÁ, C.Á.•. öÁ

•øÓ°À £sh[PÒ @£@µmkU PnUøP

u¯õ›UPÄ®.

02. 01.2010 öPõÒ•uÀ 200 A»SPÒ ¹.200 Ãu®

04.01.2010 ÁÇ[Rk 150 A»SPÒ

06. 01. 2010 öPõÒ•uÀ 200 A»SPÒ ¹.220 Ãu®

10. 01. 2010 ÁÇ[Rk 100 A»SPÒ

17. 01. 2010 öPõÒ•uÀ 200 A»SPÒ ¹.210 Ãu®

24. 01. 2010 ÁÇ[Rk 220 A»SPÒ

25. 01. 2010 ÁÇ[Rk 150 A»SPÒ ¹, 230 Ãu®

26. 01. 2010 ÁÇ[Rk 190 A»SPÒ

28. 01. 2010 ÁÇ[Rk 30 A»SPÒ

28. Prepare reconciliation statement from the

following :
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Rs.

Net Profit as per cost accounts 1,00,000

Income Tax 30,000

Share transfer fees credited 2,000

Provision for doubtful debts 10,000

Overhead as per cost accounts 17,000

Overheads as per financial accounts 14,000

Directors fees 4,000

Depreciation charged in financial accounts 3,500

Closing stock in cost accounts 9,375

Closing stock in financial accounts 10,375

Good will written off 4,500

Stores adjustment (credit in

financial accounts) 500

Interest on investments 2,000
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Depreciation recovered in costing 3,750

RÌUPõq® uPÁÀ Ai¨£øh°À Œ›Pmk®

AÔUøPø¯ u¯õº öŒ#P.

¹.

AhUPÂø» PnUS¨ £i {Pµ »õ£® 1,00,000

Á¸©õÚ Á› 30,000

£[S ©õØÓ Pmhn® ÁµÄ 2,000

Œ¢@uPzvØS›¯ PhÚõÎPÐUS JxURk 10,000

AhUPU PnUS¨£i @©ØöŒ»Ä 17,000

{vU PnUS¨£i @©ØöŒ»Ä 14,000

C¯US|ºPÎß Pmhn® 4,000

{vU PnUQÀ @u#©õÚ® 3,500

AhUPU PnUQÀ CÖva ŒµUQ¸¨¦ 9,375
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¹.

{vU PnUQÀ CÖv ŒµUQ¸¨¦ 10,375

Â¯õ£õµ |Øö£¯º GÊu¨£mhx 4,500

ŒµUS ̂ µø©¨¦ ({vU PnUQÀ ÁµÄ) 500

•u½miß @©À Ámi 2,000

AhUPÂø»U PnUQß £i @u#©õÚ® 3,750

***
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COMMERCIAL LAW

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.

Choose the best answer.

1. Section ———— of the Act defines a contract as ‘‘ an

agreement enforceable by law ’’.

(a) 2 (f)

(b) 2 (g)

(c) 2 (h)

AFN-1427    BCS533
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C¢v¯ J¨£¢ua Œmh® ¤›Ä ———— ß£i J¨£¢u®

Gß£x ŒmhzuõÀ |øh•øÓ¨£kzu¨£k®

Ehß£õhõS®

(A) 2 (f)

(B) 2 (g)

(C)  2 (h)

2. —————— means something return. When a party

to an agreement promised to do something , he will get

something in return.

(a) Lawful object

(b) Consideration

(c) Legal formalities.

————— Gß£x Ehß£õmiß JÆöÁõ¸ |£¸®

uõß öŒ#²® £¯ÝUS £v»õP¨ ö£Ö® £¯ÚõS®
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(A) Œmh¨ §ºÁ©õÚ @|õUP®.

(B) øP®©õÖ.

(C) Œmha Œh[SPÒ.

3. ———— is a contract inferred from the conduct of the

parties.

(a) Illegal contract

(b) Express contract

(c) Tacit contract

————— C¸ @ÁÖ£mh |£ºPÎß |hÁiUøP

AÀ»x öŒ¯À£õmi¼¸¢x Enº¢x öPõÒÍ •i²®

(A) Œmh Â@µõu J¨£¢uzøu.

(B) @|µi J¨£¢uzøu.

(C) ŒªUøP J¨£¢uzøu.
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4. According to section ———— of the Indian Contract

Act, a contract of guarantee is ‘‘ a contract to perform

the promise, or discharge the liability of a third person

in case of his default’’.

(a) Section–124

(b) Section–125

(c) Section–126

J¸ ‰ßÓõ® |£º ußÝøh¯ ÁõUSÖvø¯ {øÓ@ÁØ

AÀ»x ö£õÖ¨ø£z wºUPz uÁÖ® ö£õÊx Aøu

{øÓ@ÁØÔ AÀ»x wºUP HØ£kzu¨£k® J¨£¢u®

EzuµÁõu J¨£¢u® BS®. C¢v¯ J¨£¢uaŒmh®

(A) ¤›Ä –124

(B) ¤›Ä –125

(C) ¤›Ä –126
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5. ———— is one which is available only against that

property in respect of which the skill and labour have

been exercised (Section-170)

(a) General lien

(b) Particular lien

(c) Right to be indemnified.

GaöŒõzvß «x vÓø©²® @Áø»²® £¯ß£kzu¨

£mh@uõ AaöŒõzvß «x £ØÖ›ø© HØ£kzvÚõÀ

AuØS ————— GßÖ ö£¯º (¤›Ä –170)

(A) ö£õx¨£ØÖ›ø©.

(B) SÔ¨¤mh £ØÖ›ø©.

(C) CÇ¨¥k ö£Ö® E›ø©.
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Say True or False

6. A  mere mental acceptance is no acceptance.

©ÚuÍÂÀ ©mk® HØÖU öPõÒÍ¨£mhõÀ Ax HØ¦

BPõx.

7. Ignorantia  juris non excusat.

Œmh® öu›¯õx Gß£øu ©ßÛUP •i¯õx.

8. Carriage by rail in India is regulated by the Indian

Railways Act ,1890.

C¢v¯õÂÀ Cµ°À ŒµU@PØÔ C¢v¯ Cµ°À@Á Œmh®

1890US Em£mhx.
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9. Any alteration to the terms of contract will not discharge

the contract

J¨£¢u {£¢uøÚPÒ v¸zu¨£mhõÀ J¨£¢u®

•iÄUS Áµõx.

10. The acts of minor agent will bind the principal.

CÍÁº £v»õÎ°ß öŒ¯ÀPÐUS •uÀÁ@µ

ö£õÖ¨£õÁõº.

Fill in the blanks :

11. If  a  car  owner gives a lift to a passer by he will be

known as ——— carrier.

Põ›À öŒÀ£Áº ußøÚU Ph¢x öŒÀ£Á¸US Põ›À

Ch©ÎzuõÀ AÁøµ ———— ŒµU@PØÔ GÚ

AøÇ¨£º
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12. The person delivering the goods is called the ‘ bailor ’

and the person to whom they are delivered is called the

‘bailee’. The transaction is called ————.

ö£õ¸mPøÍ J¨£øh¨£Áß J¨£øh¨@£õß GßÖ®

ö£õ¸mPÒ ¯õ›h® J¨£øhUP¨£kQÓ@uõ AÁß

J¨£õÎ GßÖ® AøÇUP¨£kQßÓÚº. CÁºPÎøh@¯

HØ£k® |hÁiUøP ————— GßÖ AøÇUP¨£k®.

13. An agreement which is against public policy or immoral

in nature is known as ————.

Œ‰PU öPõÒøPPÐUS •µs£mh AÀ»x JÊUPU

@PhõÚ Ehß£õkPÒ ————— GÚ¨£k®

14. Consideration must be ———— and lawful .

øP®©©õÖ ———— Œmh §ºÁ©õÚuõPÄ® C¸UP

@Ásk®
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15. A man who lost his mental powers  permanently or who

lost his mental powers periodically is known as

——————.

{µ¢uµ©õP AÔøÁ CÇ¢uÁºPÒ AÀ»x ¤ÓÂ •uÀ

©¢u©õP C¸¨£ÁºPÒ —————— GÚ¨£kÁº

Section  B (5 × 8 = 40)

Answer any five questions.

16. Explain Undue Influence.

uPõuÁÈ°À öŒÀÁõUS öŒ¾zxuÀ £ØÔ ÂÍUSP.

17. Explain the essentials of valid offer.

öŒÀ»zuUP •øÚÂß •UQ¯¨ £SvPÒ £ØÔ

ÂÍUSP.
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18. How can an agency be terminated ?

GÆÁõÖ •usø©ø¯ •iÄUSU öPõsk Áµ»õ® ?

19. Explain the contractual capacity of minors .

CÍÁ¸hß öŒ#¯¨£k® J¨£¢uzvß {ø»ø¯¨ £ØÔ

ÂÍUSP.

20. How is a contract may be discharged ?

J¸ J¨£¢uzøu GÆÁõÖ wºUP»õ®.

21. Distinguish between contract of Indemnity and

contract of guarantee.

DmkÖv J¨£¢uzvØS® EzuµÁõu J¨£¢uzvØS®

EÒÍ @ÁÖ£õkPÒ ̄ õøÁ ?
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22. Explain the rights of Pawnee.

AhS ¤izuÁ›ß E›ø©PÒ £ØÔ ÂÍUSP.

23. Write short notes  on : Coercion, pledge by non-owners,

sub-agent.

]ÖSÔ¨¦ ÁøµP Á¾UPmhõ¯®, E›ø©¯ØÓÁº

øÁUS® AhS, EuÂ¨£vÁõÒ.

Section C (3 × 15 = 45)

Answer any three questions.

24. What are the essentials of a valid contract ?

öŒÀ»zuUP J¨£¢uzvß •UQ¯U TÖPÒ ̄ õøÁ ?

25. What is consideration  ? Explain the rules governing

consideration.

øP®©õÖ GßÓõÀ GßÚ ? øP®©õÖUPõÚ ÂvPÒ £ØÔ

ÂÍUSP.
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26. Explain the various types of mistake.

uÁÖPÎß ÁøPPøÍ¨ £ØÔ ÂÍUSP.

27. What are the duties and rights of  Surety ?

¤øn¯õÍ›ß Phø©PÐ® ©ØÖ® E›ø©PÐ®

¯õøÁ ?

28. Explain Creation of Agency ?

•PÁõsø©ø¯ E¸ÁõUSuÀ £ØÔ ÂÍUSP.

***
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                                Section A                  (15 × 1 = 15)

Answer all questions.
Each question carries 1 mark.

1. What is Previous Year ?

•¢øu¯ Bsk Gß£x GßÚ ?

2. What is Tax Evasion ?

Á› H#¨¦ Gß£x ̄ õx ?

3. What is Public Provident Fund ?

ö£õx @Œ©|» {v GßÓõÀ GßÚ ?

AFN-1428 BCS534
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4. How Standard deduction allowed on house property ?

Ãmk Á¸©õÚzvÀ {ø»¯õÚ PÈÄ GÆÁõÖ
ÁÇ[P¨£kQÓx ?

5. What is Cost Inflation index ?

Âø» ÃUP SÔ±k Gß£x GßÚ ?

6. What are perquisites ?

£o FUP Œ¾øPPÒ Gß£x GßÚ ?

7. Define dividend as per Income Tax Act.

Á¸©õÚ Á› Œmhzvß RÌ £[Põu¯zøu Áøµ¯Ö.

8. What is Clubbing of Income ?

 Á¸©õÚ @ŒºzuÀ Gß£x ̄ õx ?
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9. How commuted pension is exempt from tax ? And when ?

Jmk @Œº¢u K#Åv¯® GÆÁõÖ PnUQh¨£kQÓx  ?

©ØÖ® G¨@£õx ?

10. State the treatment of accrued interest on NSC.

GßGì]&°ß E¸ÁõS® Ámi GÆÁõÖ P¸u¨£kQÓx ?

11. What is the deduction allowed U/s 80 DDB ?

80 DDB &¤›Âß RÌ ÁÇ[P¨£k® PÈÄ GßÚ ?

12. How royalty income is taxable ?

E›ø©z öuõøP Á¸©õÚ® GÆÁõÖ Á›USm¨

£kzu¨£kQÓx ?

13. What is the base year for capital gain tax ? And how it

calculated ?

‰»uÚ Á›°ß Ai¨£øh Bsk Gx ? Ax GÆÁõÖ

PnUQh¨£kQÓx ?
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14. What is called as MMR ?

G®.G®.Bº. Gß£x  GßÚ ?

15. What is grossing up ?

ö©õzu® @ŒºzuÀ Gß£x GßÚ ?

                                Section B                  (5 × 8 = 40)

Answer any five questions.
Each question carries 8 marks.

16. Explain any Eight incomes exempt from tax.

Á›US Â»UP¨£mh H@uÝ® Gmk Á¸©õÚ[PøÍ

ÂÍUSP.

17. What are the powers of the Assessing Officer ?

©v¨¥mk AvPõ›°ß AvPõµ[PÒ ̄ õøÁ ?
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18. Explain the kinds of assessment.

Á› ©v¨¥mk ÁøPPøÍ ÂÍUSP.

19. Mr. R is entitled for a basic salary of Rs. 10,000 p.m.

and DA of Rs. 1,000 per month, 40% of which forms part

of salary . He is  entitled to a HRA of Rs. 3,000 per

month. He actually pays Rs. 3,500 p.m. as rent  for a

house in Chennai. Compute the taxable HRA. What

difference it would make if he lives in his own house ?

v¸ R  Ai¨£øh Á¸©õÚ® ¹. 10,000&•®, £gŒ¨£i

¹. 1,000&•® JÆöÁõ¸ ©õu•® ö£ÖQÓõº. AvÀ 40

Œu® Œ®£Íz@uõk @Œ¸® £gŒ¨£i BS®. AÁº

¹. 3,000 ©õu Ãmk ÁõhøP¨£i ö£ÖQÓõº, ©ØÖ®

¹. 3,500&I ÁõhøP¯õP öŒßøÚ°À öPõkUQÓõº.

AÁ›ß Á›USm£k® ÁõhøP GßÚ ? @©¾® AÁº

öŒõ¢u ÃmiÀ Si°¸¢uõÀ HuõÁx ©õØÓ® C¸US©õ ?
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20. Ms. J sold her residential house on 14th August 2009

for Rs. 16,40,000 and paid Rs. 10,000 for brokerage. She

had purchased this house in November, 1981 for Rs.

1,40,000 and spent Rs. 14,000 on registration and Rs.

38,500 on its improvement. Out of sale proceeds, she

purchased another house for her own residence for Rs.

1,50,000 on 21st March  2010 and deposit in capital gain

account scheme Rs. 2,00,000 and 31st March 2010.

Calculate her Taxable capital gains or the Assessment

Year 2010-11.

v¸©v J AÁ›ß Si°¸¨¦ Ãmøh BPìm 14, 2009

AßÖ ¹. 16,40,000&US ÂØÓõº. AuØPõP BÚ PÈÄ

¹. 10,000. AÆÃmøh 1981 |Á®£›À ̧ , 1,40,000&US

Áõ[Q ¹. 14,000 £vÂØPõPÄ® ¹. 38,500&I Ãmk

@©ØPõmku¾UPõPÄ® öŒ»Ä öŒ#uõº. CÆÃmøh

ÂØÓ öuõøP°À ¹. 1,50,000&zøu ©õºa 21, 2010 AßÖ

@ÁÖ Ãk Áõ[PÄ® @©¾® ¹. 2,00,000zøu ©õºa 31,

2010 AßÖ ‰»uÚ Á¸Áõ# @Œª¨£õPÄ® •u½k

öŒ#uõº. AÁ›ß Á›Sm£mh ‰»uÚ Á¸Áõ# Á›

Bsk 2010&11&US GÆÁÍÄ GÚU PnUQhÄ®.
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21. Compute income from other sources of  Yogi who held

the following investments during the Previous Year

2009-10.

(i) Rs. 11,000 10% Central Government Securities.

(ii) Rs. 32,000 10% Tax free commercial securities (non

listed)

(iii) Rs. 6,300 received as interest on Tax free public

limited company securities  (listed).

(iv) Rs. 7,200 received interest on Karnataka

Government securities.

(v) Rs. 3,600 received as interest on Deepak Fertilizers

(listed).

(vi) Rs. 30,000 13.5% securities of a Paper Mill Co. Ltd

(listed).

(vii) Dividend from Corona Ltd. Rs. 4,000.
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RÌPsh •u½kPÎÀ C¸¢x @¯õQ°ß Cuµ

Á¸©õÚ[PÒ 2009&10 •¢øu¯ BskUS GÆÁÍÄ

GÚUPnUQhÄ® :

(i) ¹. 11,000, 10% ©zv¯ Aµ” £zvµ[PÒ.

(ii) ¹. 32,000, 10% Á›°À»õ (£vÄµõ) ÁoP¨

£zvµ[PÒ.

(iii) ¹. 6,300, £vÄØÓ ö£õx {ÖÁÚzvh® Á›°À»õ

Ámi¯õP ö£ØÓx.

(iv) ¹. 7,200 Pº|õhPõ Aµ” £zvµ[PÎß «x

Ámi¯õP ö£ØÓx.

(v) ¹. 3,600&I w£U ö£ºiø»Œº {ÖÁÚzvh®

(£vÄØÓx) Ámi¯õP ö£ØÓx.

(vi) ¹. 30,000, 13,5% PõQu B»°ß £zvµ[PÎh®

ö£ØÓx (£vÄØÓx)

(vii) @PõºÚõ {ÖÁÚ® AÎzu £[Põuõ¯® ¹. 4,000,
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22. Give your own example and  show  how to claim

deduction for giving donations.

|ßöPõøh ÁÇ[Q¯uØPõÚ E[PÒ Euõµnzøu TÔ

Ax GÆÁõÖ PÈÄUSÒÍõS® GÚ ÂÍUSP.

23. Mr. X  gives the following information : taxable salary

Rs. 75,000, income from house property 10,000, loss in

self occupied house 15,000, capital gains income : short

term gain 33,000, short-term loss Rs. 3,000, Long term

gain Rs. 7,000 and  long term loss Rs. 10,000.

Compute his Total income.

v¸ X RÌPsh uPÁÀ u¸QÓõº : Á›Sm£mh Œ®£Í®

¹. 75,000, Ãmka öŒõzx Á¸Áõ# ¹. 10,000, öŒõ¢u

Si°¸¨¦ Ãmiß «x |mh® ¹. 15,000, ‰»uÚ

Á¸Áõ# Á¸©õÚ® : SÖQ¯ Põ» Á¸Áõ# : 33,000,

SÖQ¯ Põ» ‰»uÚ |mh® ¹. 3,000. }shPõ» ‰»uÚ

Á¸Áõ# : 7,000, }shPõ» ‰»uÚ  |mh® ¹. 10,000,

AÁ›ß ö©õzu Á¸õÚ® PnUQkP.
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                                Section C                  (3 × 15 = 45)

Answer any three questions.

Each question carries 15 marks.

24. What are the provisions regarding collection and

recovery of Tax ?

Á¸©õÚ Á› Á‹¼¨¦ ©ØÖ® «m¦ £ØÔ¯ ŒµzxUPÒ

¯õøÁ ?

25. Mr. Charles is a college lecturer in  Delhi. During the

year 2009-2010, he gets a basic salary of Rs. 12,300 upto

June 30, and Rs. 12,700 afterwards. Besides, he gets

15% of basic salary as house rent allowance, Rs. 1,630

per month as dearness allowance (71% of it forms part

of salary for  computation of retirement benefits) and

Rs. 500 per month as conveyance allowance which is

entirely used for personal purpose. He is member of a

provident fund to which both the employer and

employee contribute at 8% of  basic salary. Apart from

minimum contribution, he makes an additional
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contribution of Rs. 600 per month to the provident fund.

During the  previous year 2009-2010 Rs. 43,170 is paid

to him for checking answer  sheet of different

universities. Determine the taxable liability of him

assuming his  long term capital gain during the year is

Rs. 3,00,000 and he has invested Rs. 80,000 for

qualifying deduction U/S  54.

v¸ Œõº»ì öhÀ¼°À J¸ PÀ¿›°À @£µõ]›¯µõP

EÒÍõº. 2009&10 &B® BsiÀ AÁº áúß 30 Áøµ°À

¹. 12,300&I²® Auß ¤ÓS ¹. 12,700&I²®

Ai¨£øha Œ®£Í©õP¨ ö£ØÓõº. @©¾® Œ®£Ízvß

15% Ãmk ÁõhøP¨ £i¯õPÄ®, ¹. 1630&I

£gŒ¨£i¯õPÄ® (7% Œ®£Íz@uõk £o K#ÄUS

PnUQh¨£k®) ©õuõ©õu® ö£ÖQßÓõº. @©¾®

¹. 500 ©õu® @£õUSÁµzx¨ £i¯õP uÛ¨£mh

£¯n[PÐUS® ö£ÖQÓõº. AÁ¸® AÁº £o¯©ºzv

Á¸® 8% Œ®£ÍzvÀ @Œ©|» {vUS ÁÇ[SQßÓÚº.

@©¾® AÁº ¹. 600&I @Œ©|» {vUS Tku»õP

ÁÇ[SQÓõº. •¢øu¯ BshõÚ 2009&10&À £À@ÁÖ
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£ÀPø»UPÇP[PÎß ÂøhzuõÒ v¸zv¯uØPõP ¹.

43,170&I Á¸©õÚ©õP¨ ö£ØÓõº. AÁ›ß ‰»uÚ

(}shPõ»®) Á¸Áõ# ¹. 3,00,000 ©õPÄ® AvÀ ¹.

80,000 zøu ¤›Ä 54&ß RÌ •u½k öŒ#uuõPÄ®

öPõsk AÁ›ß Á›ø¯ PnUQhÄ®.

26. Mr. X owns three houses I, II, III. The particulars for

the year ending 31st March 2010 are given below :

 House I (Rs.) House II (Rs.)    House III (Rs.)

Annual fair rent 18,000     15,000  20,000

Municipal valuation 15,000 20,000   10,000

Let out (p.m.)          Self Occupied 1,500 1,000

 Used for Residential Office Residential

Repair  expenses  1,000 – 4,000

Collection charges 2,000 500 –

Interest on loan 500 p.m. 400 p.m. –

For son’s function

(interest  on loan for

function) – 6,000 –

Repairs – Additional – – 1,000
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Municipal tax  is 10% of  municipal valuation, Municipal

tax of House I was paid by owner but municipal tax for

House II was not paid  upto 31.3.10. Municipal tax

House III was paid by tenant. The third House was

remained vacant for 4 months. Calculate Income from

House property.

v¸ X, I, I, III  GßÓ ‰ßÖ ÃkPøÍU öPõskÒÍõº.

©õºa 31, 2010 AßÖ •iÁøh¢u BsiØPõÚ

uPÁÀPÒ R@Ç uµ¨£mkÒÍÚ.

Ãk I (¹.) Ãk II (¹.) Ãk III (¹.)

{¯õ¯©õÚ Bsk ©v¨¦ 18,000 15,000  20,000

|Pµõm] ©v¨¦ 15,000 20,000   10,000

ÁõhøP (©õu®) öŒõ¢u

Si°¸¨¦ 1,500 1,000

 £¯ß£õk Ãk Si°¸¨¦ A¾Á»P® Ãk

Si°¸¨¦

£Êx£õº¨¦ öŒ»Ä 1,000 – 4,000

Á‹À öŒ»Ä 2,000 500 –
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Ãk I (¹.) Ãk II (¹.) Ãk III (¹.)

Phß «x Ámi 500 p.m. 400 p.m. –

©PÝUS {PÌa]

öŒ»Ä (Phß

«x Ámi – 6,000 –

TkuÀ £õxPõ¨¦ – – 1,000

|Pµõm] Á›, |Pµõm] ©v¨¤À 10% |Pµõm] Á›

Ãk I US •u»õÎ¯õ¾®, Ãk III&ß Á› ÁõhøPUS

Si°¸¨@£õµõ¾® öŒ¾zu¨£mhx, BÚõÀ Ãk II&ß

Á› 31.3.10 Áøµ öŒ¾zu¨£hÂÀø». Ãmk Á›

Á¸©õÚ® PnUQkP.

27. Mr. J, a leading tax consultant, who maintains books

of account on cash basis submits the following Receipts

and Payments Account for the year ending March 31,

2010.



15 AFN-1428

Rs. Rs.

To Balance b/d  12,400 By Purchase of typewriter  6,000

To Fees from clients : By  car expenses 18,000

of  2008-09 2,30,500 By  Office expenses 40,000

of  2009-10 11,500 By Salary to staff :

of  2010-11 13,000  of 2008-09 32,000

To Presents from clients 24,000 of  2009-10 11,000

To Interest free loan from By Expenses in respect

a client for purchase of car 2,38,000 of let out property

(municipal tax : Rs. 2,000,

Repairs :  Rs. 1,000,

Insurance : Rs. 3,000) 6,000

To Winnings from lottery 46,000 By car purchased on

10.12.2009 2,40,000
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Rs. Rs.

To Interest from UTI

(Received on September

11, 2009) 12,000 By repairs of office 12,000

To Rent of a let out

property 60,000 By interest on loan 10,000

To Share of income

from a firm 15,000 By Income-tax payment 2,000

By Life Insurance premium 8,000

By Balance  c/d 2,77,400

6,62,400 6,62,400

Car is partly used for official purposes (50%) and partly

for private purposes (50%). Determine the income from

profession.

v¸ J •ßÚo Á› B@»õŒøÚ ÁÇ[S£Áº, BÁº

öµõUP Ai¨£øh°À PnUøP öPõsk RÌPsh ÁµÄ

©ØÖ® öŒ»Ä PnUøP ©õºa 31. 2010 AßÖ

Œ©º¨¤UQÓõº.
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¹. ¹.

C¸¨¦ R/öPõ 12,400 umha” Áõ[Q¯x  6,000

ÁõiUøP¯õÍº Põº öŒ»Ä 18,000

Pmhn® : A¾Á»P öŒ»Ä 40,000

2008-&-09 2,30,500 A¾Á»Pa öŒ»Ä

2009&-10 11,500 2008-&-09 32,000

 2010&-11 13,000

ÁõiUøP¯õÍº A¾Á»º öŒ»Ä

Aß£Î¨¦ 24,000 2009&-10 11,000

 ÁõiUøP¯õÍº ÁõhøPUS Âmh

   AÎzu Ãmiß «x öŒ»Ä

  Ámi°À»õ Phß 2,38,000 (|Pµõm] Á› ¹. 2000,

£Êx£õº¨¦ ¹. 1000,

Põ¨¥k ¹. 3000) 6,000
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¹. ¹.

£›”a ̂ mk Á¸©õÚ® 46,000 Põº Áõ[Q¯x

(10.12.09) 2,40,000

²iI & Ámi

(öŒ¨h®£º 11, 2009) 12,000 A¾Á»P £xPõ¨¦ 12,000

Ãmk ÁõhøP 60,000 Phß«x Ámi 10,000

Tmhõsø©°ß

£[S Á¸©õÚ® 15,000 Á¸©õÚ Á› 2,000

uÛ|£º B²Ò

Põ¨¥k 8,000

C¸¨¦ R/öPõ 2,77,400

6,62,400 6,62,400

Põº 50% £Sv¯õP öŒõ¢uvØS®, 50% £Sv¯õP

A¾Á»PzvØS®  E£@¯õP£kzvÚõº.

 öuõÈÀ Á¸©õÚ PnUøP u¸P.



19 AFN-1428

28. Mr. Ram furnishes the following particulars of his

income for the Assessment Year 2010-2011.

Rs.

(i) Income from salary (computed) 90,000

(ii) Income from House A 50,000

(iii) Loss from House B 30,000

(iv) Loss from House C 25,000

(v) Profit from business A 10,000

(vi) Profit from business B 25,000

(vii) Profit from share business (speculative) 39,000
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Rs.

(viii) Loss from silver business (speculative) 49,000

(ix) Long-term capital gain on sale of shares

on which transaction tax has been paid 10,000

(x) Short-term capital loss on sale of land 5,000

(xi) Income from card games 7,000

(xii) Winnings from lotteries (gross) 10,000

(xiii) Income from horse races in Delhi (Gross) 5,000

(xiv) Loss from horse races in Bangalore 7,000

Compute the Gross total income of Mr,. Ram for the

Assessment Year 2010-11.
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v¸ µõ® 2010&11 UPõÚ Á› Âv¨£õsiØS RÌPsh

uPÁÀPøÍ AÎUQÓõº.

     ¹.

(i) Œ®£Í® (PnUQh¨£mhx) 90,000

(ii) Ãk A &ß «x Á¸©õÚ® 50,000

(iii) Âk  B &À |mh® 30,000

(iv) Ãk C -&À |mh® 25,000

(v) Áõo£® A &ß Á¸©õÚ® 10,000

(vi) Áõo£® B &ß Á¸©õÚ® 25,000

(vii) £[S ÁºzuP C»õ£® (FP Áõo£®) 39,000

(viii) ]ÀÁº ÁºzuP |mh® (FP Áõo£®) 49,000
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  ¹.

(ix) ÁºzuP |hÁiUøP Á› öŒ¾zu¨£mh

£[S Áºzu® «uõÚ }shPõ» ‰»uÚ

 |mh® 10,000

(x) {» ÂØ£øÚ°À SÖQ¯Põ» |mh® 5,000

(xi) Amøh ÂøÍ¯õmk Á¸©õÚ® 7,000

(xii) £›”a ̂ mk Á¸©õÚ® (ö©õzu®) 10,000

(xiii) öhÀ¼°À Svøµ Kmh Á¸©õÚ®

(ö©õzu®) 5,000

(xiv) ö£[PÑ›À Svøµ Kmh |mh® 7,000

v¸ µõªß 2010&11 B® BskUPõÚ ö©õzu Á¸©õÚ®

GßÚ Gß£øu PnUQhÄ®.

***
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B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2011

Fifth Semester

ECONOMICS LAWS

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer all questions.
Each question carries 1 mark.

1. Quote  the section of Industries  Development

Regulations Act under which compulsory license is

given.

IDR  Œmh¨£i Pmhõ¯ E›©® G¢u¨ ¤›Âß RÌ

ÁÇ[P¨£kQÓx ?

2. When was FEMAct passed ?

FEMA Œmh® G¢u Bsk @£õh¨£mhx ?

AFN-1429 BCS535
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3. What type transaction is ‘Buying property outside
India’ by a person resident in India.

C¢v¯õÂÀ Á]US® J¸ |£º C¢v¯õÂØS öÁÎ@¯
J¸ öŒõzøu Áõ[SÁx G¢u Âu©õÚ |hÁiUøPø¯a
@Œº¢ux ?

4. Who registers Small  Scale Industrial  units ?

]Ö öuõÈÀ {ÖÁÚ[PøÍ¨ £vÄ öŒ#£Áº ̄ õº ?

5. What is the jurisdiction of District Consumer Forum ?

©õÁmh ~Pº@Áõº £õxPõ¨¦ SÊÂß AvPõµ Áµ®¦
GßÚ ?

6. Who is appointed as the Chairman of National

Commission on Consumer Protection.

@u]¯ ~Pº@Áõº £õxPõ¨¦ Áõ›¯zuø»ÁµõP ¯õº

{¯ªUP¨£kQÓõº ?
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7. When was the water (Prevention and  Control of

Pollution) Act enacted ?

}º ©õ”U Pmk¨£õmka Œmh® G¨@£õx C¯ØÓ¨£mhx ?

8. What do you mean by ‘Caveat Emptor’ ?

 ‘@PÂ¯m G®¨hõº’ GßÓõÀ GßÚ ?

9. Can a patient of a Government hospitals be considered

as  Consumer ?

Aµ” ©¸zxÁ©øÚ°À ]QaøŒ ö£Ö® @|õ¯õÎ

‘~Pº@Áõº’ BÁõµõ ?

10. What is Tie up sales ?

JßÖhß JßÖ CønUP¨£mh ÂØ£øÚ GßÓõÀ
GßÚ ?
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11. Define ‘Environmental Pollution’.

”ØÖa‹ÇÀ ©õ”£kuÀ—Áøµ¯Ö.

12. What is Cease and Desist order ?

‘{Özx ©ØÖ® öuõhµõ@u’ PmhøÍ Gß£x GßÚ ?

13. Define ‘Currency’.

£n @|õmk—Áøµ¯Ö.

14. Who is a Consumer ?

~Pº@Áõº Gß£Áº ̄ õº ?

15. Who is a Money Changer ?

£n ©õØÖ£Áº Gß£Áº ¯õº ?
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Section B             (5 × 8 = 40)

Answer any five questions.

16. Discuss the powers and duties of ‘‘Authorised persons’

under FEMA.

FEMA Œmhzvß RÌ ‘A[RP›UP¨£mh’ |£ºPÎß

AvPõµ® ©ØÖ® Phø©PøÍ ÂÍUSP.

17. Who are persons resident  in India ?

‘C¢v¯õÂÀ Á]¨£Áº’ GÚ¨£k£Áº ̄ õÁº ?

18. Define ‘‘ Deficiency in Service’’. Give six examples.

‘@ŒøÁ°À SøÓ£õk ’—Áøµ¯Ö. H@uÝ® ú

GkzxUPõmkPÒ TÓÄ®.
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19. State the powers of State Board under Air Pollution

Control Act.

ÁÎ ©õ”UPmk¨£õmka Œmhzvß £i Aø©¢u ©õ{»

Áõ›¯zvß AvPõµ[PøÍ GÊxP.

20. Write notes on ‘Environmental Audit’.

‘”ØÖa ‹ÇÀ uoUøP’ £ØÔ SÔ¨¦ ÁøµP.

21. Discuss the functions of Development Council under

IDR Act.

IDR Œmhzvß RÌ HØ£kzu¨£mkÒÍ ‘A¤Â¸zv

PÇPzvß ’ öŒ¯À£õkPøÍ ÂÁ›UPÄ®.

22. What are Restrictive Trade practices ? Give any three

example.

Pmk¨£kzx® ÁoP |hÁiUøPPÒ GßÓõÀ GßÚ ?

GøÁ@¯Ý® ‰ßÔøÚ ÂÍUPÄ®.
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23. List out the orders passed u/s 18 G of  IDR Act regulating

supply, distribution and price of articles.

ö£õ¸mPÎß ÁÇ[PÀ ©ØÖ® Âø»PøÍ JÊ[PõØÖ®

Bøn (¤›Ä 18 G £i)   IDR  Œmh® ÂÁ›UP.

Section C                   (3 × 15 = 45)

Answer any three questions.

24. Discuss the powers of Central Government to takeover

the Management of ‘Industrial Undertakings’ under

IDR Act.

 IDR Œmhzvß RÌ öuõÈÀ {ÖÁÚ[PøÍz ‘uß

ÁŒ©õUSuÀ’ ©zv¯ Aµ]ß AvPõµ[PøÍ ÂÍUSP.

25. Discuss the  reliefs available to Consumers under

‘‘Consumer Protection Act’’.

~Pº@Áõº £õxPõ¨¦a Œmhzvß RÌ  ~Pº@Áõ¸US

QøhUS® {Áõµn[PøÍ ÂÍUSP.
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26. Explain the provisions of Sec. 3 of  FEMA regulating

the dealings in Foreign exchange.

FEMA Œmh® ¤›Ä 3 À GÆÁõÖ A¢{¯ öŒ»õÁo

|hÁiUøPPøÍ JÊ[PõØÖ¨ £kzxQßÓx ?

27. State any five powers of Central Government under

Environmental Protection Act.

”ØÖa ‹ÇÀ £õxPõ¨¦a Œmhzvß RÌ ©zv¯ Aµ”US

AÎUP¨£mkÒÍ AvPõµ[PÎÀ I¢vøÚ ÂÍUSP.

28. What are the procedures for taking samples and their

analysis under Water Pollution Control Act.

wº ©õ”UPmk¨£õmka Œmhzvß RÌ ‘uspº ©õv›’

GÆÁõÖ Gkzx @ŒõuøÚ öŒ#¯¨£kQÓx ?

***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE  EXAMINATION, APRIL 2011

Sixth Semester

CORPORATE ACCOUNTING—II

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer  all questions.

Fill in the blanks with correct answer :

1. List H shows ————— Account.

Á›øŒ ‘H’ —————PnUøP Põs¤UQÓx.

2.  A company should purchase more than —————

shares of another company to become a holding

company.

J¸ {Ö©®  ¤i¨¦ {Ö©©õÁuØS ©ØöÓõ¸ {Ö©zvß

————— ŒuÃuzvØS @©»õÚ £[SPøÍ Áõ[P

@Ásk®.

AFN-1430 BCS631
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3. The term surrender value is exclusively applicable only
for —————— insurance.

————— Põ¨¥miÀ ©mk@© v¸®£ J¨£øhÄ

©v¨¦ öŒ¯À£kzu¨£k®.

4. Schedule 13 relates to —————.

AmhÁøn 13US öuõhº¦øh¯x ————— BS®.

5. Accounting for price level changes is also known as
——————.

Âø» {ø» ©õØÖUS›¯ PnUS —————.

State whether the following statements are true or false :

6. The preferential creditors are treated as fully secured

creditors when they can be fully paid.

•ßÝ›ø© PhÜ¢@uõºPÒ •ØÔ¾® £õxPõ¨£õÚ

PhÜ¢@uõµõP P¸u¨£mk •ÊzöuõøP²®

AÁºPÐUS öŒ¾zu¨£k®.
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7. Valuation Balance Sheet is prepared to ascertain

surplus or deficiency of life insurance.

©v¨¥k C¸¨¦ {ø»USÔ¨£õÚx B²Ò Põ¨¥miß

ªSv ©ØÖ® £ØÓõUSøÓø¯ PnUQh

u¯õ›UP¨£kQÓx.

8. Rebate on bills discounted is an income to the banking

company.

Ámh® öŒ¯À£mh ^miß «uõÚ uÒÐ£i Gß£x

Á[Q{Ö©zvØS Á¸©õÚ©õS®.

9. Holding gain refers to the difference between sale price

and replacement cost of goods.

¤i¨¦ C»õ£® Gß£x ÂØ£øÚ Âø»US® ŒµUS

©õØÖ Âø»US® Cøh@¯  EÒÍ @ÁÖ£õhõS®.

10. The primary objective of inflation accounting  is to
measure the extent of change in the profit as a result of
inflation.

£nÃUP PnUQß •ußø© @|õUP® £nÃUPzvÚõÀ
C»õ£zvÀ HØ£k® ©õØÓzøu AÍÂkÁuõS®.
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Choose the correct answer :

11. A contributory is a —————.

(a) Unsecured creditors.

(b) Preferential creditors.

(c) Share holders.

(d) Debenture holder.

J¸ £[PÎ¨£Áº Gß£Áº —————.

(A) ¤øn°À»õ PhÜ¢@uõº.

(B) •ßÝ›ø© PhÜ¢@uõº.

(C) £[S E›ø©¯õÍº.

(D) PhÜmk¨ £zvµuõµº.

12. Profits earned by a subsidiary company upto the date

of acquisition of shares by the holding company are

called :

(a) Revenue profit.

(b) Capital profit.

(c) Revaluation profit.

(d) Realization profit.
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J¸ ¤i¨¦ {Ö©® Auß xøn {Ö©zvß £[SPøÍ

Áõ[Q¯ |õÐUS •ß Áøµ xøn {Ö©® Dmi¯

C»õ£® ————— C»õ£® GÚ P¸u¨£k®.

(A) Á¸Áõ°Ú.

(B) ‰»uÚ.

(C) ©Ö©v¨¥mk.

(D) ÂØÖ ÁµÄ.

13. Claims paid by life insurance companies is shown in :

(a) Schedule I.

(b) Schedule II.

(c) Schedule III.

(d) Schedule IV.

B²Ò Põ¨¥mk {Ö©zuõÀ @Põ›UøPPÒ «x

öŒ¾zv¯øÁPøÍ Cv» Põmh @Ásk®.

(A) AmhÁøn I.

(B) AmhÁøn II.

(C) AmhÁøn III.

(D) AmhÁøn  IV.



6 AFN-1430

14. In the historical accounting system cost represents

———————.

(a) Replacement cost.

(b) Current cost.

(c) Imputed cost.

(d) Original cost.

Áµ»õØÖU PnUS •øÓ°À AhUP® GÚ¨£kÁx

———————.

(A) Œ› öŒ#¯¨£mh ©õØÖ AhUP®.

(B) |h¨¦ AhUP®.

(C) Ch¨£mh AhUP®.

(D) Esø©¯õÚ AhUP®.

15. Under double account system interest on debenture is

shown in —————.

(a) Revenue account.

(b) Net revenue account.

(c) Capital account.

(d) General balance sheet.
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Cµmøh¨ £vÄ •øÓ°À PhÜmk¨ £zvµ[PÒ «uõÚ

Ámi CvÀ Põs¤UP¨£kQÓx.

(A) Á¸Áõ# PnUS.

(B) {Pµ Á¸Áõ# PnUS.

(C) ‰»uÚ PnUS.

(D) ö£õx C¸¨¦ {ø»U SÔ¨¦.

Section B                      (5 × 8 = 40)

Answer any  five questions.

16. The Balance Sheet of Big Ltd. as on 31-12-2005 was as

follows :

Liabilities Rs. Assets Rs.

Share Capital : Fixed Assets :

800 Pref. shares Land and Building 25,000

of Rs. 100 each 80,000 Other fixed assets 2,00,000
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Rs. Rs.

1200 equity shares Debtors 1,00,000

of Rs. 100 each 1,20,000 Stock 5,25,000

Bank Loan 4,00,000 P and L account 58,000

8% Debentures 1,00,000

Interest

outstanding on

Debenture 8,000

Creditors 2,00,000

9,08,000 9,08,000

The company went into liquidation on that date.
Prepare Liquidators statement of account after taking
into account the following :

(i) Liquidation expenses Rs. 3,000.

(ii) Liquidators remuneration Rs. 10,000.

(iii) Fixed assets were realized at book value and
current assets at 80% of book values.
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¤U {Ö©zvß 31.12.2005 AßøÓ¯ C¸¨¦ {ø»U

SÔ¨¦ ¤ß Á¸©õÖ :

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

£[S •uÀ : {ø»a öŒõzxUPÒ :

JÆöÁõßÖ® ¹, 100 {»® ©ØÖ® Pmih®    25,000

Ãu® 800 •ßÝ›ø© ©ØÓ {ø»a öŒõzxPÒ  2,00,000

£[SPÒ 80,000 PhÚõÎPÒ 1,00,000

JÆöÁõßÖ® ¹. 100 ŒµUQ¸¨¦ 5,25,000

Ãu® 1200 Œõuõµn C»õ£ |mh P/S 58,000

£[SPÒ 1,20,000

Á[Q Phß 4,00,000
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¹. ¹.

8% PhÜmk¨

£zvµ[PÒ 1,00,000

PhÜmk  ̈£[S

«uõÚ {¾øÁ Ámi 8,000

PhÜ¢@uõº 2,00,000

9,08,000 9,08,000

{Ö©® SÔ¨¤mh A¢u @uv°À Pø»¨¤ØSÒÍõÚx.

¤ß Á¸ÁÚÁØøÓ PnUQÀ öPõsk Pø»¨£õÍº

PnUS AÔUøP u¯õ›UPÄ®.

(i) Pø»¨¦a öŒ»Ä ¹. 3,000.

(ii) Pø»¨£õÍº Fv¯® ¹. 10,000.

(iii) Hmk ©v¨¤À {ø»a öŒõzxPÐ® 80% Hmk

©v¨¤À |h¨¦a öŒõzxPÐ® wºÁõÚx.
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17. The Balance Sheets of C Ltd, and D Ltd, as at 31.12.1986

are as follows :

Liabilities  C Ltd   D Ltd Assets C Ltd D Ltd

Share Capital Sundry assets   1,32,500  1,38,200

(in shares of Goodwill _  20,000

Rs. 10 each)          2,00,000  1,00,000   Shares in

General reserve  18,000 20,000  D Ltd. at cost 1,40,000 –

Profit and Loss a/c 24,500 23,000

Creditors    30,000 15,200

2,72,500 1,58,200  2,72,500 1,58,200

In the case of  D Ltd., profit for the year ended 31st

December 1986 is Rs. 12,000 and transfer to reserve is

Rs. 5,000. The holding of C Ltd. in D Ltd. is 90%

acquired on 30th June 1986.

Prepare Consolidated Balance Sheet.
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31.12.86 AßøÓ¯ C {Ö©® ©ØÖ® D {Ö©zvß C¸¨¦

{ø»U SÔ¨¦PÒ ¤ß Á¸©õÖ :

ö£õÖ¨¦PÒ  C Ltd   D Ltd öŒõzxPÒ C Ltd D Ltd

£[S •uÀ £Ø£»

(£[S öŒõzxUPÒ  1,32,500  1,38,200

¹. 10 Ãu®)2,00,000  1,00,000 ÁoP |Øö£¯º _  20,000

ö£õx Põ¨¦ 18,000 20,000  AhUP Âø»°À

C»õ£ |mh D {Ö©zvÀ

P/S 24,500 23,000 EÒÍ £[SPÒ1,40,000  _

PhÜ¢@uõº    30,000 15,200

272,500 1,58,200  2,72,500 1,58,200

31.12.1986 Bsk CÖv°À D {Ö©zvß C»õ£® ¹.

12,000 ©õPÄ® Põ¨¦ ¹. 5000 Ä® C¸UQÓx. 30 áúß

1986 AßÖ 90-% D {Ö© £[SPøÍ C {Ö©® Áõ[Q¯x.

öuõS¨¦ C¸¨¦ {ø»USÔ¨¦ u¯õ›UP.
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18. The revenue account of Life Insurance Company

showed a balance of Rs. 4,75,000 at the end of  1983

before considering the following items :

Rs.

Bonus in reduction of premiums 40,000

Outstanding premiums 1,00,000

Interest accrued on investments 20,000

Claims intimated but not admitted 35,000

Claims covered under reinsurance 3,000

Pass necessary Adjustment entries.

B²Ò Põ¨¥mk {Ö© Á¸Áõ# PnUS 1983® Bsk

CÖv°À ¹. 4,75,000 C¸¨ø£ ¤ß Á¸ÁÚÁØøÓ

PnURmkUS GkzxU öPõÒÐ® •ß Põmi¯x.
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¹.

•øÚ©® Œ›Pmh¨£mh @©À Buõ¯® 40,000

{¾øÁ •øÚ©® 1,00,000

•u½kPÒ «x E¸ÁõÚ Ámi 20,000

@Põ›UøPPÒ öu›ÂUP¨£mk

AÝ©vUP¨£hõuøÁ 35,000

©ÖPõ¨¥miß RÌÁ¸® @Põ›UøPPÒ 3,000

@uÁ¯õÚ Œ›UPmk¨ £vÄPøÍz u¸P.

19. From the following particulars, prepare a Profit  and

Loss account of New Bank Ltd, for the year ended

31.3.2002.

Rs.

Interest on loans 2,60,000

Interest on fixed deposits 2,80,000

Rebate on bills discounted 50,000

Commission charged to customers 9,000
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Rs.

Establishment expenses 56,000

Discount on bills discounted (net) 2,00,000

Interest on current accounts 45,000

Printing and advertisements 3,000

Interest on cash credits 2,25,000

Rent and taxes 20,000

Interest on overdrafts 56,000

Directors  and auditors fees 4,500

Interest on saving bank accounts 70,000

Postage and  telegram 1,500

Sundry charges 1,800

RÌ Á¸® Â£µ[PÎÀ C¸¢x 31.3.2002 AßÖ •iÄÖ®

BsiØPõÚ {³ @£[U ¼ªöhmiß C»õ£ |mhU

PnUøP u¯õ›UP.
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¹.

Phß «uõÚ Ámi 2,60,000

{ø» øÁ¨¦ «uõÚ Ámi 2,80,000

Ámh® öŒ#u ©õØÖa ^mk «uõÚ

uÒÐ£i 50,000

ÁõiUøP¯õÍ¸US Âvzu uµS 9,000

{ºÁõP öŒ»ÄPÒ 56,000

Ámh® öŒ#u ©õØÖa ^mk «uõÚ

Ámh® ({Pµ) 2,00,000

|h¨¦ PnUSPÒ «uõÚ Ámi 45,000

Aa” ©ØÖ® ÂÍ®£µa öŒ»Ä 3,000

öµõUP Phß «uõÚ Ámi 2,25,000

ÁõhøP ©ØÖ® Á› 20,000

@©ÀÁøµ¨ £ØÖ «uõÚ Ámi 56,000
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¹.

C¯USÚºPÒ ©ØÖ® uoUøP¯õÍºPÒ

Fv¯® 4,500

@Œª¨¦ PnUS «uõÚ Ámi 70,000

u£õÀ ©ØÖ® u¢va öŒ»Ä 1,500

£Ø£» öŒ»ÄPÒ 1,800

20. A real estate company started with a capital of

Rs. 50,00,000 which was invested in urban land on

1-1-90. On that date the general price index was 100

and specific price index  for land was 200. The company

has no other transactions and it sold the land on 1-1-95

on which date the general price index was 180 and the

specific price index was 420. The sale price of the land

was 1,80,00,000.

You are require to Ascertain Profit under HCA, CPP

and CCA method.
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{»¦» Â¯õ£õµ {Ö©® JßÖ ¹. 50,00,000 •uø»

öPõsk Bµ®£® öŒ#¯¨£mhx. 1.1.90 AßÖ |Pº¦µ

{»zvÀ AuøÚ •u½k öŒ#ux. A¨@£õøu¯ ö£õx

Âø»U SÔ±k 100 BPÄ® SÔzu Âø»USÔ±k 200

BPÄ® C¸¢ux.  ©ØÓ |hÁiUøPPÒ GxÄ® CÀ»õu

{ø»°À 1.1.95 AßøÓ¯ ö£õx Âø»USÔ±k 180

BPÄ®, SÔzu Âø»USÔ±k 420 BPÄ®

C¸¢u@£õx {»® ÂØP¨£mhx. {»zvÝøh¯

ÂØ£øÚ Âø» ¹. 1,80,00,000 BP C¸¢ux.

HCA, CPP ©ØÖ® CCA •øÓPÎÀ C»õ£zvøÚ

PnUQkP.

21. Compute Reasonable return from the following

information  given below :

    Rs.

Capital base –  34  lakhs

Loan from electricity board – 30 lakhs

Development reserve – 10 lakhs

10% debenture – 8 lakhs

Reserve fund investment (6%) – 60 lakhs

Assume the bank rate to be 8%.
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¤ß Á¸ÁÚÁØÔ¼¸¢x {¯õ¯©õÚ Á¸Áõ#

PnUQkP.

      ¹.

Ai¨£øh ‰»uÚ® –  34  »mŒ®

ªßÁõ›¯ªhª¸¢x ö£ØÓ Phß – 30 »mŒ®

@©®£õmk JxURk – 10 »mŒ®

10% PhÜmk¨ £zvµ[PÒ – 8 »mŒ®

Põ¨¦ {v •u½kPÒ (6 ŒuÃu®) – 60 »mŒ®

Á[Q Ámi Ãu® 8% GÚU öPõÒP.

22. What is statement of affairs ? How is it prepared ?

C¸¨¦ {ø» AÔUøP GßÓõÀ GßÚ ? G¨£i Cx

u¯õ›UP¨£kQÓx ?

23. What is reserve for unexpired risk ? Why is it created ?

•iÄÓõ Chº£õmkUPõÚ Põ¨¦ GßÓõÀ GßÚ ? Cx

u¯õ›UP¨£kÁx Hß ?
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Section C                    (3 × 15 = 45)

Answer any  three questions.

24. Ray (P) Ltd. went into voluntary liquidation on April

2007 on which date its position was under :

Rs. Rs.

Share capital Land and Building   80,000

5,000 shares of Other fixed Assets 2,60,000

Rs. 100 each Stock 1,05,000

80 paid per share 4,00,000 Debtors 1,00,000

Loans (secured by Loans 40,000

mortgage of land, Cash 5,000

building and machinery) 1,00,000 Profit and Loss a/c 1,10,000

Unsecured loan and

liabilities (including

preferential dues

Rs. 1000) 2,00,000

7,00,000 7,00,000
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Land, building and machinery were realized by  secured

creditors for Rs. 1,20,000. Other fixed assets fetched Rs.

40,000. Debtors Rs. 20,000, Stock Rs. 10,000, loans were

wholly bad. The liquidator is entitled to a fixed rate of

Rs. 1000 plus 2% of the amount paid to unsecured

creditors. The liquidator’s out of packet expenses

amounted to Rs, 1000.

Prepare Liquidators Final Statement of accounts.

µõ# uÛ {Ö©® H¨µÀ 2007 AßÖ Pø»UP¨£mhx.

Pø»UP¨£mh @£õx C¸¢u Auß C¸¨¦ {ø» RÌ

Á¸©õÖ :

¹. ¹.

£[S •uÀ {»® ©ØÖ® Pmih®  80,000

¹. 80 öŒ¾zu¨£mh ©ØÓ {ø»a öŒõzx2,60,000

100 ¹£õ# ©v¨¦ÒÍ

5000 £[SPÒ  4,00,000 ŒµUQ¸¨¦ 1,05,000

PhßPÒ ({»®, PhÚõÎPÒ 1,00,000

Pmih®, ö£õÔ «x PhßPÒ 40,000

Ah©õÚ® öµõUP® 5,000

öŒ#¯¨£mhx 1,00,000 C»õ£ |mh P/S 1,10,000
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¹. ¹.

¤øn¯ªÀ»õ PhßPÒ

©ØÖ® ö£õÖ¨¦PÒ

 (¹. 1000 •ßÝ›ø©

PhßPÒ EÒÍhUQ¯x)2,00,000

7,00,000 7,00,000

¤øn¯U PhÜ¢@uõµõÀ {»®, Pmih® ©ØÖ® ö£õÔ

¹. 1,20,000 US ÂØÖ £n® ö£Ó¨£mhx. ©ØÓ {ø»a

öŒõzxUPÒ ©v¨¦ ¹. 40,000,  PhÚõÎPÒ ¹. 20,000.

ŒµUQ¸¨¦ ¹. 10,000. PhßPÒ •ÊÁx® ÁµõUPhß

BÚx. {Ö© Pø»¨£õÍº SÔ¨¤mh  öuõøP ¹. 1,000

©ØÖ® 2% ŒuÃu® ¤øn°À»õ PhÜ¢@uõUSU

öPõkUP¨£k® öuõøP°À ö£Ó E›ø©¯õÚÁº.

Pø»¨¤ØPõÚ öŒ»Ä ¹. 1000 BS®.

{Ö© Pø»¨£õÍº CÖv AÔUøP u¯õ›UP.

25. From the following details, prepare the Revenue
account, Profit and Loss account and balance sheet of
Moon Shine Insurance Company Ltd carrying on
marine insurance business, for the 15 months ended

31-3-2006.
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Rs. Rs.

Agents balance (Dr) 1,46,400 Share Capital 15,00,000

Interest accrued Balance of marine

but not due 8,200 fund (1-4-05) 7,60,000

Furniture and fixtures Unclaimed dividends 2,400

(cost Rs. 12,600) 8,400 P and L account (Cr) 2,40,000

Stock  of stationary 2,500 Sundry creditors 12,600

Expenses of management 2,20,000 Due to reinsurance 60,000

Foreign taxes and Premium less

insurance 12,300 reinsurance 12,40,000

Outstanding premium 21,200 Interest and dividend 2,40,000

Donations paid 8,600 Transfer fee received 600
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Rs.

Advance income tax

Payment : 62,000

Sundry debtors 9,200

Govt. of India securities 9,20,000

Debentures of public body 1,80,000

Shares in limited company 3,60,000

State Govt. securities 8,80,000

Claim less reinsurance 10,60,000

Commission paid 62,400

Cash and Bank Balance 94,400

Outstanding  claims on 31-3-2006 were Rs. 1,40,000.

Depreciation on furniture to be provided at 20% per

annum.
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¤ß Á¸® Â£µ[PøÍU öPõsk PhÀŒõº Põ¨¥k

Â¯õ£õµ® öŒ#²® ‰ßøŒß Põ¨¥mk {Ö©zvß

31&3&2006 •i²® 15 ©õu Põ»zvØPõÚ Á¸Áõ#

PnUS  C»õ£|mh P/S ©ØÖ® C¸¨¦ {ø»U SÔ¨¦

u¯õ›UPÄ®.

¹. ¹.

•PÁºPÒ C¸¨¦ (£ØÖ) 1,46,400 £[S •uÀ 15,00,000

öPõk£h @Ási  ̄Ámi

öPõkUP @Ási¯x 8,200 PhÀ Œõº¢v°¸¨¦

AøµP»ß  ©ØÖ® (1.1.05) 7,60,000

xøn  ̈ö£õ¸mPÒ 8,400 @Põµ¨£hõu £[Põuõ¯® 2,400

GÊxö£õ¸Ò C¸¨¦ 2,500 C»õ£|mh P/S (ÁµÄ)2,40,000

@©»õsø©a öŒ»ÄPÒ2,20,000 £Ø£» PhÜ¢@uõº 12,600
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¹. ¹.

öÁÎ|õmk Á› ©ØÖ® ©Ö Põ¨¥mk £õUQ 60,000

Põ¨¥k 12,300 ©Ö Põ¨¥mk PÈzu

•øÚ©® 12,40,000

{¾øÁ°¾ÒÍ •øÚ©® 21,200 Ámi ©ØÖ® £[Põuõ¯®2,40,000

|ßöPõøh öPõkzux 8,600 ©õØÖU Pmhn® ö£ØÓx 600

•ß Á¸©õÚ Á› 62,000

£Ø£» PhÚõÎPÒ 9,200

C¢v¯ Aµ” ¤øn¯[PÒ9,20,000

ö£õx {Ö© PhÜmk¨

£zvµ[PÒ 1,80,000
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¹. ¹.

Áøµ¯ÖUP¨£mh {Ö©

£[SPÒ 3,60,000

©õ{» Aµ” ¤øn¯[PÒ8,80,000

©Ö Põ¨¥k PÈzu

@Põ›UøP 10,60,000

PÈÄ öŒ¾zv¯x 62,400

öµõUP® ©ØÖ® Á[Q°¸¨¦94,400

31.3.2006 AßÖ {¾øÁ°¾ÒÍ @Põ›UøPPÒ ¹.

1.40,000 BS® AøÓP»ß «x BsiØS 20%

@u#©õÚ® JxUP @Ásk®.
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26. From the  following summarized Balance Sheet of

H Ltd and S Ltd. as on 31st December 2004, Prepare a

Consolidated Balance Sheet of two companies :

Liabilities H Ltd. S Ltd. Assets H Ltd. S  Ltd.

Rs. Rs. Rs. Rs

Share capital Fixed assets 18,10,000 15,75,000

Shares of Rs. 10 Investments

each fully paid 25,00,000 12,50,000 (1,00,000 )shares

Reserves 7,50,000 5,00,000 in  S Ltd)  11,00,000  –

Creditors 2,25,000 2,00,000 current assets 5,65,000 3,75,000

34,75,000 19,50,000 34,75,000 19,50,000

H Ltd purchased the shares in S Ltd on 1st January
2004 when reserves in S Ltd stood at Rs. 3,00,000 and
in H Ltd at Rs. 4,50,000.
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31.12.2004&ß £i H {Ö©® ©ØÖ® S {Ö© C¸¨¦ {ø»

SÔ¨¤¼¸¢x AÆÂ¸ {Ö©[PÎß öuõS¨¦ C¸¨¦

{ø» SÔ¨¦ u¯õ›UP.

ö£õÖ¨¦PÒ H Ltd. S Ltd. öŒõzxPÒ H Ltd. S  Ltd.

¹. ¹. ¹. ¹

£[S •uÀ {ø»a

(•ÊÁx® öŒõzxUPÒ 18,10,000 15,75,000

öŒ¾zu¨£mh ¹, 10 •u½kPÒ

©v¨¦øh¯x) 25,00,000  12,50,000 (1 C»mŒ®

Põ¨¦PÒ 7,50,000 5,00,000 £[SPÒ S Ltd

PhÜ¢@uõº  2,25,000    2,00,000 Eøh¯x) 11,00,000             –

|h¨¦

öŒõzxPÒ 5,65,000 3,75,000

34,75,000  19,50,000 34,75,000 19,50,000
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áÚÁ› 1, 2004 AßÖ S Ltd. Ýøh¯ £[SPøÍ H Ltd.

Áõ[Q¯x. A¨@£õx S {Ö©® ö£õxUPõ¨¦ ¹. 3,00,000

©õPÄ® H {Ö© ö£õxUPõ¨¦ ¹. 4,50,000 ©õPÄ®

C¸¢ux.

27. On 31.12.2007, the following balances stood in the books

of Asian Bank Ltd. Prepare its Balance Sheet in the

prescribed form.

Paid up share capital (shares of Rs. 100  (Rs. in ’000)

each fully paid 2,000

Bills discounted 1,800

Reserve fund 770

Cash credits 2,000

Overdrafts 800

Unclaimed dividends 10

Loans 4,600

Current deposits 3,800
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    (Rs. in ’000)

Furniture 40

Profit and Loss account (Cr.) 220

Stamps and stationary 10

Cash in hand 500

Cash with Reserve Bank 1,300

Branch adjustments (Dr.) 170

Investments 950

Loan (Cr.) 1,200

Recurring deposits 1,000

Fixed deposits 2,000

Cash certificates 1,000

Contingency reserve 170

Adjustments :

1. Rebate on bills discounted Rs. 10,000.

2. Provide Rs. 80,000 for doubtful debts.
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3. Bank acceptances on behalf of customers were
Rs. 6, 50,000.

RÌ Á¸® Â£µ[PÎÀ C¸¢x, 31.12.2007 AßøÓ¯

B]¯ß @£[U ¼ªöhmiß C¸¨¦ {ø»U SÔ¨ø£

E›¯ £iÁzvÀ u¯õ›UP :

•ÊÁx® öŒ¾zu¨£h ‰»uÚ® JÆöÁõßÖ® (Rs. in ’000)

¹. 100 •ÊÁx® öŒ¾zu¨£mh £[SPÒ 2,000

Ámh® öŒ#¯¨£mh ©õØÖa ̂ mkPÒ 1,800

Põ¨¦ {v 770

öµõUP Phß 2,000

@©ÀÁøµ¨£ØÖ 800

@Põµ¨£hõu £[Põuõ¯® 10

PhßPÒ 4,600

|h¨¦ øÁ¨¦PÒ 3,800

AøÓP»ß 40

C»õ£|mh P/S 220
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 (Rs. in ’000)

u£õÀuø» ©ØÖ® GÊxö£õ¸ÒPÒ 10

øP°¸¨¦ öµõUP® 500

©zv¯ Á[Q°À EÒÍ öµõUP® 1,300

QøÍa Œ›PmhÀPÒ (£ØÖ) 170

•u½kPÒ 950

PhßPÒ (ÁµÄ) 1,200

öuõhº øÁ¨¦PÒ 1,000

{ø» øÁ¨¦PÒ 2,000

öµõUP ŒõßÔuÌPÒ 1,000

Gvº£õµõu {ø» Põ¨¦ 170

Œ›PmhÀPÒ :

1. Ámh® öŒ#¯¨£mh ^mkPÒ «uõÚ uÒÐ£i &

¹. 10,000.

2. I¯UPhÚõP ¹. 80,000 JxUSP.

3. ÁõiUøP¯õÍ¸UPõP Á[Q HØÓøÁPÒ ¹. 6,50,000
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***

28. Explain the following :

(a) Reinsurance.

(b) Rebate on bills discounted.

(c) List H -surplus/deficiency.

¤ß Á¸ÁÚÁØøÓ ÂÍUSP :

(a) ©ÖPõ¨¥k

(b) Ámh® öŒ#u ^miß «uõ uÒÐ£i

(c) Á›øŒ H  ªSv/£ØÓõUSøÓ.
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B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2011

Sixth Semester

INDUSTRIAL LAW

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer  all the questions.

1. Who is called an adolescent ?

(a) Persons below 18 years.

(b) Persons below 15 years.

(c) Persons who not completed 17 years of age.

(d) A child.

•vºÁøh¯õuÁº Gß£Áº ̄ õº ?

(A) 18 Á¯xSm£mhÁº.

(B) 15 Á¯xUSm£m@hõº.

AFN-1431 BCS633
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(C) 17 Á¯x Aøh¯õuÁº.

(D) J¸ SÇ¢øu.

2. Overtime wages are payable when a workman works

for ———— hours in a week.

(a) 60.

(b) 24

(c) 50

(d) 48.

TkuÀ @|µ T¼ J¸ @Áø»¯õÐUS ÁõµzvÀ

—————— ©o @|µ[PÐUS @©À ÁÇ[P¨£m

@Ásk®.

(A) 60

(B) 24
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(C) 50

(D) 48

3. The purpose of Factories Act is to deal with ?

(a) Settlement of disputes.

(b) Conditions of work.

(c) Wage payments.

(d) Labour relations.

öuõÈØŒõø» Œmh® G¢u @|õUPzvØPõP EÒÍx ?

(A) uPµõÖPøÍ wº¨£uØS.

(B) @Áø» Aø©¨¦ Œ®£¢u©õP.

(C) T¼ öŒ¾zxu¾UPõP.

(D) öuõÈ»õÍº EÓÄUPõP.
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4. The Compensation payable under the Workmen
Compensation takes into account ‘‘relevant factor’’
considering :

(a) Age of employee.

(b) Type of process.

(c) Loss of earning.

(d) Factory employed.

@Áø»¯õÒ CÇ¨¥k PnURmiÀ Œ®£¢u©õÚ Põµo
G¢u Ai¨£øh°À @©ØöPõÒÍ¨£kQÓx ?

(A) öuõÈ»õÍº Á¯x.

(B) @Áø»°ß ÁøP.

(C) Á¸©õÚ CÇ¨¦.

(D) öuõÈØŒõø»°ß @Áø».
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5. Minor means a person who has not attained the age :

(a) 18 years.

(b) 25 years.

(c) 21 years.

(d) 15 years.

CÍÁº Gß£Áº G¢u Á¯øu Aøh¯õuÁº ?

(A) 18 Á¯x.

(B) 25 Á¯x.

(C) 21 Á¯x.

(D) 15 Á¯x.
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6. Privileged  employees under Trade union are called

—————— employees.

öuõÈØŒ[Pzvß Œ¾øP ö£ØÓ öuõÈ»õÍº ————

öuõÈ»õÍº.

7. At the national level the Industrial Disputes can be

referred to —————.

@u]¯ AÍÂÀ öuõÈzuPµõÖ ——————

@©ØöPõÒÍ¨£kQÓx.

8. The minimum bonus payable shall be ————— % of

wages.

 SøÓ¢u£mŒ @©¿v¯©õÚx —————— %

   T¼°À.

9. Lock out is a weapon in the hands of ——————.

PuÁøh¨¦ Kº B²u® ————— øP°À.
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10. All labour legislations concern about the ——————
employees.

AøÚzx öuõÈ»õÍº Œmh[PÐ® öuõÈ»õÍ›ß
 —————— P¸zvÀ öPõsk EÒÍx.

11. The employer can deduct as ———— in case  of

misconduct/misbehaviour in the factory.

•u»õÎ —————— BP öuõÈ»õÍ›ß uÁÓõÚ

|hzøuUPõP PÈUP»õ®.

12. The organization that works for the welfare of labour

at the global level is ———————.

E»P AÍÂÀ öuõÈ»õÍº |»ÝUPõP öŒ¯À£k®

{ÖÁÚ® ——————.

13. Retrenchment is termination of employees otherwise

by way of resignation or ———————.

uÂºUP•i¯õ @Áø»°Ç¨¤À öuõÈ»õÍº µõâÚõ©õ

AÀ»x ————— ‰»©õP |øhö£ÖÁvÀø».
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14. The employee who is  diseased can get —————

benefit  from  ESI Corporation.

ESI PÇPzvß ‰»® J¸ @|õ²ØÓ öuõÈ»õÍº

————— |ßø©ø¯¨ ö£Ó»õ®.

15. —————— of an undertaking can be done where
continuous loss occurs or when business cannot be

carried on.

J¸ {ÖÁÚ —————— öuõhº¢x |mh® AÀ»x

öuõÈÀ |hzu •i¯õø©°ß@£õx HØ£h»õ®.

Section  B (5 × 8 = 40)
Answer any five questions.

16. Explain the hazardous process in factories.

öuõÈØŒõø»°À B£zx@PxÁõÚ •øÓPÒ £ØÔ

ÂÍUSP.
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17. What are the kinds of disablement for which Workmen

Compensation Act provide ?

öuõÈ»õÍº CÇ¨¥mka Œmh® G¢uÂu©õÚ

C¯»õø©US EuÄQÓx ?

18. Explain the deductions made from wages.

T¼°À C¸¢x PÈUP¨£k® ÁøPPøÍ ÂÍUSP.

19. What is gratuity ? When and how it is paid ?

£oUöPõøh GßÓõÀ GßÚ ? Ax G¨ö£õÊx ©ØÖ®

GÆÁõÖ ÁÇ[P¨£kQÓx ?

20. Explain the special features of labour legislations in

India.

C¢v¯õÂÀ öuõÈ»õÍº Œmh[PÎß ]Ó¨¦

A®Œ[PøÍ ÂÍUSP.
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21. What are the features of Bonus Act ?

@©¿v¯a Œmhzvß ]Ó¨£®Œ[PÒ ̄ õøÁ ?

22. Explain main features of Provident Fund Act.

öuõÈ»õÍº øÁ¨¦ {v Œmhzvß ]Ó¨¦PøÍ

ÂÍUSP.

23. What are privileges of a registered trade union ?

£vÄØÓ öuõÈØŒ[Pzvß Œ¾øPPÒ ̄ õøÁ ?

Section  C (3 × 15 = 45)

Answer any three questions.

24. Discuss  the safety and health provisions of the Factories

Act.

öuõÈØŒõø»a Œmhzvß £õxPõ¨¦ ©ØÖ® EhØ |»ß

£ØÔ¯ ŒµzxUPøÍ Bµõ#P.
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***

25. Discuss the method of calculation of compensation.

CÇ¨¥k PnURk •øÓø¯ £ØÔ Bµõ#P.

26. What are the machineries available for settlement of

disputes ?

öuõÈØuPµõÖ wºÄUPõÚ •Pø©PÒ ̄ õøÁ ?

27. What are the objects of ESI Act ? Explain the benefits

available to workmen.

ESI Œmhzvß @|õUP© ¯õøÁ ? @Áø»¯õÐUS

QøhUS® |ßø©PøÍ ÂÍUSP.

28. Describe the salient features of Minimum Wages Act.

SøÓ¢u£mŒ T¼a Œmhzvß ]Ó¨£®Œ[PøÍ ÂÁ›.
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B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2011

Sixth Semester

INDIRECT TAXES

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (15 × 1 = 15)

Answer  all questions.

State  whether the following statements are True/False :

1. Indirect taxes are paid before the goods reach the tax

payers True/False.

Á› öŒ¾zx£Áº ö£õ¸øÍ¨ ö£ÖÁuØS •ß@£

©øÓ•P Á›ø¯ öŒ¾zv ÂkQÓõº. Œ›/uÁÖ.

2. It is correct to classify goods on the basis of its final

use.

Pøh]°À £¯ß£kzxÁuß Ai¨£øh°À

ö£õ¸ÒPøÍ ÁøP¨£zxÁx Œ›¯õÚx BS®.

Œ›/uÁÖ.

AFN-1432 BCS634
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3. Customs Act does not extend to whole of India.

C¢v¯õ •Êø©US® ”[P Á›  Â›Ä£kzuÂÀø».

Œ›/uÁÖ.

4. Registration under CST Act is optional.

©zv¯ ÂØ£øÚ Á›aŒmhzvß£i £vÄ öŒ#uÀ
Gß£x AÁµÁº Â¸¨£®.

5. Octrai is a duty on import of goods.

|Pº ~øÇÄÁ› Gß£x ö£õ¸mPÒ CÓUS©v «uõÚ
Á›¯õS®.

Fill in the blanks :

6. Service tax is administered by —————.

@ŒøÁ Á›ø¯ {ºÁõP® öŒ#£Áº —————.

7. At the time of removal of goods from the factory, the

value of goods is called ————.
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öuõÈØŒõø»°¼¸¢x ö£õ¸mPøÍ öÁÎ@¯ØÖ®

ö£õÊx, ö£õ¸Îß  ©v¨ø£ SÔ¨¤kÁx G¨£i

———————.

8. At present ————— %, of export duty is levied only

on hides, skins and leather.

@uõÀ ©ØÖ® Ax Œ®£¢u¨£mh ö£õ¸mPÐUS

—————% HØÖ©v wºøÁ uØŒ©¯®

ÂvUP¨£kQÓx.

9. Sale or purchase in the course of export is effected by

——————.

HØÖ©vUPõP ö£õ¸øÍ ÂØP AÀ»x öPõÒ•uÀ

öŒ#ÁuõÚõÀ ———— ÂøÍÄ HØ£kQÓx.

10. Form C is used by a registered  dealer while
——————.

£vÄ ö£ØÓ •PÁº ———— UPõ Âsn¨£® C I
£¯ß£kzxQÓõº.
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Choose the correct answer :

11. Assessable value includes :

(a) Cost of special packing.

(b) Cost of durable packing.

(c) Cost of primary packing.

(d) None of these.

©v¨¥k öŒ#²® ö£õÊx @ŒºUP¨£kÁx :

(A) ]Ó¨¦ Pmk® AhUP®.

(B) }shPõ» Pmk® AhUP®.

(C) •ußø© Pmk® AhUP®.

(D) GxÄªÀø».
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12. Service Tax came into effect from :

(a) February 28, 1994.

(b) April 1, 1994.

(c) July1, 1994.

(d) July1, 2004.

@ŒøÁ Á› |øh•øÓ£kzu¨£mh @uv :

(A) ¤¨µÁ› 28,1994.

(B) H¨µÀ 1, 1994.

(C) áúø» 1, 1994.

(D) áúø» 1, 2004.
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13. Tea cannot be exported unless a licence is granted by :

(a) Central Government.

(b) State Government.

(c) Tea Board.

(d) Coffee Board.

—————— AÝ©v¯ÎUPõÂmhõÀ @u°ø»

HØÖ©v öŒ#¯ •i¯õx :

(A) ø©¯ Aµ”.

(B) ©õ{» Aµ”.

(C) @u°ø» Áõ›¯®.

(D) Põ¤ Áõ›¯®.
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14. Penultimate sale came into force from :

(a) 1.4.1976.

(b) 1.4.1980.

(c) 1.4.1984.

(d) 1.4.1994.

ö£Ými@©m ÂØ£øÚ |øh•øÓUS Á¢u @uv :

(A) 1.4.1976.

(B) 1.4.1980.

(C) 1.4.1984.

(D) 1.4.1994.
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15. In case of less  of registration certificate, for a duplicate
copy payment of fees to be made as :

(a) Rs. 5

(b) Rs. 25.

(c) Rs. 100.

(d) Rs. 500.

£vÄa ŒõßÔuÌ öuõø»¢x Põnõ©À @£õÚõÀ |PÀ

Põ¨¤ ö£ÖÁuØS öŒ¾zu @Ási¯ Pmhn® :

(A) ¹. 5

(B) ¹. 25.

(C) ¹. 100.

(D) ¹. 500
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Section B                      (5 × 8 = 40)

Answer any five questions.

16. What are the advantages and disadvantages of Indirect

Taxes ?

©øÓ•P Á›°ÚõÀ HØ£k® |ßø©PÒ wø©PÒ ̄ õøÁ ?

17. Explain the basic rates of excise duty as provided in

Central Excise Tariff.

©zv¯ P»õÀ  wºøÁ°À AÎUP¨£mkÒÍ Ai¨£øh

P»õÀ wºøÁ°øÚ ÂÍUSP.

18. Write a short note on  ‘Storage of excisable goods

without payment of duty.

wºøÁø¯a öŒ¾zuõ©À P»õ¾USm£mh ö£õ¸ÒPøÍ

@Œªzx øÁ¨£x £ØÔ J¸ ]Ö SÔ¨¦ ÁøµP.
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19. How are assessable value and rate of duty determined

under the Customs Act ?

”[PzwºÁ Œmh¨£i Á›Áv¨£uØS›¯ ©v¨¦ ©ØÖ®

wºøÁ Ãuzøu {ºn°¨£x G¨£i ?

20. Explain the circumstances and reasons for providing

exemptions from the customs duty.

”[PzwºøÁ°¼¸¢x Á›Â»US AÎ¨£uØPõÚ

Põµn[PøÍ²® ‹Ì{ø»PøÍ²® ÂÍUSP.

21. Explain the essential ingredients of sale under the

Central Sales Tax Act, 1956.

©zv¯ ÂØ£øÚ Á›aŒmh® 1956&ß £i

ÂØ£øÚ°¾ÒÍ •UQ¯ ŒµzxUPøÍ ÂÍUSP.

22. Discuss the significance of Form C under the CST Act.

©zv¯ ÂØ£øÚ Á›aŒmhzv¾ÒÍ Âsn¨£® C

[Form C]  •UQ¯zxÁ® £ØÔ ÂÁõvUPÄ®.
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23. Explain the features  of TNGST Act.

uªÌ|õk ö£õx ÂØ£øÚ Á›aŒmhzvß

]Ó¨¤¯À¦PøÍ ÂÍUSP.

Section C  (3 × 15 = 45)

Answer any three questions.

24. Explain the major reforms made in Indirect taxation

in the recent years.

Œ«£ Põ»[PÎÀ ©øÓ•P Á›Áv¨¤À @©Ø öPõsh

^µø©¨¦PøÍ ÂÍUSP.

25. Discuss the law laid down for valuation of excisable
goods manufactured out of raw materials supplied by

the Customer or on Job work basis.

ÁõiUøP¯õÍº ÁÇ[Q¯ ŒaŒõ¨ ö£õ¸Î¼¸¢x EØ£zv

öŒ#¯¨£mh wºøÁUSm£mh ö£õ¸Îß ©v¨¥k £ØÔ

ÂÁõvUPÄ®.
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26. Explain the procedure of clearance of imported goods

under the Custms Act.

”[PÁ›a Œmhzvß CÓUS©v öŒ#¯¨£mh

ö£õ¸mPøÍ öÁÎ@¯ØÖÁv¾ÒÍ •øÓPøÍ

ÂÍUSP.

27. When is a sale or purchase said to be in the course of

Interstate trade under the CST Act ?

©zv¯ ÂØ£øÚ Á›a Œmhzvß£i ©õ{»[PÐU

Qøh@¯ öPõÒ•uÀ AÀ»x ÂØ£øÚ G¨ö£õÊx

|øhö£Ö®.

28. Explain the Registration procedures involved under the

TNGST Act.

uªÌ|õk ö£õx ÂØ£øÚa Œmhzvß£i  £vÄ

öŒ#ÁuØPõÚ ÁÈ•øÓPøÍ ÂÍUSP.

***
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                                Section A                  (15 × 1 = 15)

Answer all questions.

Choose the correct answer.

1. Which of the following is not a financial asset ?

(a) Shares.

(b) Bonds.

(c) Commercial Paper.

(d) Gold investment.

RÌPshÁØÔÀ Gx {va öŒõzøua Œõº¢ux AÀ» ?

(A) £[SPÒ.

(B) £zvµ[PÒ.

(C) ÁoP {vzuõÒPÒ.

(D) u[P •u½k.

AFN-1433    BCS635
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2. The money market in India is controlled by :

(a) RBI.

(b) SEBI.

(c) Banks.

(d) Development Banks.

C¢v¯õÂÀ £na Œ¢øu¯õÚx ¯õµõÀ

Pmk¨£kzu¨£kQÓx ?

(A) Bº.¤.I.

(B) öŒ¤.

(C) Á[QPÒ.

(D) ÁÍa] Á[QPÒ.

3. Who normally underwrites a public issue ?

(a) Broker.

(b) Stock exchange.

(c) Financial Institutions.

(d) Foreign Institutions.
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¯õº ö£õxÁõP ö£õxÁ[PÎ¨¤À J¨¦Öv AÎ¨£õº?

(A) CøhzuµPº.

(B) £[S £›ÁºzuøÚ ø©¯®.

(C) {v {ÖÁÚ[PÒ.

(D) öÁÎ|õmk {ÖÁÚ[PÒ.

4. Very high risk business projects are financed by :

(a) Venture Capital.

(b) Lease Finance.

(c) Hire-Purchase.

(d) Consumer Finance.

ªP AvP Chº£õk EÒÍ öuõÈÀ vmh[PÒ GÁØÓõÀ

{v AÎUP¨£kQßÓÚ ?

(A) ÂøÚ •u½k.

(B) SzuøP {v.

(C) ÁõhøP & öPõÒ•uÀ.

(D) ~Pº@Áõº {v.
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5. The first mutual fund to be set–up in India is :

(a) ICICI.

(b) UTI.

(c) Canbank MF.

(d) Kothari MF.

C¢v¯õÂÀ E¸ÁõUP¨£mh •uÀ £µì£µ {v.

(A) I]I]I.

(B) ²iI.

(C) @Pß@£[U £µì£µ{v.

(D) @Põuõ› £µì£µ¢v.

Give short answers :

6. What are financial markets ?

{va Œ¢øuPÒ GßÓõÀ GßÚ ?

7. What is mutual fund ?

£µì£µ {v GßÓõÀ GßÚ ?
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8. What is credit rating ?

 PhÚ ©v¨¥k Gß£x ̄ õx ?

9. What is Underwriting ?

J¨¦Öv GßÓõÀ GßÚ ?

10. What is financial innovation ?

{v ¦xø©¯õUP® Gß£x ̄ õx ?

State True or False :

11. Banks are controlled by SEBI.

Á[QPÒ öŒ¤&¯õÀ Pmk¨£kzu¨£kQßÓÚ.

12. Foreign exchange market is part of financial market.

AßÛ¯a öŒ»õÁÛa Œ¢øu, {va Œ¢øu°ß Jº

A[P©õS®.
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13. All Indian banks are Public sector banks.

C¢v¯õÂÀ EÒÍ AøÚzx Á[QPÐ® ö£õxzxøÓ

Á[QPÒ.

14. Securitisation refers to stocks listed in the stock

exchange.

Ah©õÚ©¯©õUP® Gß£x £[S £›ÁºzuøÚUPõP

£[SPøÍ £vÄ öŒ#uø»U SÔ¨¤kQÓx.

15. Credit raters are to be approved by SEBI.

Phß ©v¨¥mhõÍºPÒ öŒ¤&¯õÀ

A[RP›UP¨£mi¸UP¨£h @Ásk®.
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Section  B (5 × 8 = 40)

Answer any five questions.

16. Explain the need for financial innovation.

{v ¦xø©¯õUPzvØPõÚ @uøÁø¯ ÂÍUSP.

17. Explain the types of Leases.

SzuøP°ß ÁøPPøÍ ÂÍUSP.

18. “Consumer financing has to be done with caution”–

Analyse the statement.

“~Pº@Áõº {v¯ÎzuÀ ªP PÁÚ•hß

ÁÇ[P¨£h@Ásk®”— C¢u TØøÓ Bµõ#P.
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19. Explain the concept of Portfolio management.

{v •øÓ¯õUP @©»õsø© £ØÔ¯ £uzøu ÂÍUSP.

20. Compare and contrast factoring and forfeiting.

Phß @©»õsø© ©ØÖ® AßÛ¯UPhß @©»õsø©

CøÁ Cµsøh²® JØÖø© ©ØÖ® @ÁØÖø©

£kzvU TÖP.

21. Explain the functions of Asset Management Company.

öŒõzx @©»õsø© {ÖÁÚzvß £oPÒ ̄ õøÁ ?

22. What are the benefits of securitisation ?

{v©¯©õUPÎß |ßø©PÒ ̄ õøÁ ?
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23. Write a note on stock broking.

£[S uµPº •øÓ £ØÔ SÔ¨¦ ÁøµP.

Section C (3 × 15 = 45)

Answer any three questions.

24. Discuss the various kinds of financial services offered

by financial institutions.

{v {ÖÁÚ[PÍõÀ AÎUP¨£k® £À@ÁÖ ÁøP¯õÚ

{va @ŒøÁPÒ £ØÔ Bµõ#P.

25. Explain non-fund based services of commercial banks.

ÁoP Á[QPÎß {vŒõµ @ŒøÁPÒ £ØÔ ÂÍUSP.
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***

26. Describe the benefits of mutual funds to investors.

£µì£µ {v°ÚõÀ •u½mhõÍºPÐUS GØ£k®

|ßø©PÒ ̄ õøÁ ?

27. Discuss the process of underwriting and the guidelines

on it.

J¨¦Öv AÎzuÀ •øÓø¯²® Auß Œ®£¢u©õÚ

ÁÈPõmkuÀPøÍ²® Bµõ#P.

28. Highlight the functioning and working of any two credit

rating companies.

HuõÁx Cµsk Phß ©v¨¥mk {ÖÁÚ[PÎß

£oPÒ ©ØÖ® öŒ¯À£õkPÒ £ØÔ¯ @©ØPõmkuÀ

u¸P.


